2013 FEELHNSRIRMEIG| [ EER

JAL/JTA/JAC/RAC
2013/1/29

grait R FMEIB| INRERI RSB SREAVE R REEIB|
B REpO | #HEHR a1-1/4 | BEEH = 41-1/4 | BEH = 41-1/4 | BEH [

R0 | XEQ [ XE@ | /130 | #I51% " 9/1-30 | #I5|% " 9130 | #B|E "
HR(PE) =24 [RERR) X448 (BB JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
BEE R (AR ER) JTA/RAG|JAL/JTA 55,500 5% 27,750 52% 35,500 39%
EAC RS E A=A R 16 ) JAL/JTA|JTA/RAC 59,300 7% 29,650 54% 37.950 41%
RiEH [ H#EGEEHR) JTA/RAC|JAL/JTA 59,300 7% 29,650 54% 37.950 41%
KR (75 =% @31 | Kk (5 5[ R= (HR) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (BT %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ESE N ESACETE:D) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LI (BT ) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KWk (B#E) =% 31| KBk (B8 #E) 5[ = (FH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (BT 2) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ESE N ESACETD) JAL JAL 43,500 32% 21,750 66% 27,850 56%
IR (BT %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR () =18l [ KB () %[ 55 ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
JENES = ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
AW (A7) =8Il | KRR (BE) 5 ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
JENES ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KB () =8I [ KB (FF) 5[ ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
SIEE % ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KW (BA78) =SIEE [ ARk (BE7R) %[ ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
IR % ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR () =I5 [ KB (FF) 5[ ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
LT ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KW (B878) =#/5 [ KBk (BFR) %[ ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HILFE ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KB () =BEE | KB (FF) 58] ) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BRAESE ) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR () ==R [KERFH) H[: ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
=j) ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (BEFG) = =iR ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR () =12% JAC JAC 20,500 35% 10,250 67% 13,100 58%
JAC JAC 20,500 35% 10,250 67% 13,100 58%
KR () =BF8 JAC JAC 32,600 17% 16,300 59% 20,850 47%
JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (D =25 JAL _|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
PNACEEEE JAL/JTA[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
JTA/RAC|JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FRFH) =% JAL _|JTA/RAC 48,400 15% 24,200 58% 31,000 46%
JTA/RAC| JAL 48,400 15% 24,200 58% 31,000 46%
KR (Bi#) =h1E JAL/JTA[JTA/RAC 48,400 15% 24,200 58% 31,000 46%
5 E: JTA/RAC|JAL/JTA 48,400 15% 24,200 58% 31,000 46%
ZEHE () =X 5| & EE (D) F|1UE F TR JAL JAL 39,800 32% 19,900 66% 25,450 57%
i IR (BT %) JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE(FE) =25 |2nkE (P85 %48 G JTA_|JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EEE R TEE) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
AHE(FE) =RE|2sE (P85 %[44 G JTA_|JTA/RAC 45,200 27% 22,600 63% 28,950 53%
TEE [HRGEH JTA/RAC| JTA 45,200 27% 22,600 63% 28,950 53%
AR TR =/M2 = (HH) JAL JAL 33,500 40% 16,750 70% 21,450 61%
FIH) JAL JAL 33,500 40% 16,750 70% 21,450 61%
AR FFB) =M ER ) JAL JAL 35,000 44% 17,500 72% 22,400 64%
BICEES FIH) JAL JAL 35,000 44% 17,500 72% 22,400 64%
ALIR (BT m) =R [ L% F T ) 5| mm () JAL JAL 35,000 45% 17,500 72% 22,400 65%
G = (HH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR B TF&) =RB[ALR@FHTR) %[ RR (FR) JAL JAL 36,000 44% 18,000 72% 23,050 64%
INCES = (HH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
AR BT 8) = L0 AR GT &) %) FIH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
MEESTE ) JAL JAL 42,000 38% 21,000 69% 26,900 60%
IR FTH) =HE[LEFHTR R ) JAL JAL 37,400 42% 18,700 71% 23,950 63%
HES X ) JAL JAL 37,400 42% 18,700 71% 23,950 63%
LR FTH) =ES[HLIEFHTR R FIH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
BES = CRHE) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR (T &%) == R LR FTF ) %[ RR (HR) JAL JAL 39,900 37% 19,950 68% 25,550 59%
BN = (EH) JAL JAL 39,900 37% 19,950 68% 25,550 59%
#LIR (T3 =& 20 [ 1L F T i) % FIH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
EHFE ) JAL JAL 41,400 36% 20,700 68% 26,500 59%
ALIR (BT m) =L LI T ) % ) JAL JAL 43,700 33% 21,850 67% 27,950 57%
NITES ) JAL JAL 43,700 33% 21,850 67% 27,950 57%
FLIRE (F T %) =AM AR BT &%) | ) JAL JAL 42,000 40% 21,000 70% 26,900 62%
JLAIMFE ) JAL JAL 42,000 40% 21,000 70% 26,900 62%
IR F TR =K [fLIEFHTR) R ) JAL JAL 42,000 39% 21,000 70% 26,900 61%
ARF ) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR F TR =RIB[HLIEFHTR R ) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RIE S ) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR (BT ) =RA[fLIE HTR & ) JAL JAL 43,000 39% 21,500 69% 27,500 61%
REAF ) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR F TR = =B HLIEFHTR R ) JAL JAL 44,000 37% 22,000 69% 28,150 60%
EEFE ) JAL JAL 44,000 37% 22,000 69% 28,150 60%
IR FHTFR) =BRS[ AR FHTFR) X ) JAL JAL 49,000 32% 24,500 66% 31,350 57%
FREES ) JAL JAL 49,000 32% 24,500 66% 31,350 57%
AU GG =l I [ ALIR (T %) %2 JAL_[JAL/JTA] 51,200 31% 25,600 66% 32,750 56%
JAL_[JAL/JTA] 51,200 32% 25,600 66% 32,750 57%
BEE (PN JAL JTA 51,200 33% 25,600 66% 32,750 57%
] JAL JTA 51,200 35% 25,600 67% 32,750 58%
hHE (IER) %[ R (IH) JAL/JTA| JAL 51,200 31% 25,600 66% 32,750 56%
X JAL/JTA|  JAL 51,200 32% 25,600 66% 32,750 57%
JTA JAL 51,200 33% 25,600 66% 32,750 57%
JTA JAL 51,200 35% 25,600 67% 32,750 58%
IR FTFH) =RE[LRFHTR) %[ RR ) JAL JTA 65,200 30% 32,600 65% 41,750 55%
AIEE ) JTA JAL 65,200 30% 32,600 65% 41,750 55%
& =2 ) EHEES ) JAL JAL 52,100 33% 26,050 67% 33,350 57%
) JAL JAL 52,100 28% 26,050 64% 33,350 54%
ESE N ESACETED) JAL JAL 52,100 33% 26,050 67% 33,350 57%
IR (BT %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
ER=Rel EEGES = (HH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
JENED = (HH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
ahE =% FEGES = (CFH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SR % = (HH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
[N EEGES EAER:D) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HILFE = (HH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
(RS [ GES = (HH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
BRAESE = (HH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
EE=5% EEHE I ESCEL)) JAL JAL 43,900 34% 21,950 67% 28,100 58%
KR (£ JAL JAL 43,900 25% 21,950 63% 28,100 52%
EHRE ([ER(RH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
pNACGE=) JAL JAL 43,900 25% 21,950 63% 28,100 52%
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ORFCAE) AHE (PE) | LAMSERBR L. MEHTHAORICIIREERE AR IE
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR a1-1/4 | EEH [ 41-1/4 | BEH [ 41-1/4 | BEH [
RO | XEQ [ XEE | /130 | #I51% " 9/1-30 | #I5|% " 9/1-30 | #I5|% "
EHEEIESACEED) JAL JAL 43,400 34% 21,700 67% 27,800 58%
KR (£ JAL JAL 43,400 27% 21,700 64% 27,800 53%
ZR%E [EZ(HA) JAL JAL 43,400 34% 21,700 67% 27,800 58%
pNACGEE)) JAL JAL 43,400 27% 21,700 64% 27,800 53%
1Bkt =7t% ERE [ XKEREED JAL JAL 42,400 26% 21,200 63% 27,150 52%
&% [ ARED JAL JAL 42,400 26% 21,200 63% 27,150 52%
12k = EESE |[RRCHE) JAL JAL 42,300 31% 21,150 65% 27,050 56%
MEX [EZ@H) JAL JAL 42,300 31% 21,150 65% 27,050 56%
pPNACGEE)) JAL JAL 42,300 23% 21,150 61% 27,050 51%
(R HEEIESACEED) JAL JAL 39,000 20% 19,500 64% 24,950 55%
KR (£ JAL JAL 39,000 28% 19,500 64% 24,950 54%
Wif % [Rm(EE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
pNACGEE)) JAL JAL 39,000 28% 19,500 64% 24,950 54%
B =8 KR (R JAL JAL 37,000 27% 18,500 64% 23,700 53%
% [ KR({FFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
&=/ B |[FRCHE) JAL JAL 36,800 37% 18,400 69% 23,550 60%
MMAE  [EFE(CHA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
BE=5% fEm% ) JTA _[JTA/RAC 38,000 16% 19,000 58% 24,300 46%
BEE HER) JTA/RAC| JTA 38,000 16% 19,000 58% 24,300 46%
BR=R1E 1B % 8 R E) JTA _[JTA/RAC 38,700 23% 19,350 62% 24,750 51%
5 P48 (BRER) JTA/RAC| JTA 38,700 23% 19,350 62% 24,750 51%
TR =E ZimplE |EEF TR JAL JAL 30,500 39% 15,250 69% 19,500 61%
= LR (BT T 2) JAL JAL 30,500 39% 15,250 69% 19,500 61%
TR =R ZimplE |EEFH TR JAL JAL 32,000 37% 16,000 69% 20,500 60%
FBH [ARETFR JAL JAL 32,000 37% 16,000 69% 20,500 60%
ESCFIEINN ES e E GG JAL JAL 41,200 35% 20,600 67% 26,350 58%
A EFACTED) JAL JAL 41,200 35% 20,600 67% 26,350 58%
Bl =i R | Bt EURS [Rm (E) JAL JAL 45,000 36% 22,500 68% 28,800 59%
%A =FE Wl ESAIE M E GG JAL JAL 45,000 37% 22,500 68% 28,800 60%
ENE A ESACED) JAL JAL 45,000 37% 22,500 68% 28,800 60%
TR S FE R ESEED JAL JAL 47,700 34% 23,850 67% 30,550 58%
HLIR (3 F 5 JAL JAL 47,700 29% 23,850 64% 30,550 54%
Le% [EE(RE) JAL JAL 47,700 34% 23,850 67% 30,550 58%
IR (3 T B JAL JAL 47,700 29% 23,850 64% 30,550 54%
TR =HE ESTIES = (HH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
HE S = (HH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
iR =40 ESRIES = (HH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
[T = (HH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
TR =H1E ESRIES = (HH) JAL JTA 71,800 28% 35,900 64% 45,950 54%
AIEE = (HH) JTA JAL 71,800 28% 35,900 64% 45,950 54%
B =/ JENIES = (HH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
IMRFE = (HH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
Bl =Faft B R JENES = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FIfe VRS RS CRE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FEJII=Fl JEVIES = (HH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
[ = (HH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BI=HE IHIERNESRETD JAL JAL 43,500 39% 21,750 69% 27,850 61%
PACGE=)) JAL JAC — -— — -— -— -—
HEX [EERE) JAL JAL 43,500 39% 21,750 69% 27,850 61%
PAGE=)] JAC JAL — -— — -— -— -—
FBJII=#210 JENIE I ES3EEE:D) JAL JAL 49,500 31% 24,750 65% 31,700 56%
PAGE=)] JAL JAL — -— — -— -— -—
mLE [ER@H) JAL JAL 49,500 31% 24,750 65% 31,700 56%
PAGE=)) JAL JAL — -— — -— -— -—
fEJI=%R1E JENIES = (HH) JAL JTA 69,900 29% 34,950 65% 44,750 55%
AIEE = (HH) JTA JAL 69,900 29% 34,950 65% 44,750 55%
g =/ SR % = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMRFE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
PR SIER FlEE = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FIfC RS RS CRE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
Slpg=FaAL Pl = (HH) JAL JAL 45,000 35% 22,500 67% 28,800 58%
[N = (HH) JAL JAL 45,000 35% 22,500 67% 28,800 58%
Sk =558 S5 = (CRH) JAL JAL 47,700 32% 23,850 66% 30,550 56%
5% = (EH) JAL JAL 47,700 32% 23,850 66% 30,550 56%
HIgE=HE SR % = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
ES = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
g =#x0 SR % = (HH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
[T = (HH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
Sk ="n1E SR = (HH) JAL JTA 69,500 29% 34,750 65% 44,500 55%
AIEE = (HH) JTA JAL 69,500 29% 34,750 65% 44,500 55%
L=/ LT = (CRE) JAL JAL 39,600 34% 19,800 67% 25,350 58%
INEASE = (HH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIR=FAfLAE BILFE = (CHE) JAL JAL 45,000 33% 22,500 67% 28,800 57%
FIfC RS RS CRE) JAL JAL 45,000 33% 22,500 67% 28,800 57%
L =Rl H 5 5 = (CHHE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FEILLFE = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HLE=HE IR = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
HES = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
L= LT GAER:D) JAL JAL 49,500 30% 24,750 65% 31,700 55%
[T = (HH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HLR=FE HILFE GAER:D) JAL JTA 68,900 20% 34,450 65% 44,100 55%
AIEE = (HH) JTA JAL 68,900 29% 34,450 65% 44,100 55%
EEE =/ EEER = (HH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
IMRFE = (HH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
EEE =M AR HEER = (HH) JAL JAL 44,000 27% 22,000 64% 28,150 53%
FIfeEUES RS CRE) JAL JAL 44,000 27% 22,000 64% 28,150 53%
B8R =Fd L HEER R (HH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
BN R (HH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EHE=L5 EEER = (HH) JAL JAL 47,500 24% 23,750 62% 30,400 51%
&% = (HH) JAL JAL 47,500 24% 23,750 62% 30,400 51%
EHE=HE HER [ER(EH) JAL JAL 43,500 31% 21,750 65% 27,850 56%
pNACGEE) JAL JAC 43,500 25% 21,750 63% 27,850 52%
HERX [EERE) JAL JAL 43,500 31% 21,750 65% 27,850 56%
pPNACGEE) JAC JAL 43,500 25% 21,750 63% 27,850 52%
EEE=H0 HER [EE(HH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
pPNACGEE) JAL JAL 48,400 13% 24,200 57% 31,000 45%
WLE [EREH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
pPNACGEE) JAL JAL 48,400 13% 24,200 57% 31,000 45%
EEE=dL M HEER [HF(PH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
JEAME [H=ECRE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
=K% HER [HZCRE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
pPNACGEE) JAL JAL 40,500 30% 20,250 65% 25,900 55%
Ro% [ERERE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
pPNACGEE) JAL JAL 40,500 30% 20,250 65% 25,900 55%
=R HEER [EZ(PH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RIS [ERCRE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
pNACGE=) JAL JAL 42,000 35% 21,000 67% 26,900 58%
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grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR a1-1/4 | EEH [ 41-1/4 | BEH [ 41-1/4 | BEH [
RO | XEQ [ XEE | /130 | #I51% " 9/1-30 | #I5|% " 9/1-30 | #I5|% "
EEE=FEA HER [EE(HH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
KR (£ JAL JAL 42,000 33% 21,000 66% 26,900 57%
RBA%E |[RE(CHA) JAL JAL 42,000 38% 21,000 69% 26,900 60%
pPNACGEE) JAL JAL 42,000 33% 21,000 66% 26,900 57%
=2 HER [EE(HH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
pPNACGEE) JAL _|JAL/JAC 42,000 33% 21,000 66% 26,900 57%
BN EEICE JAL JAL 42,000 38% 21,000 69% 26,900 60%
KR (£ JAL/JAC]  JAL 42,000 33% 21,000 66% 26,900 57%
HE=ERS B ESACEED) JAL JAL 43,000 39% 21,500 69% 27,500 61%
KR (£ JAL JAC 43,000 35% 21,500 67% 27,500 58%
BEREX [RR(HH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
KR (£ JAC JAL 43,000 35% 21,500 67% 27,500 58%
EE=FR1E HEER = (HH) JAL JTA 62,700 31% 31,350 65% 40,150 56%
AIEE = (HH) JTA JAL 62,700 31% 31,350 65% 40,150 56%
EH=I EHER GAERE:D) JAL JAL 32,000 38% 16,000 69% 20,500 61%
IMRFE R (HH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=FAE EHER = (CRE) JAL JAL 36,000 39% 18,000 70% 23,050 61%
FIfe VRS RS CRE) JAL JAL 36,000 39% 18,000 70% 23,050 61%
HH=M EHR = (FH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
BN = (HH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=IL5 EHER = (CHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
&% R (HH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
EHR=OFE EHER = (CFH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WO FERs [RR (FH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EHR=HE - R ESHEEE)) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (75 JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEX [EERE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (£ JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=H5 5% |[EmCEE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EE% |[ER(EH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EH=mn 5% [EmCEE) JAL JAL 36,000 40% 18,000 70% 23,050 61%
BN%E |[EREH JAL JAL 36,000 40% 18,000 70% 23,050 61%
HH=mA A% [EmCEHE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
[ A E SACE=D) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BEHR=L TR ESHEEE)) JAL JAL 37,000 40% 18,500 70% 23,700 62%
pPNACGEE) JAL JAL 37,000 31% 18,500 66% 23,700 56%
WLE [EREH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
pPNACGEE) JAL JAL 37,000 31% 18,500 66% 23,700 56%
HEHR=IAM EAE [ER(CRHE) JAL JAL 43,900 34% 21,950 67% 28,100 58%
JEAME [H=ECHE) JAL JAL 43,900 34% 21,950 67% 28,100 58%
BEHR=KS AR [REOEH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (£ JAL JAL 39,000 30% 19,500 65% 24,950 55%
K% [RERE) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (£ JAL JAL 39,000 30% 19,500 65% 24,950 55%
EH=RK EHRE ([ER(RH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (£ JAL JAL 42,000 33% 21,000 66% 26,900 57%
RIEs [ERCRH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (£ JAL JAL 42,000 33% 21,000 66% 26,900 57%
EHR=RX 2 EVACEE)) JAL JAL 40,500 39% 20,250 70% 25,900 61%
PACGE=)) JAL JAL — -— — -— -— -—
RBA%E |[RZECHA) JAL JAL 40,500 39% 20,250 70% 25,900 61%
PACGE=)) JAL JAL — -— — -— -— -—
EHR=EK R [ER(RH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
pPNACGEE) JAL _|JAL/JAC 40,500 33% 20,250 66% 25,900 57%
BN EEICE) JAL JAL 40,500 39% 20,250 70% 25,900 61%
pPNACGEE) JAL/JAC]  JAL 40,500 33% 20,250 66% 25,900 57%
EHR=ERE R ([ER(RH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
pPNACGEE) JAL JAC 42,000 34% 21,000 67% 26,900 58%
ERBE [RR(RH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (£ JAC JAL 42,000 34% 21,000 67% 26,900 58%
EHR=AE R (F9E) JAL JTA 60,800 32% 30,400 66% 38,900 56%
3 ) JTA JAL 60,800 32% 30,400 66% 38,900 56%
ZiR=/Ma ) JAL JAL 32,000 38% 16,000 69% 20,500 60%
) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=FRAE ) JAL JAL 36,000 38% 18,000 69% 23,050 61%
ZR=FW ) JAL JAL 36,000 40% 18,000 70% 23,050 61%
) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE8 ) JAL JAL 37,000 39% 18,500 69% 23,700 61%
) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=1LOFH ) JAL JAL 39,000 39% 19,500 70% 24,950 61%
) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZR=HZE == CRE) JAL JAL 37,900 38% 18,950 69% 24,250 60%
pPNACGEE) JAL JAC 37,900 34% 18,950 67% 24,250 57%
HEX [EERE) JAL JAL 37,900 38% 18,950 69% 24,250 60%
pPNACGEE) JAC JAL 37,900 34% 18,950 67% 24,250 57%
ZR=185 =RE [Em(EE) JAL JAL 34,000 42% 17,000 71% 21,750 63%
Hm CRE) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=m ES ) JAL JAL 36,000 39% 18,000 69% 23,050 61%
E ) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR="A E ) JAL JAL 36,000 41% 18,000 70% 23,050 62%
E ) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=# EE ) JAL JAL 37,000 40% 18,500 70% 23,700 61%
) JAL JAL 37,000 32% 18,500 66% 23,700 57%
) JAL JAL 37,000 40% 18,500 70% 23,700 61%
) JAL JAL 37,000 32% 18,500 66% 23,700 57%
ZiR=4RM ) JAL JAL 43,400 34% 21,700 67% 27,800 58%
) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZiR=K% ) JAL JAL 39,000 40% 19,500 70% 24,950 62%
) JAL JAL 39,000 32% 19,500 66% 24,950 56%
SFIH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZR=Fi& SFIE) JAL JAL 42,000 39% 21,000 69% 26,900 61%
=) JAL JAL 42,000 34% 21,000 67% 26,900 58%
SFIH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
=) JAL JAL 42,000 34% 21,000 67% 26,900 58%
ZR=mX SFIE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
=9) JAL JAL 40,500 34% 20,250 67% 25,900 58%
SFIH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=Ek SFIE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
) JAL_|JAL/JAC 40,500 34% 20,250 67% 25,900 58%
SFIH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
) JAL/JAC]  JAL 40,500 34% 20,250 67% 25,900 58%
ZR=ERE ZiR%E [EZ(EA) JAL JAL 42,000 39% 21,000 69% 26,900 61%
pPNACGEE) JAL JAC 42,000 35% 21,000 67% 26,900 58%
ERBE [RR(CRH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
pPNACGEE) JAC JAL 42,000 35% 21,000 67% 26,900 58%
ZR=F"1E ZR%E [HEZR(HA) JAL JTA 60,800 32% 30,400 66% 38,900 56%
REEX [EZGEA) JTA JAL 60,800 32% 30,400 66% 38,900 56%

ORFCAE) AHE (PE) | LAMSERBR L. MEHTHAORICIIREERE AR IE
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

(150F) LM :100F(50F) () IR/NR
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grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR a1-1/4 | EEH [ 41-1/4 | BEH [ 41-1/4 | BEH [
RO | XEQ [ XEE | /130 | 5% " 9/1-30 | #I5|% " 9/1-30 | #I5|% "
FRE =/ EAX = (HH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
INASE = (HH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
HE=miEE S = (HH) JAL JAL 32,000 40% 16,000 70% 20,500 62%
FIfCEUES [RE CRE) JAL JAL 32,000 40% 16,000 70% 20,500 62%
FXE =Fe L EAE = (HH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELLFE R (EH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
ME=LE5 EAF R (EH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
&% = (HH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
RE=LOFE FREZ = (HH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WO FERs [RR (FH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
ME=HE PR ESETD) JAL JAL 32,000 43% 16,000 71% 20,500 63%
KR (£ JAL JAC 32,000 39% 16,000 69% 20,500 61%
HEHX [EERE) JAL JAL 32,000 43% 16,000 71% 20,500 63%
pPNACGEE) JAC JAL 32,000 39% 16,000 69% 20,500 61%
HE=E5 MEAXE |[ERGH JAL JAL 32,000 41% 16,000 70% 20,500 62%
[ A E GACT=D) JAL JAL 32,000 41% 16,000 70% 20,500 62%
HE=E% CEERESICT:) JAL JAL 34,000 37% 17,000 69% 21,750 60%
Hm CRE) JAL JAL 34,000 37% 17,000 69% 21,750 60%
HE=FH Hm CRE) JAL JAL 34,000 39% 17,000 70% 21,750 61%
Hm CRE) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=#0 == CRE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
KR (£ JAL JAL 36,000 28% 18,000 64% 23,050 54%
Hm CRE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
pPNACGEE) JAL JAL 36,000 28% 18,000 64% 23,050 54%
FE=1LRM A% [EFE(FH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
JEAME [H=RCRE) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% BEFE [EZCRE) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (£ JAL JAL 37,000 29% 18,500 65% 23,700 55%
Ro%E [RERE) JAL JAL 37,000 39% 18,500 69% 23,700 61%
pPNACGEE) JAL JAL 37,000 29% 18,500 65% 23,700 55%
HH=R& MEX [EZ@H) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (£ JAL JAL 39,000 34% 19,500 67% 24,950 57%
RIE% [ERCRHE) JAL JAL 39,000 39% 19,500 69% 24,950 61%
pPNACGEE) JAL JAL 39,000 34% 19,500 67% 24,950 57%
E=FEX MEX [EZGH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (£ JAL JAL 39,000 31% 19,500 65% 24,950 56%
BAR [EE(RE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (£ JAL JAL 39,000 31% 19,500 65% 24,950 56%
HE=2k MEZE [EZEH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
pPNACGEE) JAL_|JAL/JAC 39,000 31% 19,500 65% 24,950 56%
B EEICE JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (£ JAL/JAC]  JAL 39,000 31% 19,500 65% 24,950 56%
HE=ERS MERX [ERCRH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
pPNACGEE) JAL JAC 40,500 32% 20,250 66% 25,900 57%
ERBE [RR(CRH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
R (51 JAC JAL 40,500 32% 20,250 66% 25,900 57%
ME=HE PR = (HH) JAL JTA 59,400 29% 29,700 65% 38,000 55%
AIEE = (HH) JTA JAL 59,400 29% 29,700 65% 38,000 55%
IR Iz = (HH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
INAZE = (HH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
\Lifg = Iz = (HH) JAL JAL 32,000 34% 16,000 67% 20,500 58%
[ = (HH) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =1L8 Iz = (HH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
L5 = (HH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
\Lfz =100 F& Z3 = (HH) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WWOFHE (R (EH) JAL JAL 37,000 30% 18,500 65% 23,700 55%
Wi =HE IZE GACT=:) JAL JAL 33,000 33% 16,500 67% 21,100 57%
pPNACGEE) JAL JAC 33,000 35% 16,500 68% 21,100 59%
HEHRX [EERE) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (£ JAC JAL 33,000 35% 16,500 68% 21,100 59%
=185 2 E SACT=:) JAL JAL 32,000 33% 16,000 66% 20,500 57%
S RRCHEA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
s == W% RS CREA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
BR%E |[ERH JAL JAL 32,000 33% 16,000 66% 20,500 57%
Ll =40 2 E SACT=:) JAL JAL 33,000 33% 16,500 67% 21,100 57%
[ A E SACE=D) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wit =#21l 2 SACT=:) JAL JAL 33,000 34% 16,500 67% 21,100 58%
KR (£ JAL JAL 33,000 33% 16,500 66% 21,100 57%
WLE [EREH) JAL JAL 33,000 34% 16,500 67% 21,100 58%
KR (£ JAL JAL 33,000 33% 16,500 66% 21,100 57%
WLz =dL A dEAmE |[HRCRE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
Wit =K% I Z N VACT) JAL JAL 38,000 29% 19,000 65% 24,300 55%
pPNACGEE) JAL JAL 38,000 26% 19,000 63% 24,300 53%
K% [RERE) JAL JAL 38,000 29% 19,000 65% 24,300 55%
KR (£ JAL JAL 38,000 26% 19,000 63% 24,300 53%
\Lifte =Rk 2N VACT=) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (£ JAL JAL 41,000 29% 20,500 64% 26,250 54%
RIE% [HRCRE) JAL JAL 41,000 28% 20,500 64% 26,250 54%
PGS JAL JAL 41,000 29% 20,500 64% 26,250 54%
i =geR I Z N VACT:) JAL JAL 39,000 29% 19,500 64% 24,950 55%
PGS JAL JAL 39,000 30% 19,500 65% 24,950 55%
BAR [EE(RE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
PGS JAL JAL 39,000 30% 19,500 65% 24,950 55%
\Lifte =2 2N VACT:) JAL JAL 39,000 29% 19,500 64% 24,950 55%
PGS JAL _|JAL/JAC 39,000 30% 19,500 65% 24,950 55%
BN EEICED JAL JAL 39,000 20% 19,500 64% 24,950 55%
PGS JAL/JAC]  JAL 39,000 30% 19,500 65% 24,950 55%
I =ERE W% [RR(FH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
pPNACGEE) JAL JAC 41,000 30% 20,500 65% 26,250 55%
ERBE [RR(RH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
pPNACGEE) JAC JAL 41,000 30% 20,500 65% 26,250 55%
Wiy =Hh1E % [HEECRE) JTA JAL 59,400 23% 29,700 62% 38,000 51%
a=mE weas  [XRUEFE JAL JAC 32,000 36% 16,000 68% 20,500 59%
L PNACGIE)) JAC JAL 32,000 36% 16,000 68% 20,500 59%
fli& =#10 & KR (R JAL JAL 34,000 29% 17,000 64% 21,750 54%
[T XA )) JAL JAL 34,000 29% 17,000 64% 21,750 54%
a=xX% & KR (R JAL JAL 36,000 28% 18,000 64% 23,050 54%
by A PN E)) JAL JAL 36,000 28% 18,000 64% 23,050 54%
e =Rk W& KR (R JAL JAL 39,000 31% 19,500 65% 24,950 56%
I A PNACGIE)) JAL JAL 39,000 31% 19,500 65% 24,950 56%
[MEEES & KR (R JAL JAL 37,000 32% 18,500 66% 23,700 56%
REA% [ KRR JAL JAL 37,000 32% 18,500 66% 23,700 56%
W& =5k & KR (75 JAL _|JAL/JAC 39,000 28% 19,500 64% 24,950 54%
EEEEENAGE)) JAL/JAC]  JAL 39,000 28% 19,500 64% 24,950 54%
WeE=ERS e [XRUEFER JAL JAC 39,000 32% 19,500 66% 24,950 57%
ERE% [KR@FF JAC JAL 39,000 32% 19,500 66% 24,950 57%
FR=HE FinE  |[ARUFMD JAL JAC 29,000 40% 14,500 70% 18,550 62%
HER  [KR@EFFD JAC JAL 29,000 40% 14,500 70% 18,550 62%

ORFCAE) AHE (PE) | LAMSERBR L. MEHTHAORICIIREERE AR IE
MEEELELICEEL LRHITROOTRLRITET,
HEWOXMBHY) PIA:170M (80F) H&R: 300/ (150F) LA 100/ (50F) () IF/MR
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ORFCAE) AHE (PE) | LAMSERBR L. MEHTHAORICIIREERE AR IE
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR a1-1/4 | EEH [ 41-1/4 | BEH [ 41-1/4 | BEH [
RO | XEQ [ XEE | /130 | #51% " 9/1-30 | #I5|% " 9/1-30 | #I5|% "
FR=H0 KR (R JAL JAL 32,000 30% 16,000 65% 20,500 55%
KR (£ JAL JAL 32,000 30% 16,000 65% 20,500 55%
FR=K% KR (R JAL JAL 34,000 30% 17,000 65% 21,750 55%
pNACGEE) JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=R& KR (R JAL JAL 37,000 32% 18,500 66% 23,700 57%
pPNACGEE)) JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=FEAX KR (R JAL JAL 36,000 31% 18,000 66% 23,050 56%
KR (75 JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=Ek KR (R JAL _|JAL/JAC 36,000 31% 18,000 66% 23,050 56%
PNACGEE)) JAL/JAC]  JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS i KBR (FFFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
ERE% [KK@FF JAC JAL 37,000 34% 18,500 67% 23,700 58%
NR=TEL INEAZE = (HH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
[ = (HH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IME=IEE INEASE R (HH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
&% R (HH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
IME=ILOFE IMRFE R (HH) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WO FERs (RN (FH) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMA=HE INEASE R (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
ES R (EH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
IMA=TER INEASE R (EH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEE = (HH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=TFH INEASE = (HH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
EIFE = (HH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TH INASE = (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
=A% = (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=#10 INEASE = (HH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
[T = (HH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MR =L T INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
EZR I = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=KH INEASE = (HH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
K5 = (HH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
M=Kk INAZE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
RIG% = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IME=FER INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
REAZ = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IME=HIE INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
EEES = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
MA=ERE INEASE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
ERE% = CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
MA=EE INEASE i JTA_|JTA/RAC 55,500 5% 27,750 52% 35,500 39%
Bt JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
INR=T1E INEASE JAL JTA 59,400 27% 29,700 63% 38,000 53%
JTA_|JTA/RAC 59,400 7% 29,700 53% 38,000 40%
RIEX JTA JAL 59,400 27% 29,700 63% 38,000 53%
JTA/RAC| JTA 59,400 7% 29,700 53% 38,000 40%
BL==% JTA_|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
JTA/RAC| JTA 43,000 17% 21,500 58% 27,500 47%
&l =R JTA_|JTA/RAC 48,400 15% 24,200 58% 31,000 46%
JTA/RAC| JTA 48,400 15% 24,200 58% 31,000 46%
== JAL/JAC|JAL/JAC 27,700 36% 13,850 68% 17,750 59%
JAL/JAC|JAL/JAC 27,700 36% 13,850 68% 17,750 59%
BERB=5H JAC JAC 19,650 27% 9,850 63% 12,550 53%
JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE="KERER JAC JAC 16,800 43% 8,400 72% 12,650 57%
315 JAC JAC 16,800 43% 8,400 72% 12,650 57%
(B =F ) JAL/JTA|  JAL 46,500 34% 23,250 67% 29,750 58%
& ) JAL _[JAL/JTA] 46,500 34% 23,250 67% 29,750 58%
PR (RE) ==iR ) JAL/JTA|  JAL 46,500 34% 23,250 67% 29,750 58%
R%E ) JAL_[JAL/JTA] 46,500 34% 23,250 67% 29,750 58%
SRR (IR E) =R E [ (BB 3 ) JAL/JTA|  JAL 45,000 31% 22,500 66% 28,800 56%
EAE ) JAL_[JAL/JTA] 45,000 31% 22,500 66% 28,800 56%
SRR (ARE) = ILFe [ GRE) % ) JAL/JTA| JAL 45,000 24% 22,500 62% 28,800 51%
mZ3 ) JAL_[JAL/JTA] 45,000 24% 22,500 62% 28,800 51%
SRR (B =lE 3B % JTA JAL 45,200 36% 22,600 68% 28,950 59%
a%E JAL JTA 45,200 36% 22,600 68% 28,950 59%
PR (ARER) =/M2 [ GRE) %[ CRHE) JAL/JTA]  JAL 40,900 35% 20,450 67% 26,200 58%
MAE  [REFECRA) JAL_[JAL/JTA] 40,900 35% 20,450 67% 26,200 58%
HEEB) =2 MHRE@EB X EE JTA _[JAL/JAC 31,500 38% 15,750 69% 20,150 61%
SR FeiER] JAL/JAC] JTA 31,500 38% 15,750 69% 20,150 61%
SRR (RS =L AR BB) R  BE JTA JAC 27,900 42% 13,950 71% 17,850 63%
[N 2k JAC JTA 27,900 42% 13,950 71% 17,850 63%
R (H) =EZXE R (AR ¥ EEE JAL JAC 43,850 29% 21,950 65% 28,100 55%
PGS JAL JAL 43,850 25% 21,950 63% 28,100 52%
BEXBE | BERE JAC JAL 43,850 20% 21,950 65% 28,100 55%
pNACGES) JAL JAL 43,850 25% 21,950 63% 28,100 52%
RRECAE) =ERB|RRCAE) %[ _ERE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BEAE JAL JAC 43,950 21% 22,000 61% 28,100 50%
ERBR BER JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
RECAE) =@zB|RR AR %] _ER JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
(A= BER JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
R (TH) =FkRHB[RFZCARAH| EE JAL JAC 46,950 31% 23,500 66% 30,050 56%
Pk RARRE | _BR JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEX JAC JAL 46,950 25% 23,500 63% 30,050 52%
Bl EEXE | JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RRCPAE)=5# [REPB) | KR JAL JAC 47,350 32% 23,700 66% 30,300 57%
Xt B JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEAE JAC JAL 47,300 28% 23,650 64% 30,250 54%
MkBREL | BEXS | JAC JAC JAL 47,300 35% 23,650 68% 30,250 59%
KRR =BEAB| KR (FHDHE| ER JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEEXEBH | BIR JAC JAC 38,550 23% 19,300 61% 24,700 51%
KR (R =BERB| KR (P E|_ER JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERBR BER JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR () =@z B| KR (FFDE|_ER JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAL JAC 41,000 17% 20,500 59% 26,250 47%
(A= BER JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR (R =Xk B8 KR (R | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
Pk ERARSE | B JAC JAC 41,650 26% 20,850 63% 26,700 53%
KR () =5k R JAC JAC 42,050 27% 21,050 64% 26,950 53%
ER JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=BXXE BER JAC JAC 30,800 26% 15,400 63% 19,700 53%
ER JAC JAC 30,800 26% 15,400 63% 19,700 53%
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grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR a1-1/4 | EEH [ 41-1/4 | BEH [ 41-1/4 | BEH [
RO | XEQ [ XE@ | /130 | #I51% " 9/1-30 | #I5|% " 9/1-30 | #I5|% "
EE=ERE EHEES BEIR JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ERBR BER JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
EE=fEz8 EHEES BEIR JAC JAC 32,350 20% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 20% 16,200 64% 20,700 54%
(A= BER JAC JAC 32,350 20% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 20% 16,200 64% 20,700 54%
1akE =ik RER EHGES BE'R JAC JAC 33,900 30% 16,950 65% 21,700 55%
ER JAC JAC 33,900 30% 16,950 65% 21,700 55%
12kt =55k R JAC JAC 34,300 31% 17,150 65% 21,950 56%
i EERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
RECAE) =5BERZCAR K| FHiE JTA_|JTA/RAC 59,400 16% 29,700 58% 38,000 47%
CENEE R TE ) RAC _[JAL/JTA 59,400 18% 29,700 59% 38,000 48%
aiE JTA/RAC| JTA 59,400 16% 29,700 58% 38,000 47%
AR(FFD=5BE] SMEE [ GEH) RAC JAL 48,500 26% 24,250 63% 31,050 53%
Kk (B%) =5E| AR (BEFE) %[ FHiE JTA_|JTA/RAC 48,500 19% 24,250 60% 31,050 48%
ERER [HRGEH) RAC _[JAL/JTA 48,500 26% 24,250 63% 31,050 53%
aiE JTA/RAC| JTA 48,500 19% 24,250 60% 31,050 48%
2EE (P =588 SREX [#&EH) RAC JTA 47,600 32% 23,800 66% 30,450 57%
12k = 5 FE 5ES [ GLH3) RAC JTA 43,500 27% 21,750 63% 27,850 53%
R (V) = 5 IE BB E| wE JTA/RAC|JTA/RAC 31,700 9% 15,850 54% 20,300 42%
SMEFE AiE JTA/RAC|JTA/RAC 31,700 9% 15,850 54% 20,300 42%

ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

(150F) LM :100F(50F) () IR/NR



2013 FEELHNSRIRMEIG| [ EER

JAL/JTA/JAC/RAC
2013/1/29

grait R FMEIB| INRERI RSB SREAVE R REEIB|
B REpD | FHEH 1/5-8/1 | E—7HA 1/5-8/1 | E—9H] 1/5-8/1 | E—9H]

XA X2 XE@) | 8/17-8/31 §\]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ%
HR(PHE) =24 [RERR) X448 (BB JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
BEH i (AR ER) JTA/RAG|JAL/JTA 57,700 6% 28,850 53% 35,500 42%
HR(CPHE)=F1E [RZECRA) X448 (BB JAL/JTA|JTA/RAC 61,500 8% 30,750 54% 37.950 43%
RiEH [ GEEHR) JTA/RAC|JAL/JTA 61,500 8% 30,750 54% 37.950 43%
KR (5 =% @31 | Kk (5 5[ R= (CHR) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LI (BT 2%) JAL JAL 45,500 32% 22,750 66% 27,850 58%
ESE N ESACETED) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LI (BT 2) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KWk (B8#E) =% 31| KBk (B8 EE) 5[ = (FH) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LI (BT ) JAL JAL 45,500 32% 22,750 66% 27,850 58%
ESEESACETED) JAL JAL 45,500 33% 22,750 66% 27,850 59%
IR (BT %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KR () =1l [ KB () %55 ) JAL JAL 42,800 35% 21,400 68% 26,200 60%
JENES = ) JAL JAL 42,800 35% 21,400 68% 26,200 60%
AR (A7) =8Il | KRR (BF) % ) JAL JAL 42,800 35% 21,400 68% 26,200 60%
JENES ) JAL JAL 42,800 35% 21,400 68% 26,200 60%
KB () =8I [ KB (75 5[ ) JAL JAL 43,600 34% 21,800 67% 26,500 60%
$IEE % ) JAL JAL 43,600 34% 21,800 67% 26,500 60%
K (BA78) =SIEE [ ARk (BEFR) %[ ) JAL JAL 43,600 34% 21,800 67% 26,500 60%
IR % ) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KIR (D) =I5 [ KB (FF) 5[ ) JAL JAL 43,100 34% 21,550 67% 26,200 60%
LT ) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KW (BA78) =#/5 [ KBk (B7R) %[ ) JAL JAL 43,100 34% 21,550 67% 26,200 60%
HILFE ) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KB () =BEE | KB (FF) 58] ) JAL JAL 44,000 24% 22,000 62% 26,450 55%
BRAESE ) JAL JAL 44,000 24% 22,000 62% 26,450 55%
KR () ==R [KERFH) H[: ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
=J) ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR (BAd8) ==iR ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR () =12 JAC JAC 20,500 37% 10,250 69% 13,100 60%
JAC JAC 20,500 37% 10,250 69% 13,100 60%
KR (R =8BF8 JAC JAC 32,600 22% 16.300 61% 20,850 50%
JAC JAC 32,600 22% 16.300 61% 20,850 50%
KR (D =25 JAL _|JTA/RAC 46,000 16% 23,000 58% 27,500 50%
JTA/RAC| JAL 46,000 16% 23,000 58% 27,500 50%
PNACEIEEE JAL/JTA[JTA/RAC 46,000 16% 23,000 58% 27,500 50%
JTA/RAC|JAL/JTA 46,000 16% 23,000 58% 27,500 50%
KR (Y =% JAL _|JTA/RAC 50,600 16% 25,300 58% 31,000 49%
JTA/RAC|  JAL 50,600 16% 25,300 58% 31,000 49%
KR (Bi#8) =R1E JAL/JTA[JTA/RAC 50,600 16% 25,300 58% 31,000 49%
5 E: JTA/RAC|JAL/JTA 50,600 16% 25,300 58% 31,000 49%
ZEE () =% 5| & EHE (D) | 1UE G TR JAL JAL 41,600 34% 20,800 67% 25,450 60%
% IR (BT %) JAL JAL 41,600 34% 20,800 67% 25,450 60%
AHE(FE) =25 |2nkE (PH) %448 G JTA_|JTA/RAC 47,000 21% 23,500 60% 28,150 53%
EEE R TE ) JTA/RAC| JTA 47,000 21% 23,500 60% 28,150 53%
AHE(FE) =RE|26E (PH) %48 G JTA_|JTA/RAC 48,000 26% 24,000 63% 28,950 55%
GiEE [P GE) JTA/RAC| JTA 48,000 26% 24,000 63% 28,950 55%
AR FTFR) =/M2 = (HH) JAL JAL 36,000 40% 18,000 70% 21,450 64%
FIH) JAL JAL 36,000 40% 18,000 70% 21,450 64%
AR FFR) =M ER ) JAL JAL 37,000 45% 18,500 72% 22,400 66%
BICEES FIH) JAL JAL 37,000 45% 18,500 72% 22,400 66%
ALIR (BT m) =R L[ L% F T ) 5| " (FH) JAL JAL 37,000 46% 18,500 73% 22,400 67%
[N = (HH) JAL JAL 37,000 46% 18,500 73% 22,400 67%
IR F TR =LRBALRFHTR) %[ RS (FH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
L& % = (HH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
AR T8 = L0 AR FT &) % FIH) JAL JAL 43,000 41% 21,500 70% 26,900 63%
MEESTE ) JAL JAL 43,000 41% 21,500 70% 26,900 63%
IR FTH) =HE[LEFHTR R ) JAL JAL 40,000 42% 20,000 71% 23,950 65%
HES X ) JAL JAL 40,000 42% 20,000 71% 23,950 65%
IR FTH) =ES[HLIEFHTR R FIH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
BES R CRHE) JAL JAL 41,000 39% 20,500 70% 24,950 63%
IR (T &) == R AR F TR %[ RR (HR) JAL JAL 42,000 38% 21,000 69% 25,550 62%
BN = (HH) JAL JAL 42,000 38% 21,000 69% 25,550 62%
#LIR (BT m%) =& 20 [ 1L (B T i) % FIH) JAL JAL 44,000 36% 22,000 68% 26,500 62%
EHFE ) JAL JAL 44,000 36% 22,000 68% 26,500 62%
ALIRE BT m) =L T ) % ) JAL JAL 46,000 34% 23,000 67% 27,950 60%
NITES ) JAL JAL 46,000 34% 23,000 67% 27,950 60%
FLIRE (FF T %) = LM AR BT &%) | ) JAL JAL 45,000 40% 22,500 70% 26,900 64%
JLAIMFE ) JAL JAL 45,000 40% 22,500 70% 26,900 64%
IR F TR =KH [fLIEFHTR) R ) JAL JAL 45,000 39% 22,500 69% 26,900 63%
ARF ) JAL JAL 45,000 39% 22,500 69% 26,900 63%
IR F TR =RIB[HLIEFHTR R ) JAL JAL 47,000 39% 23,500 69% 28,150 63%
RIB S ) JAL JAL 47,000 39% 23,500 69% 28,150 63%
#LIR (BT ) =RA[fLIE HTR & ) JAL JAL 46,000 38% 23,000 69% 27,500 63%
REAF ) JAL JAL 46,000 38% 23,000 69% 27,500 63%
IR FTH) = =B HLIEFHTR R ) JAL JAL 47,000 37% 23,500 68% 28,150 62%
B FE ) JAL JAL 47,000 37% 23,500 68% 28,150 62%
IR FHTFR) =BRS[ AR FHTR) X ) JAL JAL 52,000 32% 26,000 66% 31,350 59%
BERBH ) JAL JAL 52,000 32% 26,000 66% 31,350 59%
AL GG =l I | ALIR (T %) %2 JAL_|JAL/JTA] 54,000 31% 27,000 66% 32,750 58%
JAL_[JAL/JTA] 54,000 32% 27,000 66% 32,750 59%
BEE (PN JAL JTA 54,000 33% 27,000 66% 32,750 59%
] JAL JTA 54,000 35% 27,000 67% 32,750 60%
EXAETIEIE GACET=) JAL/JTA] JAL 54,000 31% 27,000 66% 32,750 58%
JAL/JTA|  JAL 54,000 32% 27,000 66% 32,750 59%
JTA JAL 54,000 33% 27,000 66% 32,750 59%
JTA JAL 54,000 35% 27,000 67% 32,750 60%
IR BT F&) =RE[LRFHTR) %[ RR ) JAL JTA 68,100 30% 34,050 65% 41,750 57%
AIEE ) JTA JAL 68,100 30% 34,050 65% 41,750 57%
& =2 ) EHEES ) JAL JAL 55,000 33% 27,500 67% 33,350 59%
) JAL JAL 55,000 28% 27,500 64% 33,350 57%
ESE N ESACETD) JAL JAL 55,000 33% 27,500 67% 33,350 59%
IR (BT %) JAL JAL 55,000 28% 27,500 64% 33,350 57%
=R =8l EEGES = (HH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
JENED = (HH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
ke =% FEGES = (FH) JAL JAL 55,000 31% 27,500 66% 33,350 58%
SR % = (HH) JAL JAL 55,000 31% 27,500 66% 33,350 58%
(RN EEGES = (FH) JAL JAL 55,000 31% 27,500 65% 33,350 58%
HILFE = (HH) JAL JAL 55,000 31% 27,500 65% 33,350 58%
12k =BRAR EEGES = (HH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
BRAESE = (HH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
B =% EE R ESER D) JAL JAL 46,000 35% 23,000 68% 28,100 61%
pPNACGEE)) JAL JAL 46,000 27% 23,000 63% 28,100 55%
2 EVACE)) JAL JAL 46,000 35% 23,000 68% 28,100 61%
pPNACGE=) JAL JAL 46,000 27% 23,000 63% 28,100 55%

ORF(PA), BHE (P, LAMBRBRIE. MEHCHAOKRICTREMREARIZE

MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

(150F) LM :100F(50F) () IR/NR



2013 FEELHNSRIRMEIG| [ EER

JAL/JTA/JAC/RAC
2013/1/29

ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RMEIE| INRERI RSB SREA VBRI TS|
B REpO | FHEB 1/5-8/1 | E—7HA 1/5-8/1 | E—9H] 1/5-8/1 | E—9H]
XA X2 XE@) | 8/17-8/31 §\]§|$ﬂ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ%

EHEEIESACEED) JAL JAL 45,500 36% 22,750 68% 27,800 61%
KR (5 JAL JAL 45,500 29% 22,750 65% 27,800 57%
ZR%E [EZEA) JAL JAL 45,500 36% 22,750 68% 27,800 61%
pNACGEE) JAL JAL 45,500 29% 22,750 65% 27,800 57%
1Bk =7e% ERE [ KEREED JAL JAL 44,500 28% 22,250 64% 27,150 56%
&% [ ARED JAL JAL 44,500 28% 22,250 64% 27,150 56%
12k = EESE |[HRCHE) JAL JAL 45,000 32% 22,500 66% 27,050 59%
MER [ER(RH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
pPNACGEE) JAL JAL 45,000 24% 22,500 62% 27,050 54%
akE =L HEEIESACEED) JAL JAL 42,000 20% 21,000 65% 24,950 58%
pPNACGEE) JAL JAL 42,000 28% 21,000 64% 24,950 57%
W% [Rm(EH) JAL JAL 42,000 29% 21,000 65% 24,950 58%
KR (75 JAL JAL 42,000 28% 21,000 64% 24,950 57%
1Bk =8 KR (R JAL JAL 38,700 30% 19,350 65% 23,700 57%
% [ KR(FFD JAL JAL 38,700 30% 19,350 65% 23,700 57%
faRE =/ B |[HRCHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
MMAE  [ERFE(CHA) JAL JAL 39,000 38% 19,500 69% 23,550 63%
BE=5% fEm % ) JTA _[JTA/RAC 40,000 17% 20,000 59% 24,300 50%
BEE 8 (B E) JTA/RAC| JTA 40,000 17% 20,000 59% 24,300 50%
BR=R1E B % ) JTA _[JTA/RAC 40,500 25% 20,250 62% 24,750 54%
5 P48 (BRER) JTA/RAC| JTA 40,500 25% 20,250 62% 24,750 54%
TR =E ZimplE |IEEFH TR JAL JAL 33,000 39% 16,500 70% 19,500 64%
= LR (BT T 28) JAL JAL 33,000 39% 16,500 70% 19,500 64%
TR =R ZimplE |IEEF TR JAL JAL 34,000 38% 17.000 69% 20,500 63%
FEH [ARETR JAL JAL 34,000 38% 17.000 69% 20,500 63%
SRR ES e E GG JAL JAL 44,000 35% 22,000 67% 26,350 61%
A EFACTED) JAL JAL 44,000 35% 22,000 67% 26,350 61%
Al =i R | Eft EURS [Rm (JE) JAL JAL 48,000 36% 24,000 68% 28,800 61%
%A =FE Wl ES e E GG JAL JAL 48,000 37% 24,000 68% 28,800 62%
ENE A ESACED) JAL JAL 48,000 37% 24,000 68% 28,800 62%
TR ES FE R ESEED JAL JAL 50,900 33% 25,450 67% 30,550 60%
LR (BT 2) JAL JAL 50,900 29% 25,450 64% 30,550 57%
Le% [EE(RE) JAL JAL 50,900 33% 25,450 67% 30,550 60%
IR (BT F %) JAL JAL 50,900 29% 25,450 64% 30,550 57%
TR =HE ESTIES = (HH) JAL JAL 46,000 40% 23,000 70% 27,850 64%
HES = (HH) JAL JAL 46,000 40% 23,000 70% 27,850 64%
iR =0 ESRIES = (HH) JAL JAL 52,800 32% 26,400 66% 31,700 59%
FALIZ = (HH) JAL JAL 52,800 32% 26,400 66% 31,700 59%
TR =H1E ESRIES = (HH) JAL JTA 75,100 28% 37,550 64% 45,950 56%
AIEE = (HH) JTA JAL 75,100 28% 37,550 64% 45,950 56%
B =/ JENIES = (HH) JAL JAL 44,000 33% 22,000 67% 25,350 61%
IMRFE = (HH) JAL JAL 44,000 33% 22,000 67% 25,350 61%
Bl =Faft R JENE = (HH) JAL JAL 48,000 34% 24,000 67% 28,800 60%
FIfeEUES RS CRE) JAL JAL 48,000 34% 24,000 67% 28,800 60%
FEJII=FEl JENIE = (HH) JAL JAL 48,000 35% 24,000 68% 28,800 61%
[ = (EH) JAL JAL 48,000 35% 24,000 68% 28,800 61%
BI=HE DI EEETD) JAL JAL 46,000 39% 23,000 69% 27,850 63%

KR (2 F1) JAL JAC 46,000 33% [8/18/17-8/31M& | 23,000 66%  [8/1.8/17-8/310# | 27,850 59%  18/1.8/17-8/3103
HEEX [RRCHA) JAL JAL 46,000 39% 23,000 69% 27,850 63%

KR (2 F1) JAC JAL 46,000 33% [8/18/17-8/31M& | 23,000 66%  [8/1.8/17-8/310# | 27,850 59%  [8/1.8/17-8/3103
FEJII=#210 JENIE I E S CEE:D) JAL JAL 52,800 30% 26,400 65% 31,700 58%

KR (£ F1) JAL JAL 52,800 21% _ [8/18/17-8/310% | 26,400 61%  [8/1.8/17-8/310& | 31,700 53% 18/1.8/17-8/3103
WLE [EEEH) JAL JAL 52,800 30% 26,400 65% 31,700 58%

KR (2 F1) JAL JAL 49,500 26% [8/18/17-8/310# | 24,750 63%  [8/1.8/17-8/310& | 31,700 53% 18/1.8/17-8/3103
fEJII=%R1E JENED = (HH) JAL JTA 73,200 29% 36,600 65% 44,750 57%
AIEHE = (HH) JTA JAL 73,200 29% 36,600 65% 44,750 57%
g =/ SR % = (EH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IMRFE = (HH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
FIERESIER SR % = (HH) JAL JAL 48,000 34% 24,000 67% 28,800 60%
FIfe RS RS CRE) JAL JAL 48,000 34% 24,000 67% 28,800 60%
g =FaAL Pl = (HH) JAL JAL 48,000 35% 24,000 67% 28,800 61%
[N = (HH) JAL JAL 48,000 35% 24,000 67% 28,800 61%
Sk =I58 S5 = (FH) JAL JAL 50,900 31% 25450 66% 30,550 59%
INCE = (HH) JAL JAL 50,900 31% 25,450 66% 30,550 59%
HIEE=HE SR % = (HH) JAL JAL 46,000 38% 23,000 69% 27,850 63%
HES = (HH) JAL JAL 46,000 38% 23,000 69% 27,850 63%
flgg=#xl FlEES = (HH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
[T = (HH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
Sk ="n1E SR = (HH) JAL JTA 72,700 29% 36,350 65% 44,500 57%
AIEE = (EH) JTA JAL 72,700 29% 36,350 65% 44,500 57%
L=/ LT = (CFH) JAL JAL 44,000 32% 22,000 66% 25,350 61%
INEAZE = (HH) JAL JAL 44,000 32% 22,000 66% 25,350 61%
HIR=FAfLAE BILFE = (CHH) JAL JAL 48,000 33% 24,000 67% 28,800 60%
FIfC RS | RS CRE) JAL JAL 48,000 33% 24,000 67% 28,800 60%
L =Rl 5 5 = (FH) JAL JAL 48,000 34% 24,000 67% 28,800 60%
FEILLFE = (HH) JAL JAL 48,000 34% 24,000 67% 28,800 60%
HLE=HE HILFE = (HH) JAL JAL 46,000 38% 23,000 69% 27,850 62%
HES = (HH) JAL JAL 46,000 38% 23,000 69% 27,850 62%
L =#al LT = (CFH) JAL JAL 52,800 20% 26.400 65% 31,700 58%
[T = (HH) JAL JAL 52,800 29% 26,400 65% 31,700 58%
HLR=FE HILFE = (CFH) JAL JTA 72,100 20% 36.050 65% 44,100 57%
AIEE = (HH) JTA JAL 72,100 29% 36,050 65% 44,100 57%
BEE =/ B S = (HH) JAL JAL 36,400 37% 18,200 68% 21,800 62%
IMRFE = (HH) JAL JAL 36,400 37% 18,200 68% 21,800 62%
EEE =M AR HEER = (HH) JAL JAL 47,000 27% 23,500 64% 28,150 57%
FIfe RS [RE CRE) JAL JAL 47,000 27% 23,500 64% 28,150 57%
BEE =Fd Ll BEAESE = (HH) JAL JAL 47,000 29% 23,500 64% 28,150 57%
BN = (HH) JAL JAL 47,000 29% 23,500 64% 28,150 57%
EWiE=IE6 BAESE = (HH) JAL JAL 50,800 24% 25,400 62% 30,400 54%
L&% = (HH) JAL JAL 50,800 24% 25,400 62% 30,400 54%
EWiE=HE HER [ER(EH) JAL JAL 45,000 33% 22,500 67% 27,850 59%
pPNACGEE) JAL JAC 45,000 27% 22,500 63% 27,850 55%
HEEX [ERCHA) JAL JAL 45,000 33% 22,500 67% 27,850 59%
pNACGEE) JAC JAL 45,000 27% 22,500 63% 27,850 55%
EEE=H0 BWEER [RR(CRE) JAL JAL 51,700 24% 25,850 62% 31,000 54%
pPNACGEE) JAL JAL 51,700 14% 25,850 57% 31,000 49%
WLE [EREH) JAL JAL 51,700 24% 25,850 62% 31,000 54%
KR (75 JAL JAL 51,700 14% 25,850 57% 31,000 49%
EEE=dL M HEER [HF(PH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
JEAME [H=ECRE) JAL JAL 54,000 26% 27,000 63% 32,700 55%
EE=K% HER [HRCRE) JAL JAL 43,000 40% 21,500 70% 25,900 64%
PG JAL JAL 43,000 31% 21,500 66% 25,900 59%
A% |[EECHA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KR (5 JAL JAL 43,000 31% 21,500 66% 25,900 59%
EiE =Rk BAESE |HR(CRHE) JAL JAL 45,000 40% 22,500 70% 26,900 64%
RIE% [ERCRHE) JAL JAL 45,000 40% 22,500 70% 26,900 64%
pNACGE=) JAL JAL 45,000 35% 22,500 67% 26,900 61%

(150F) LM :100F(50F) () IR/NR



20134 E LRI RBEIZ EER S e/

grait R RMEIE| INRERI RSB SREA VBRI TS|
B REpO | FHEB 1/5-8/1 | E—7HA 1/5-8/1 | E—9H] 1/5-8/1 | E—9H]
XA X2 XE@) | 8/17-8/31 §\]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ%

EAE=AEK HER [EE(HH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
KR (5 JAL JAL 45,000 33% 22,500 66% 26,900 60%
RBA%E |[ERCHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
pPNACGEE) JAL JAL 45,000 33% 22,500 66% 26,900 60%
EHAE=Fk HER [EE(HH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
pPNACGEE) JAL _|JAL/JAC 45,000 33% 22,500 66% 26,900 60%
BN EEICE JAL JAL 45,000 38% 22,500 69% 26,900 63%
pPNACGEE) JAL/JAC]  JAL 45,000 33% 22,500 66% 26,900 60%
HE=ERS B ESACEED) JAL JAL 46,000 38% 23,000 69% 27,500 63%
pNACGEE) JAL JAC 46,000 34% 23,000 67% 27,500 61%
BEREX [RR(CHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
pPNACGEE) JAC JAL 46,000 34% 23,000 67% 27,500 61%
EEE=FH1E HEER = (HH) JAL JTA 65,500 31% 32,750 66% 40,150 58%
AIEE R (HH) JTA JAL 65,500 31% 32,750 66% 40,150 58%
BEH= EHER = (CRE) JAL JAL 34,000 40% 17.000 70% 20,500 64%
IMRFE R (EH) JAL JAL 34,000 40% 17.000 70% 20,500 64%
EH=FIAE EHER GAERD) JAL JAL 38,000 40% 19.000 70% 23,050 64%
FIfe RS RS CRE) JAL JAL 38,000 40% 19,000 70% 23,050 64%
HH=mW EHR = (FH) JAL JAL 38,000 41% 19.000 71% 23,050 64%
G R (HH) JAL JAL 38,000 41% 19,000 71% 23,050 64%
EHR=IL5 EHER = (FH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
LE% = (HH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
EHR=LOFE EHER GAERD) JAL JAL 41,000 41% 20,500 70% 24,950 64%
WO FEs (RN (FH) JAL JAL 41,000 41% 20,500 70% 24,950 64%
EHR=HE - R ESHEEE)) JAL JAL 38,800 41% 19,400 71% 23,550 64%
pPNACGEE) JAL JAC 38,800 34% 19.400 67% 23,550 60%
HEEX [RRCHA) JAL JAL 38,800 41% 19.400 71% 23,550 64%
KR (£ JAC JAL 38,800 34% 19,400 67% 23,550 60%
EH=HE 5% |[EmCEHE) JAL JAL 36,000 44% 18,000 72% 21,750 66%
EE%E |[ER(EH) JAL JAL 36,000 44% 18,000 72% 21,750 66%
EH=mn A% [EmCEE) JAL JAL 38,000 41% 19.000 70% 23,050 64%
SR A EGACED) JAL JAL 38,000 41% 19,000 70% 23,050 64%
EH=mA EHE |[ZmCEE) JAL JAL 39,000 41% 19,500 70% 23,700 64%
BA% |[ER(EH JAL JAL 39,000 41% 19,500 70% 23,700 64%
HH=tul R EEREED) JAL JAL 39,000 41% 19,500 71% 23,700 64%
KR (£ JAL JAL 39,000 33% 19,500 66% 23,700 59%
WLE [EREH) JAL JAL 39,000 41% 19,500 71% 23,700 64%
pPNACGEE)) JAL JAL 39,000 33% 19,500 66% 23,700 59%
HEHR=IAM Bty L A CED) JAL JAL 46,000 35% 23,000 68% 28,100 61%
JEAME [H=CRE) JAL JAL 46,000 35% 23,000 68% 28,100 61%
BEHR=KD BA% |[ERECEA) JAL JAL 41,000 42% 20,500 71% 24,950 64%
pPNACGEE)) JAL JAL 41,000 32% 20,500 66% 24,950 59%
A% |[RZCHA) JAL JAL 41,000 42% 20,500 71% 24,950 64%
pPNACGEE) JAL JAL 41,000 32% 20,500 66% 24,950 59%
EHR=RK EHRE ([ER(RH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (£ JAL JAL 45,000 33% 22,500 66% 26,900 60%
RIE%E [HRCRE) JAL JAL 45,000 39% 22,500 69% 26,900 63%
pPNACGEE) JAL JAL 45,000 33% 22,500 66% 26,900 60%
BEHR=RX 2 ESACEE)) JAL JAL 43,000 40% 21,500 70% 25,900 64%

KR (2 F1) JAL JAL 43,000 33% [8/18/17-8/31M | 21,500 67%  [8/1.8/17-8/310& | 25900 60%  [8/1.8/17-8/3103
BAR [EE(RE) JAL JAL 43,000 40% 21,500 70% 25,900 64%

KR (2 F1) JAL JAL 43,000 33% [8/18/17-8/31M | 21,500 67%  [8/1.8/17-8/310& | 25900 60%  [8/1.8/17-8/3103
EHR=ER T EVACEE)) JAL JAL 43,000 40% 21,500 70% 25,900 64%
pPNACGEE) JAL_|JAL/JAC 43,000 33% 21,500 67% 25,900 60%
B EEICED) JAL JAL 43,000 40% 21,500 70% 25,900 64%
pPNACGEE) JAL/JAC]  JAL 43,000 33% 21,500 67% 25,900 60%
EHR=ERE 2 EVACEE)) JAL JAL 45,000 39% 22,500 69% 26,900 63%
pPNACGEE) JAL JAC 45,000 34% 22,500 67% 26,900 60%
ERBE [RR(RH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
pNACGEE) JAC JAL 45,000 34% 22,500 67% 26,900 60%
EHR=AE R (J9E) JAL JTA 63,000 33% 31,500 66% 38,900 59%
T ) JTA JAL 63,000 33% 31,500 66% 38,000 59%
ZiR=/Ma ) JAL JAL 34,000 39% 17.000 70% 20,500 63%
) JAL JAL 34,000 39% 17.000 70% 20,500 63%
=F#AE ) JAL JAL 38,000 40% 19,000 70% 23,050 63%
ZiR=FW ) JAL JAL 38,000 41% 19,000 70% 23,050 64%
) JAL JAL 38,000 41% 19,000 70% 23,050 64%
ZR=IE8 ) JAL JAL 39,000 40% 19,500 70% 23,700 63%
) JAL JAL 39,000 40% 19,500 70% 23,700 63%
ZR=1LOFH ) JAL JAL 41,000 40% 20,500 70% 24,950 64%
) JAL JAL 41,000 40% 20,500 70% 24,950 64%
ZR=HZE E FIH) JAL JAL 39,900 39% 19.950 69% 24,250 63%
KR (5 JAL JAC 39,900 34% 19,950 67% 24,250 60%
HEEX [RRCHA) JAL JAL 39,900 39% 19.950 69% 24,250 63%
pPNACGEE) JAC JAL 39,900 34% 19.950 67% 24,250 60%
ZR=15 Hm CRE) JAL JAL 36,000 43% 18,000 72% 21,750 66%
R CREA) JAL JAL 36,000 43% 18,000 72% 21,750 66%
ZiR=" Ed ) JAL JAL 38,000 40% 19,000 70% 23,050 64%
Ed ) JAL JAL 38,000 40% 19,000 70% 23,050 64%
Ed ) JAL JAL 38,000 42% 19,000 71% 23,050 65%
Ed ) JAL JAL 38,000 42% 19,000 71% 23,050 65%
[= ) JAL JAL 39,000 41% 19,500 70% 23,700 64%
) JAL JAL 39,000 34% 19,500 67% 23,700 60%
) JAL JAL 39,000 41% 19,500 70% 23,700 64%
) JAL JAL 39,000 34% 19,500 67% 23,700 60%
) JAL JAL 45,500 36% 22,750 68% 27,800 61%
) JAL JAL 45,500 36% 22,750 68% 27,800 61%
) JAL JAL 41,000 41% 20,500 71% 24,950 64%
) JAL JAL 41,000 33% 20,500 67% 24,950 59%
SFIH) JAL JAL 41,000 41% 20,500 71% 24,950 64%
SFIH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
=) JAL JAL 45,000 34% 22,500 67% 26,900 60%
SFIH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
) JAL JAL 45,000 34% 22,500 67% 26,900 60%
SFIH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
) JAL JAL 43,000 35% 21,500 67% 25,900 61%
SFIH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
SFIH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
) JAL_|JAL/JAC 43,000 35% 21,500 67% 25,900 61%
FIER) JAL JAL 43,000 39% 21,500 70% 25,900 63%
) JAL/JAC]  JAL 43,000 35% 21,500 67% 25,900 61%
ZIR=ERE ZiR%E [EZ(EA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
pPNACGEE) JAL JAC 45,000 35% 22,500 67% 26,900 61%
ERBE [RR(CRH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
pPNACGEE) JAC JAL 45,000 35% 22,500 67% 26,900 61%
ZR="1E ZR%E [HEZR(CHA) JAL JTA 63,000 32% 31,500 66% 38,900 58%
AEEX [EZHER) JTA JAL 63,000 32% 31,500 66% 38,900 58%
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grait R RMEIE| INRERI RSB SREA VBRI TS|
B REpO | FHEB 1/5-8/1 | E—7HA & 1/5-8/1 | E—9H] 1/5-8/1 | E—9H]
XA X2 XE@) | 8/17-8/31 §\]§|$ ”% 8/17-8/31 §I]§|$ ﬁﬁ% 8/17-8/31 §I]§|$ ﬁﬁ%
FRE =/ EAX = (HH) JAL JAL 33,000 35% 16,500 68% 19,800 61%
INASE = (HH) JAL JAL 33,000 35% 16,500 68% 19,800 61%
HE=miEE S = (HH) JAL JAL 34,000 41% 17.000 71% 20,500 65%
FIft RS RS CRE) JAL JAL 34,000 41% 17.000 71% 20,500 65%
FXE =Fe L EAE = (HH) JAL JAL 34,000 42% 17.000 71% 20,500 65%
FELLFE = (EH) JAL JAL 34,000 42% 17.000 71% 20,500 65%
ME=LE5 EAX = (HH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
L = (HH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
RE=LOFH FREZ = (HH) JAL JAL 39,000 39% 19,500 69% 23,700 63%
WhOFERs [RR (FH) JAL JAL 39,000 39% 19,500 69% 23,700 63%
ME=HE PR ESETD) JAL JAL 34,000 44% 17.000 72% 20,500 66%
pPNACGEE)) JAL JAC 34,000 39% 17.000 69% 20,500 63%
HEHRX [EERE) JAL JAL 34,000 44% 17.000 72% 20,500 66%
pPNACGEE) JAC JAL 34,000 39% 17.000 69% 20,500 63%
HE=E5 MEAX |[ERGEH JAL JAL 34,000 42% 17.000 71% 20,500 65%
EE%E |[ER(EH) JAL JAL 34,000 42% 17.000 71% 20,500 65%
HE=E% R ESICT:) JAL JAL 36,000 38% 18,000 69% 21,750 63%
o CRE) JAL JAL 36,000 38% 18,000 69% 21,750 63%
HE=FA Hm CRE) JAL JAL 36,000 40% 18,000 70% 21,750 64%
Hm CRE) JAL JAL 36,000 40% 18,000 70% 21,750 64%
FE=#0 == CRE) JAL JAL 38,000 38% 19,000 69% 23,050 62%
pPNACGEE) JAL JAL 38,000 30% 19,000 65% 23,050 58%
R CRE) JAL JAL 38,000 38% 19,000 69% 23,050 62%
pPNACGEE) JAL JAL 38,000 30% 19,000 65% 23,050 58%
FE=1LRM A% [EFE(FH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
JEAME [HECRE) JAL JAL 45,000 32% 22,500 66% 27,050 59%
ME=X% BEE [EZCRE) JAL JAL 39,000 40% 19,500 70% 23,700 63%
pPNACGEE) JAL JAL 39,000 31% 19,500 66% 23,700 58%
RH%E [EERE) JAL JAL 39,000 40% 19,500 70% 23,700 63%
pPNACGEE) JAL JAL 39,000 31% 19,500 66% 23,700 58%
HHE=R&E MEAX [EZ@H) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KR (5 JAL JAL 41,200 35% 20,600 67% 24,950 60%
RIE% [ERCRH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
pPNACGEE) JAL JAL 41,200 35% 20,600 67% 24,950 60%
E=FEX MEX [EZ@H) JAL JAL 41,000 38% 20,500 69% 24,950 62%
pPNACGEE) JAL JAL 41,000 33% 20,500 66% 24,950 59%
BAR [EE(RE) JAL JAL 41,000 38% 20,500 69% 24,950 62%
pPNACGEE)) JAL JAL 41,000 33% 20,500 66% 24,950 59%
HE=2k MEX [EZEH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
pPNACGEE) JAL_|JAL/JAC 41,000 33% 20,500 66% 24,950 59%
B EEICED JAL JAL 41,000 38% 20,500 69% 24,950 62%
pPNACGEE)) JAL/JAC]  JAL 41,000 33% 20,500 66% 24,950 59%
HE=ERS MERX [ER(RH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
pPNACGEE) JAL JAC 43,000 33% 21,500 67% 25,900 60%
ERBE [RR(CRH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
R (51 JAC JAL 43,000 33% 21,500 67% 25,900 60%
ME=HE PR = (HH) JAL JTA 61,600 30% 30,800 65% 38,000 57%
AIEE = (HH) JTA JAL 61,600 30% 30,800 65% 38,000 57%
ITTZENA Iz = (HH) JAL JAL 32,000 28% 16,000 64% 18,950 57%
INAZE = (HH) JAL JAL 32,000 28% 16,000 64% 18,950 57%
\Lifg = Iz = (HH) JAL JAL 34,000 35% 17.000 68% 20,500 61%
[N = (HH) JAL JAL 34,000 35% 17.000 68% 20,500 61%
W =1L8 Iz = (HH) JAL JAL 35,000 34% 17.500 67% 21,100 60%
L5 = (HH) JAL JAL 35,000 34% 17.500 67% 21,100 60%
WLfz =100 F& Z3 = (HH) JAL JAL 39,000 32% 19,500 66% 23,700 58%
WWOFHE [HR(HH) JAL JAL 39,000 32% 19,500 66% 23,700 58%
W =HE IZ N SACT=:) JAL JAL 35,000 35% 17.500 68% 21,100 61%
KR (5 JAL JAC 35,000 36% 17.500 68% 21,100 61%
HERX [EERE) JAL JAL 35,000 35% 17.500 68% 21,100 61%
pNACGEE) JAC JAL 35,000 36% 17.500 68% 21,100 61%
=15 N2 E SACT=:) JAL JAL 34,000 35% 17.000 67% 20,500 61%
B RRCHEA) JAL JAL 34,000 35% 17.000 67% 20,500 61%
WL == N2 E SACT=:) JAL JAL 34,000 35% 17.000 67% 20,500 61%
BR%E |[EREEH JAL JAL 34,000 35% 17.000 67% 20,500 61%
L =40 22 E SACT=:) JAL JAL 35,000 35% 17.500 68% 21,100 61%
A% |[ER(GEH JAL JAL 35,000 35% 17.500 68% 21,100 61%
Wit =#21l I E SACT=:) JAL JAL 35,000 36% 17.500 68% 21,100 61%
pPNACGEE)) JAL JAL 35,000 34% 17.500 67% 21,100 60%
WLE [EREH) JAL JAL 35,000 36% 17.500 68% 21,100 61%
pPNACGEE) JAL JAL 35,000 34% 17.500 67% 21,100 60%
Wz =dL A dEAmE |[HRCRE) JAL JAL 42,000 29% 21,000 65% 24,950 58%
Wit =K% I Z N VACT:) JAL JAL 40,000 31% 20,000 66% 24,300 58%
pPNACGEE) JAL JAL 40,000 28% 20,000 64% 24,300 56%
K% [RERE) JAL JAL 40,000 31% 20,000 66% 24,300 58%
pPNACGEE) JAL JAL 40,000 28% 20,000 64% 24,300 56%
e =Rk 2 VACT:) JAL JAL 43,000 30% 21,500 65% 26,250 57%
pPNACGEE) JAL JAL 43,000 31% 21,500 65% 26,250 58%
RIE% [ERCRE) JAL JAL 43,000 30% 21,500 65% 26,250 57%
pPNACGEE) JAL JAL 43,000 31% 21,500 65% 26,250 58%
Wi =geR IZEVACT=:) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (£ JAL JAL 41,000 31% 20,500 66% 24,950 58%
BAR [EE(RE) JAL JAL 41,000 31% 20,500 65% 24,950 58%
pPNACGEE) JAL JAL 41,000 31% 20,500 66% 24,950 58%
i ="E IEZNEVACT:) JAL JAL 41,000 31% 20,500 65% 24,950 58%
pPNACGEE)) JAL _|JAL/JAC 41,000 31% 20,500 66% 24,950 58%
BN EEICED JAL JAL 41,000 31% 20,500 65% 24,950 58%
pPNACGEE) JAL/JAC]  JAL 41,000 31% 20,500 66% 24,950 58%
I =ERE I Z N ESACCTEN JAL JAL 43,000 30% 21,500 65% 26,250 57%
pPNACGEE)) JAL JAC 43,000 32% 21,500 66% 26,250 58%
ERBE [RR(CRH) JAL JAL 43,000 30% 21,500 65% 26,250 57%
pPNACGEE) JAC JAL 43,000 32% 21,500 66% 26,250 58%
Wiy =HhiE % [HECRE) JTA JAL 61,600 25% 30,800 62% 38,000 54%
a=mE weasx  [XRUEFE JAL JAC 34,000 36% 17.000 68% 20,500 62%
FET PN JAC JAL 34,000 36% 17.000 68% 20,500 62%
fli& =#10 & KR (R JAL JAL 36,000 31% 18,000 66% 21,750 58%
[T PG ) JAL JAL 36,000 31% 18,000 66% 21,750 58%
la=xX% & KR (R JAL JAL 38,000 30% 19,000 65% 23,050 58%
KH% [ KREFFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
e =Kk [ KR (R JAL JAL 41,000 33% 20,500 66% 24,950 59%
I A PNACGIE)) JAL JAL 41,000 33% 20,500 66% 24,950 59%
i =rX & KR (R JAL JAL 39,000 34% 19,500 67% 23,700 60%
REA% [ KR(EFFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
W& =5k & pNACGEE) JAL _|JAL/JAC 41,000 30% 20,500 65% 24,950 57%
EEEEENAGE)) JAL/JAC]  JAL 41,000 30% 20,500 65% 24,950 57%
WeE=ERS e [XRUEFER JAL JAC 41,000 34% 20,500 67% 24,950 60%
ERE% [KR@FF JAC JAL 41,000 34% 20,500 67% 24,950 60%
FR=HE Fin%x [ ARUFM JAL JAC 31,000 40% 15,500 70% 18,550 64%
HER [ KR@EFFD JAC JAL 31,000 40% 15,500 70% 18,550 64%
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ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RMEIE| INRERI RSB SREA VBRI TS|
B REpO | FHEB 1/5-8/1 | E—7HA [ 1/5-8/1 | E—9H] [ 1/5-8/1 | E—9H] [
EXEdD | KB | KE® |8/17-8/31 | Z|B|%E " 8/17-8/31 | E|B|HK " 8/17-8/31 | E|B|HK "
FR=H0 KR (R JAL JAL 34,000 33% 17.000 66% 20,500 59%
KR (£ JAL JAL 34,000 33% 17,000 66% 20,500 59%
FR=K% KR (R JAL JAL 36,000 32% 18,000 66% 21,750 59%
pNACGEE) JAL JAL 36,000 32% 18,000 66% 21,750 59%
FR=R& KR (R JAL JAL 39,000 34% 19,500 67% 23,700 60%
pPNACGEE)) JAL JAL 39,000 34% 19,500 67% 23,700 60%
FR=FEAX KR (R JAL JAL 38,000 33% 19,000 67% 23,050 59%
KR (75 JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=Ek PGS JAL _[JAL/JAC 38,000 33% 19,000 67% 23,050 59%
PNACGEE)) JAL/JAC]  JAL 38,000 33% 19,000 67% 23,050 59%
FR=ERS i KBR (FFFD JAL JAC 39,000 35% 19,500 68% 23,700 61%
ERE% [KR@FF JAC JAL 39,000 35% 19,500 68% 23,700 61%
NR=TEL INEAZE = (HH) JAL JAL 32,400 43% 16.200 71% 19,350 66%
[ = (HH) JAL JAL 32,400 43% 16.200 71% 19,350 66%
IME=IEE INEASE = (HH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
IS R (HH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
IME=ILOFE IMRFE = (HH) JAL JAL 37,000 39% 18,500 70% 22,200 63%
WO =FERs [RR (FH) JAL JAL 37,000 39% 18,500 70% 22,200 63%
IME=HE INEASE R (HH) JAL JAL 34,000 41% 17.000 71% 20,150 65%
ES = (HH) JAL JAL 34,000 41% 17.000 71% 20,150 65%
IMA=TER INEASE R (HH) JAL JAL 31,700 43% 15.850 72% 18,900 66%
EEE R (HH) JAL JAL 31,700 43% 15.850 72% 18,900 66%
INR=TFH INEASE = (EH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
EIFE R (HH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
INR=TFH INASE R (HH) JAL JAL 34,000 41% 17.000 71% 20,150 65%
=A% R (HH) JAL JAL 34,000 41% 17.000 71% 20,150 65%
AN =410 INEASE R (HH) JAL JAL 34,200 41% 17.100 71% 20,500 65%
[T R (HH) JAL JAL 34,200 41% 17.100 71% 20,500 65%
MR =L T INEASE = (HH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
EZR I R (EH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
INR=KH INEASE = (HH) JAL JAL 38,000 39% 19,000 69% 22,850 63%
K5 = (HH) JAL JAL 38,000 39% 19,000 69% 22,850 63%
M=Kk INAZE = (HH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
RIE% = (HH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IME=FER INEASE = (HH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
REAZ = (HH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IME=H IR INASE = (HH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
EEES = (HH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
MA=ERE NASE = (HH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
ERE3 = (HH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IME=EE INEASE i JTA_|JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EREEd JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
INR=TF1E INEASE JAL JTA 61,600 28% 30,800 64% 38,000 56%
JTA_|JTA/RAC 61,600 8% 30,800 54% 38,000 43%
RIEX JTA JAL 61,600 28% 30,800 64% 38,000 56%
JTA/RAC| JTA 61,600 8% 30,800 54% 38,000 43%
BL==% JTA_|JTA/RAC 46,000 16% 23,000 58% 27,500 50%
JTA/RAC| JTA 46,000 16% 23,000 58% 27,500 50%
&l =R JTA_|JTA/RAC 50,600 16% 25,300 58% 31,000 49%
JTA/RAC| JTA 50,600 16% 25,300 58% 31,000 49%
== JAL/JAC|JAL/JAC 27,700 42% 13,850 71% 17.750 63%
JAL/JAC|JAL/JAC 27,700 42% 13,850 71% 17.750 63%
BERB=5H JAC JAC 19,650 27% 9,850 63% 12,550 53%
JAC JAC 19,650 27% 9,850 63% 12,550 53%
BEXE="KERE JAC JAC 16,800 43% 8,400 72% 12,650 57%
315 JAC JAC 16,800 43% 8,400 72% 12,650 57%
R (BB =& ) JAL/JTA|  JAL 49,500 34% 24,750 67% 29,750 60%
& ) JAL_|JAL/JTA] 49,500 34% 24,750 67% 29,750 60%
PR (RE) ==iR ) JAL/JTA|  JAL 49,500 34% 24,750 67% 29,750 60%
R%E ) JAL_[JAL/JTA] 49,500 34% 24,750 67% 29,750 60%
PR () =R E [ (BB 3 ) JAL/JTA|  JAL 48,000 31% 24,000 66% 28,800 59%
EE ) JAL_[JAL/JTA] 48,000 31% 24,000 66% 28,800 59%
SRR (ARE) = ILT [ GRE) % ) JAL/JTA|  JAL 48,000 24% 24,000 62% 28,800 55%
Z3 ) JAL_[JAL/JTA] 48,000 24% 24,000 62% 28,800 55%
PR (B =flE AR EB) % JTA JAL 47,300 37% 23,650 69% 28,950 62%
aE%E JAL JTA 47,300 37% 23,650 69% 28,050 62%
PR (ARER) =/M2 [ GRE) % CRHE) JAL/JTA]  JAL 43,000 36% 21,500 68% 26,200 61%
MAE  [REFECRA) JAL_[JAL/JTA] 43,000 36% 21,500 68% 26,200 61%
HEEB) =5 MHR@EB X EE JTA _[JAL/JAC 32,400 42% 16.200 71% 20,150 64%
SR FelER] JAL/JAC] JTA 32,400 42% 16,200 71% 20,150 64%
SRR (B =L AR BB) R  EE JTA JAC 29,200 44% 14,600 72% 17,850 66%
[N EE JAC JTA 29,200 44% 14,600 72% 17,850 66%
EEC RS E VA E - JAL JAC 45,800 31% 22,900 66% 28,100 58%
pNACGES) JAL JAL 45,800 27% 22,900 64% 28,100 55%
BEXBE | BERE JAC JAL 45,800 31% 22,900 66% 28,100 58%
pNACGES) JAL JAL 45,800 27% 22,900 64% 28,100 55%
RRECAE) =ERB|RRCAE) %[ _ERE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEAE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERBR BER JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
RECAE) =@zB|RR AR %] _ER JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
(A= BER JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
R PH) =FkRH[RACARA H| EE JAL JAC 48,350 32% 24,200 66% 30,050 57%
Pk RARRE | B JAC JAL 48,350 32% 24,200 66% 30,050 57%
5 | JAC JAL 48,350 26% 24,200 63% 30,050 54%
BEXE | JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RRCRE)=5# JAL JAC 48,750 32% 24,400 66% 30,300 58%
JAC JAL 48,750 32% 24,400 66% 30,300 58%
JAC JAL 48,700 28% 24,350 64% 30,250 56%
BEXE | JAC JAC JAL | 48,700 35% 24,350 68% 30,250 60%
KRR =BEAB| KR (FHDHE| ER JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEXEBH | BIR JAC JAC 40,700 25% 20,350 63% 24,700 55%
KR (P =ERB| KR (P E|_ER JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERBR BER JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR () =@z B| KR (FFDE|_ER JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAL JAC 42,900 17% 21,450 59% 26,250 49%
(A= BER JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR (R =Xk B8 KR (R | ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
Pk RS | BRI JAC JAC 43,250 26% 21,650 63% 26,700 54%
KR (P =5k R JAC JAC 43,650 27% 21,850 64% 26,950 55%
ER JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=BXXE BER JAC JAC 32,750 20% 16.400 64% 19,700 57%
ER JAC JAC 32,750 29% 16.400 64% 19,700 57%

(150F) LM :100F(50F) () IR/NR



2013 FEELHNSRIRMEIG| [ EER

JAL/JTA/JAC/RAC
2013/1/29

grait R RMEIE| INRERI RSB SREA VBRI TS|
B REpO | FHEB 1/5-8/1 | E—7HA 1/5-8/1 | E—9H] 1/5-8/1 | E—9H]
XA X2 XE@) | 8/17-8/31 §|]§|$x ﬁﬁ% 8/17-8/31 §|]§|$ ﬁﬁ% 8/17-8/31 §|]§|$ ﬁﬁ%
EE=ERE EHEES BEIR JAC JAC 33,650 25% 16.850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16.850 62% 20,600 53%
ERBR BER JAC JAC 33,650 25% 16.850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16.850 62% 20,600 53%
EE=fE28 EHEES BEIR JAC JAC 34,150 31% 17.100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17.100 64% 20,700 57%
(A= BER JAC JAC 34,150 31% 17.100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17.100 64% 20,700 57%
1akE =ik RE&R EHGES BE'R JAC JAC 35,300 30% 17.650 65% 21,700 57%
Pk EARSE | B JAC JAC 35,300 30% 17.650 65% 21,700 57%
18kt =55k e 5 R JAC JAC 35,700 31% 17.850 66% 21,950 58%
% EEIRE JAC JAC 35,700 31% 17.850 66% 21,950 58%
RECRE)=5BERZCAR K| FHiE JTA_|JTA/RAC 61,600 17% 30,800 58% 38,000 49%
ERER [HRGEH RAC _[JAL/JTA 61,600 19% 30,800 60% 38,000 50%
aia JTA/RAC| JTA 61,600 17% 30,800 58% 38,000 49%
AR(FFD=5BE] SMEFE [ GEH) RAC JAL 50,700 27% 25,350 64% 31,050 56%
Kk (B%) =5ME| AR (BEF) %[ FHiE JTA_|JTA/RAC 50,700 19% 25,350 60% 31,050 51%
CENEE T TE ) RAC _[JAL/JTA 50,700 27% 25,350 64% 31,050 56%
aiE JTA/RAC| JTA 50,700 19% 25,350 60% 31,050 51%
2HE(FH) =58E] SPEE [l GHR) RAC JTA 49,600 33% 24,800 67% 30,450 59%
12k = 5 FE 5ES [ GLH3) RAC JTA 45,300 28% 22,650 64% 27,850 56%
R () = 5 IE TR E| wE JTA/RAC|JTA/RAC 33,400 8% 16,700 54% 20,300 44%
SREFE AiE JTA/RAC|JTA/RAC 33,400 8% 16,700 54% 20,300 44%

ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/
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2013 FEELHNSRIRMEIG| [ EER

JAL/JTA/JAC/RAC
2013/1/29

ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R FMEIB| INRERI RSB SREAE R REEIB|
B #EpO | #HEHR 3/31 E—7H 331 | E—OH] 331 | E—OH]

EED | KH0 | KE@ | 0210 | BI50E % |eremn  maiE W% |ezens | miaiE %
HR(PHE) =24 [RERR) X448 (BB JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
BEH i (AR ER) JTA/RAG|JAL/JTA 57,700 6% 28,850 53% 35,500 42%
HR(CPHE)=F1E [RZECRA) X448 (BB JAL/JTA|JTA/RAC 61,500 8% 30,750 54% 37.950 43%
RiEH [ GEEHR) JTA/RAC|JAL/JTA 61,500 8% 30,750 54% 37.950 43%
KR (5 =% @31 | Kk (5 5[ R= (CHR) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LI (BT 2%) JAL JAL 50,600 24% 25,300 62% 27,850 58%
ESE N ESACETED) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LI (BT 2) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KWk (B8#E) =% 31| KBk (B8 EE) 5[ = (FH) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LI (BT ) JAL JAL 50,600 24% 25,300 62% 27,850 58%
ESEESACETED) JAL JAL 50,600 25% 25,300 63% 27,850 59%
IR (BT %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KR () =1l [ KB () %55 ) JAL JAL 47,900 28% 23,950 64% 26,200 60%
JENES = ) JAL JAL 47,900 28% 23,950 64% 26,200 60%
AR (A7) =8Il | KRR (BF) % ) JAL JAL 47,900 28% 23,950 64% 26,200 60%
JENES ) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KB () =8I [ KB (75 5[ ) JAL JAL 48,400 26% 24,200 63% 26,500 60%
$IEE % ) JAL JAL 48,400 26% 24,200 63% 26,500 60%
K (BA78) =SIEE [ ARk (BEFR) %[ ) JAL JAL 48,400 26% 24,200 63% 26,500 60%
IR % ) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KIR (D) =I5 [ KB (FF) 5[ ) JAL JAL 47,900 26% 23,950 63% 26,200 60%
LT ) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KW (BA78) =#/5 [ KBk (B7R) %[ ) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HILFE ) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KB () =BEE | KB (FF) 58] ) JAL JAL 48,000 18% 24,000 59% 26,450 55%
BRAESE ) JAL JAL 48,000 18% 24,000 59% 26,450 55%
KR () ==R [KERFH) H[: ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
=J) ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
Rz (BEFG) = =iR ) JAL JAL 40,000 29% 20,000 64% 24,200 57%
) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR () =12 JAC JAC 20,500 37% 10,250 69% 13,100 60%
JAC JAC 20,500 37% 10,250 69% 13,100 60%
KR (R =8BF8 JAC JAC 32,600 22% 16.300 61% 20,850 50%
JAC JAC 32,600 22% 16.300 61% 20,850 50%
KR (D =25 JAL _|JTA/RAC 50,000 9% 25,000 55% 27,500 50%
JTA/RAC| JAL 50,000 9% 25,000 55% 27,500 50%
PNACEIEEE JAL/JTA[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
JTA/RAC|JAL/JTA 50,000 9% 25,000 55% 27,500 50%
KR (FRFH) =% JAL _|JTA/RAC 50,600 16% 25,300 58% 31,000 49%
JTA/RAC| JAL 50,600 16% 25,300 58% 31,000 49%
KR (Bi#8) =R1E JAL/JTA[JTA/RAC 50,600 16% 25,300 58% 31,000 49%
5 E: JTA/RAC|JAL/JTA 50,600 16% 25,300 58% 31,000 49%
ZEHE () =X 5| &5 E (D) | 1UE F TR JAL JAL 46,200 27% 23,100 63% 25,450 60%
i IR (BT %) JAL JAL 46,200 27% 23,100 63% 25,450 60%
AHE(FE) =25 |2tk (P85 %448 G JTA_|JTA/RAC 51,000 14% 25,500 57% 28,150 53%
EEE AR TEE) JTA/RAC| JTA 51,000 14% 25,500 57% 28,150 53%
AHE(FE) =RE|2sE (P85 %468 G JTA_|JTA/RAC 55,200 15% 27,600 57% 28,950 55%
TiEE [HREGEH JTA/RAC| JTA 55,200 15% 27,600 57% 28,950 55%
AR TR =/M = (HH) JAL JAL 39,000 35% 19,500 67% 21,450 64%
FIH) JAL JAL 39,000 35% 19,500 67% 21,450 64%
AR FF ) =M ER ) JAL JAL 41,000 39% 20,500 69% 22,400 66%
BIICE RS FIH) JAL JAL 41,000 39% 20,500 69% 22,400 66%
ALIR (BT m) =R L[ L% F T ) 5| mm (T H) JAL JAL 41,000 40% 20,500 70% 22,400 67%
[N = (HH) JAL JAL 41,000 40% 20,500 70% 22,400 67%
IR FTFH) =LRB[ALRFHTR) %[ RR (FR) JAL JAL 42,000 39% 21,000 69% 23,050 66%
L& % = (HH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
AR T8 = L0 AR FT &) % FIH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
MEESTE ) JAL JAL 49,000 32% 24,500 66% 26,900 63%
IR FTH) =HE[LEFHTR R ) JAL JAL 44,000 36% 22,000 68% 23,950 65%
HES X ) JAL JAL 44,000 36% 22,000 68% 23,950 65%
IR F TR =ES[HLIEFHTR R FIH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
BES R CRH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
IR BT F &) == R LR F Tl %[ RR (HH) JAL JAL 46,000 32% 23,000 66% 25,550 62%
BN = (HH) JAL JAL 46,000 32% 23,000 66% 25,550 62%
#LIR (T3 =& 20| 1L BT ) % FIH) JAL JAL 48,000 31% 24,000 65% 26,500 62%
EH%E ) JAL JAL 48,000 31% 24,000 65% 26,500 62%
ALIR (BT m) =L T ) % ) JAL JAL 51,000 27% 25,500 63% 27,950 60%
NITES ) JAL JAL 51,000 27% 25,500 63% 27,950 60%
FLIRE (FF T %) = LM [ ALIR BT &) | ) JAL JAL 49,000 34% 24,500 67% 26,900 64%
JEAMFE ) JAL JAL 49,000 34% 24,500 67% 26,900 64%
IR F TR =KH [fLIE FHTR) F ) JAL JAL 49,000 33% 24,500 67% 26,900 63%
ARF ) JAL JAL 49,000 33% 24,500 67% 26,900 63%
IR F TR =RIB[HLIEFHTR R ) JAL JAL 51,000 34% 25,500 67% 28,150 63%
RIB S ) JAL JAL 51,000 34% 25,500 67% 28,150 63%
LI (BT m) =RA[fLIE HTR) & ) JAL JAL 50,000 33% 25,000 66% 27,500 63%
REAF ) JAL JAL 50,000 33% 25,000 66% 27,500 63%
IR FTH) = =B HLIEFHTR R ) JAL JAL 51,000 32% 25,500 66% 28,150 62%
EUEFE ) JAL JAL 51,000 32% 25,500 66% 28,150 62%
IR FHTFR) =BRE[ALRFTR) X ) JAL JAL 57,000 26% 28,500 63% 31,350 59%
ERE3 ) JAL JAL 57,000 26% 28,500 63% 31,350 59%
AL GG =l (I [ ALIR (T %) %2 JAL_[JAL/JTA] 59,000 25% 29,500 62% 32,750 58%
JAL_[JAL/JTA] 59,000 26% 29,500 63% 32,750 59%
BEE (PN JAL JTA 59,000 27% 29,500 63% 32,750 59%
] JAL JTA 59,000 29% 29,500 64% 32,750 60%
hHE (IVER) %[ R (H) JAL/JTA]  JAL 59,000 25% 29,500 62% 32,750 58%
JAL/JTA| JAL 59,000 26% 29,500 63% 32,750 59%
JTA JAL 59,000 27% 29,500 63% 32,750 59%
JTA JAL 59,000 29% 29,500 64% 32,750 60%
IR BT F&) =RE[LRFHTR) %[ RR ) JAL JTA 72,200 26% 36,100 63% 41,750 57%
AIEE ) JTA JAL 72,200 26% 36,100 63% 41,750 57%
12 =2 ) EHEES ) JAL JAL 60,000 27% 30,000 64% 33,350 59%
) JAL JAL 60,000 22% 30,000 61% 33,350 57%
ESE N ESACETD) JAL JAL 60,000 27% 30,000 64% 33,350 59%
IR (BT %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
=R =8l EEGES = (HH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
JENED = (HH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
ke =% FEGES GAERE:D) JAL JAL 60,000 25% 30,000 63% 33,350 58%
SR % = (HH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
(RN EEGES GAERE:D) JAL JAL 60,000 24% 30,000 62% 33,350 58%
HILFE = (HH) JAL JAL 60,000 24% 30,000 62% 33,350 58%
(RS [ GES = (HH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
BRAESE = (HH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
B =% [ E N ESR D) JAL JAL 50,000 30% 25,000 65% 28,100 61%
pPNACGEE)) JAL JAL 50,000 21% 25,000 60% 28,100 55%
2 EVACEE)) JAL JAL 50,000 30% 25,000 65% 28,100 61%
KR (75 JAL JAL 50,000 21% 25,000 60% 28,100 55%
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ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR 3/31 E—7H 331 | E—OH] 331 | E—OH]
EEO | KH0 | KE@ | 02810 | Hi50E % |eremn maiE % erens | mmiE %

EHEEIESACEED) JAL JAL 49,500 30% 24,750 65% 27,800 61%
KR (5 JAL JAL 49,500 23% 24,750 61% 27,800 57%
ZR%E [EZEA) JAL JAL 49,500 30% 24,750 65% 27,800 61%
pNACGEE) JAL JAL 49,500 23% 24,750 61% 27,800 57%
1Bk =7e% ERE [ KEREED JAL JAL 48,500 21% 24,250 61% 27,150 56%
&% [ ARED JAL JAL 48,500 21% 24,250 61% 27,150 56%
12k = EESE |[HRCHE) JAL JAL 49,000 25% 24,500 63% 27,050 59%
MEX [EZ@H) JAL JAL 49,000 25% 24,500 63% 27,050 59%
pPNACGEE) JAL JAL 49,000 17% 24,500 59% 27,050 54%
akE =L HEEIESACEED) JAL JAL 45,000 24% 22,500 62% 24,950 58%
pPNACGEE) JAL JAL 45,000 23% 22,500 61% 24,950 57%
W% [Rm(EH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (75 JAL JAL 45,000 23% 22,500 61% 24,950 57%
1Bk =8 KR (R JAL JAL 43,300 22% 21,650 61% 23,700 57%
% [ KR(FFD JAL JAL 43,300 22% 21,650 61% 23,700 57%
faRE =/ B |[HRCHE) JAL JAL 43,000 32% 21,500 66% 23,550 63%
MMAE  [ERFE(CHA) JAL JAL 43,000 32% 21,500 66% 23,550 63%
BE=5% fEm % ) JTA _[JTA/RAC 44,000 9% 22,000 54% 24,300 50%
BEE 8 (R E) JTA/RAC| JTA 44,000 9% 22,000 54% 24,300 50%
BR=R1E B % ) JTA _[JTA/RAC 47,100 12% 23,550 56% 24,750 54%
5 P48 (BRER) JTA/RAC| JTA 47,100 12% 23,550 56% 24,750 54%
TR =E ZimplE |IEEF TR JAL JAL 36,000 33% 18,000 67% 19,500 64%
[ LR (BT ) JAL JAL 36,000 33% 18,000 67% 19,500 64%
TR =R ZimplE |IEEFH TR JAL JAL 37,000 33% 18,500 66% 20,500 63%
FRH [ARETR JAL JAL 37,000 33% 18,500 66% 20,500 63%
R = /MR ES- e E GG JAL JAL 48,000 29% 24,000 64% 26,350 61%
A EFACTED) JAL JAL 48,000 29% 24,000 64% 26,350 61%
Al =i EE | EftEURS [Rm (E) JAL JAL 52,000 30% 26,000 65% 28,800 61%
i A =FE Wl ES e E GG JAL JAL 52,000 31% 26,000 66% 28,800 62%
ENE A ESACED) JAL JAL 52,000 31% 26,000 66% 28,800 62%
TR ES FE R ESEED JAL JAL 55,100 28% 27,550 64% 30,550 60%
LR (BT T 2%) JAL JAL 55,100 23% 27,550 61% 30,550 57%
Le% [EE(RE) JAL JAL 55,100 28% 27,550 64% 30,550 60%
IR (BT F %) JAL JAL 55,100 23% 27,550 61% 30,550 57%
TR =HE ESTIES = (HH) JAL JAL 49,700 35% 24,850 68% 27,850 64%
HES = (HH) JAL JAL 49,700 35% 24,850 68% 27,850 64%
iR =40 ESRIES = (HH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
FALIZ = (HH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
TR =F1E ESRIES = (HH) JAL JTA 79,600 24% 39,800 62% 45,950 56%
AIEE = (HH) JTA JAL 79,600 24% 39,800 62% 45,950 56%
B =/ JENIES = (HH) JAL JAL 48,000 27% 24,000 63% 25,350 61%
IMRFE = (HH) JAL JAL 48,000 27% 24,000 63% 25,350 61%
Bl =Faft R JENE = (HH) JAL JAL 52,000 29% 26,000 64% 28,800 60%
FIft RS RS CRE) JAL JAL 52,000 29% 26,000 64% 28,800 60%
FEJII=Fl JEVIES = (EH) JAL JAL 52,000 30% 26,000 65% 28,800 61%
[ = (HH) JAL JAL 52,000 30% 26,000 65% 28,800 61%
BN=HE IR EEETD) JAL JAL 49,700 34% 24,850 67% 27,850 63%

KR (2 F1) JAL JAC 49,700 27% _[8/2-16MHHE 24,850 64% [8/2-16MHEBE 27,850 59%  |8/2-16MHEE
HEEX [RRCEA) JAL JAL 49,700 34% 24,850 67% 27,850 63%

KR (£ F1) JAC JAL 49,700 27% _ [8/2-160HHE 24,850 64% |8/2-16MHEE 27,850 59% |8/2-16MHEE
FEJII=4210 B [HEECRE) JAL JAL 57,200 24% 28,600 62% 31,700 58%

KR (£ F1) JAL JAL 57,200 15%  [8/2-16DA /T 28,600 57%  |8/2-16MHEE 31,700 53% |8/2-16MHEE
WLE [EEEH) JAL JAL 57,200 24% 28,600 62% 31,700 58%

KR (2 F1) JAL JAL 57,200 15%  [8/2-16DABHE 28,600 57% |8/2-16MHEE 31,700 53% |8/2-16MHEE
fEJII=HR1E JENE = (HH) JAL JTA 78,200 24% 39,100 62% 44,750 57%
AIEE = (EH) JTA JAL 78,200 24% 39,100 62% 44,750 57%
SlEg =/ SR % = (HH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMRFE = (EH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
HIE =B R Pl = (HH) JAL JAL 52,000 28% 26,000 64% 28,800 60%
FIfe RS RS CRE) JAL JAL 52,000 28% 26,000 64% 28,800 60%
g =FaAL Pl = (HH) JAL JAL 52,000 29% 26,000 65% 28,800 61%
[N = (HH) JAL JAL 52,000 29% 26,000 65% 28,800 61%
Sk =558 S5 = (FH) JAL JAL 55,100 26% 27,550 63% 30,550 59%
L&% = (EH) JAL JAL 55,100 26% 27,550 63% 30,550 59%
HIEE=HE SR % = (EH) JAL JAL 49,700 33% 24,850 67% 27,850 63%
HES = (EH) JAL JAL 49,700 33% 24,850 67% 27,850 63%
g =#xl Pl = (HH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
[T = (HH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
Sk ="n1E SR = (EH) JAL JTA 77,600 24% 38,800 62% 44,500 57%
AIEE = (HH) JTA JAL 77,600 24% 38,800 62% 44,500 57%
HIR=/MR LT = (RH) JAL JAL 48,000 26% 24,000 63% 25,350 61%
INEAZE = (HH) JAL JAL 48,000 26% 24,000 63% 25,350 61%
HIR=FAfLAE BILFE = (CRH) JAL JAL 52,000 27% 26,000 64% 28,800 60%
FIfC RS |RE CRE) JAL JAL 52,000 27% 26,000 64% 28,800 60%
L =Rl H 5 5 = (CFH) JAL JAL 52,000 20% 26,000 64% 28,800 60%
FEILLFE = (HH) JAL JAL 52,000 29% 26,000 64% 28,800 60%
HLE=HE HILFE = (HH) JAL JAL 49,700 33% 24,850 66% 27,850 62%
HES = (HH) JAL JAL 49,700 33% 24,850 66% 27,850 62%
L =#al LT = (FH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
FALIFE = (HH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
HR=H1E HILFE = (FH) JAL JTA 77.100 24% 38,550 62% 44,100 57%
AIEE = (HH) JTA JAL 77,100 24% 38,550 62% 44,100 57%
BEE =/ EEEFR = (HH) JAL JAL 40,000 31% 20,000 65% 21,800 62%
IMRFE = (HH) JAL JAL 40,000 31% 20,000 65% 21,800 62%
EEE =M AR HEER = (HH) JAL JAL 51,000 21% 25,500 61% 28,150 57%
FIfe RS RS CRME) JAL JAL 51,000 21% 25,500 61% 28,150 57%
B8R =Fd Ll HEER = (HH) JAL JAL 51,000 23% 25,500 61% 28,150 57%
BN = (HH) JAL JAL 51,000 23% 25,500 61% 28,150 57%
EWiE=IE8 BAESE = (HH) JAL JAL 55,100 17% 27,550 59% 30,400 54%
INCES = (HH) JAL JAL 55,100 17% 27,550 59% 30,400 54%
EWiE=HE HER [ER(EH) JAL JAL 48,700 28% 24,350 64% 27,850 59%
pPNACGEE) JAL JAC 48,700 21% 24,350 60% 27,850 55%
HEEX [ERCHA) JAL JAL 48,700 28% 24,350 64% 27,850 59%
pPNACGEE) JAC JAL 48,700 21% 24,350 60% 27,850 55%
EEE=H0 B EVACEED) JAL JAL 56,100 17% 28,050 59% 31,000 54%
pNACGEE) JAL JAL 56,100 7% 28,050 53% 31,000 49%
WLE [EEEH) JAL JAL 56,100 17% 28,050 59% 31,000 54%
KR (£ JAL JAL 56,100 7% 28,050 53% 31,000 49%
EEE=dL M HEER [HE(PH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
JEAME [H=RCRE) JAL JAL 59,000 19% 29,500 59% 32,700 55%
EE=K% HERX [HZCRE) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (£ JAL JAL 47,000 25% 23,500 62% 25,900 59%
A% |[RZCHA) JAL JAL 47,000 34% 23,500 67% 25,900 64%
pPNACGEE) JAL JAL 47,000 25% 23,500 62% 25,900 59%
EiE =Rk BAESE |[HR(CRHE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
RIE% [HRCRE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
KR (75 JAL JAL 49,000 29% 24,500 64% 26,900 61%

(150F) LM :100F(50F) () IR/NR



20134 E LRI RBEIZ EER S e/

grait R RSB INRERI RSB SREA VBRI TG
B Rat® | #EHRQ 3/31 E—7H 331 | E—OH] 331 | E—OH]
EEO | KH0 | KE@ | 02810 | 50 % |eremn maiE % erens | mmiE %

EAE=AEK HER [EE(HH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
KR (5 JAL JAL 49,000 27% 24,500 63% 26,900 60%
RBA%E |[ERCHA) JAL JAL 49,000 32% 24,500 66% 26,900 63%
pPNACGEE) JAL JAL 49,000 27% 24,500 63% 26,900 60%
EHAE=Fk HER [EE(HH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
pPNACGEE) JAL _|JAL/JAC 49,000 27% 24,500 63% 26,900 60%
BN EEICE JAL JAL 49,000 32% 24,500 66% 26,900 63%
pPNACGEE) JAL/JAC]  JAL 49,000 27% 24,500 63% 26,900 60%
HE=ERS B ESACEED) JAL JAL 50,000 33% 25,000 67% 27,500 63%
pNACGEE) JAL JAC 50,000 29% 25,000 64% 27,500 61%
BEREX [RR(CHH) JAL JAL 50,000 33% 25,000 67% 27,500 63%
pPNACGEE) JAC JAL 50,000 29% 25,000 64% 27,500 61%
EEE=FH1E HEER = (HH) JAL JTA 70,200 26% 35,100 63% 40,150 58%
AIEE R (HH) JTA JAL 70,200 26% 35,100 63% 40,150 58%
BEH= EHER = (CRE) JAL JAL 37,000 34% 18,500 67% 20,500 64%
IMRFE R (EH) JAL JAL 37,000 34% 18,500 67% 20,500 64%
EH=FIAE EHER GAERD) JAL JAL 42,000 34% 21,000 67% 23,050 64%
FIfe RS RS CRE) JAL JAL 42,000 34% 21,000 67% 23,050 64%
HH=mW EHR = (FH) JAL JAL 42,000 35% 21,000 67% 23,050 64%
G R (HH) JAL JAL 42,000 35% 21,000 67% 23,050 64%
EHR=IL5 EHER = (FH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
LE% = (HH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
EHR=LOFE EHER GAERD) JAL JAL 45,000 35% 22,500 67% 24,950 64%
WO FEs (RN (FH) JAL JAL 45,000 35% 22,500 67% 24,950 64%
EHR=HE R EEREED) JAL JAL 42,700 35% 21,350 68% 23,550 64%
pPNACGEE) JAL JAC 42,700 28% 21,350 64% 23,550 60%
HEEX [RRCHA) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (£ JAC JAL 42,700 28% 21,350 64% 23,550 60%
EH=HE 5% |[EmCEHE) JAL JAL 40,000 38% 20,000 69% 21,750 66%
EE%E |[ER(EH) JAL JAL 40,000 38% 20,000 69% 21,750 66%
EH=mn A% [EmCEE) JAL JAL 42,000 34% 21,000 67% 23,050 64%
SR A EGACED) JAL JAL 42,000 34% 21,000 67% 23,050 64%
EH=mA EHE |[ZmCEE) JAL JAL 43,000 35% 21,500 67% 23,700 64%
BA% |[ER(EH JAL JAL 43,000 35% 21,500 67% 23,700 64%
HH=tul R EEREED) JAL JAL 43,000 35% 21,500 68% 23,700 64%
KR (£ JAL JAL 43,000 26% 21,500 63% 23,700 59%
WLE [EREH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
pPNACGEE)) JAL JAL 43,000 26% 21,500 63% 23,700 59%
HEHR=IAM Bty L A CED) JAL JAL 50,000 30% 25,000 65% 28,100 61%
JEAME [H=CRE) JAL JAL 50,000 30% 25,000 65% 28,100 61%
BEHR=KD BA% |[ERECEA) JAL JAL 45,000 36% 22,500 68% 24,950 64%
pPNACGEE)) JAL JAL 45,000 25% 22,500 63% 24,950 59%
A% |[RZCHA) JAL JAL 45,000 36% 22,500 68% 24,950 64%
pPNACGEE) JAL JAL 45,000 25% 22,500 63% 24,950 59%
EHR=RK EHRE ([ER(RH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (£ JAL JAL 49,000 27% 24,500 63% 26,900 60%
RIE%E [HRCRE) JAL JAL 49,000 33% 24,500 67% 26,900 63%
pPNACGEE) JAL JAL 49,000 27% 24,500 63% 26,900 60%
BEHR=RX 2 ESACEE)) JAL JAL 47,000 34% 23,500 67% 25,900 64%

KR (2 F1) JAL JAL 47,000 27% _ [8/2-160HHE 23,500 64% [8/2-16MHBE 25,900 60%  |8/2-16MHEE
BAR [EE(RE) JAL JAL 47,000 34% 23,500 67% 25,900 64%

KR (2 F1) JAL JAL 47,000 27% _ [8/2-160HHE 23,500 64% |8/2-16MHBE 25,900 60%  |8/2-16MHEE
EHR=ER T EVACEE)) JAL JAL 47,000 34% 23,500 67% 25,900 64%
pPNACGEE) JAL_|JAL/JAC 47,000 27% 23,500 64% 25,900 60%
B EEICED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
pPNACGEE) JAL/JAC]  JAL 47,000 27% 23,500 64% 25,900 60%
EHR=ERE 2 EVACEE)) JAL JAL 49,000 33% 24,500 67% 26,900 63%
pPNACGEE) JAL JAC 49,000 28% 24,500 64% 26,900 60%
ERBE [RR(RH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
pNACGEE) JAC JAL 49,000 28% 24,500 64% 26,900 60%
EHR=AE R (J9E) JAL JTA 63,600 32% 31,800 66% 38,900 59%
T ) JTA JAL 63,600 32% 31,800 66% 38,000 59%
ZiR=/Ma ) JAL JAL 37,000 34% 18,500 67% 20,500 63%
) JAL JAL 37,000 34% 18,500 67% 20,500 63%
=F#AE ) JAL JAL 42,000 33% 21,000 67% 23,050 63%
ZiR=FW ) JAL JAL 42,000 34% 21,000 67% 23,050 64%
) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZR=IE8 ) JAL JAL 43,000 34% 21,500 67% 23,700 63%
) JAL JAL 43,000 34% 21,500 67% 23,700 63%
ZR=1LOFH ) JAL JAL 45,000 34% 22,500 67% 24,950 64%
) JAL JAL 45,000 34% 22,500 67% 24,950 64%
ZR=HZE E FIH) JAL JAL 43,900 33% 21,950 66% 24,250 63%
KR (5 JAL JAC 43,900 27% 21,950 64% 24,250 60%
HEEX [RRCHA) JAL JAL 43,900 33% 21,950 66% 24,250 63%
pPNACGEE) JAC JAL 43,900 27% 21,950 64% 24,250 60%
ZR=15 Hm CRE) JAL JAL 40,000 37% 20,000 68% 21,750 66%
R CREA) JAL JAL 40,000 37% 20,000 68% 21,750 66%
ZiR=" Ed ) JAL JAL 42,000 34% 21,000 67% 23,050 64%
Ed ) JAL JAL 42,000 34% 21,000 67% 23,050 64%
Ed ) JAL JAL 42,000 36% 21,000 68% 23,050 65%
Ed ) JAL JAL 42,000 36% 21,000 68% 23,050 65%
[= ) JAL JAL 43,000 35% 21,500 67% 23,700 64%
) JAL JAL 43,000 27% 21,500 64% 23,700 60%
) JAL JAL 43,000 35% 21,500 67% 23,700 64%
) JAL JAL 43,000 27% 21,500 64% 23,700 60%
) JAL JAL 49,500 30% 24,750 65% 27,800 61%
) JAL JAL 49,500 30% 24,750 65% 27,800 61%
) JAL JAL 45,000 35% 22,500 68% 24,950 64%
) JAL JAL 45,000 27% 22,500 63% 24,950 59%
SFIH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
SFIH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
=) JAL JAL 49,000 28% 24,500 64% 26,900 60%
SFIH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
) JAL JAL 49,000 28% 24,500 64% 26,900 60%
SFIH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
) JAL JAL 47,000 28% 23,500 64% 25,900 61%
SFIH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
SFIH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
) JAL_|JAL/JAC 47,000 28% 23,500 64% 25,900 61%
FIER) JAL JAL 47,000 33% 23,500 67% 25,900 63%
) JAL/JAC]  JAL 47,000 28% 23,500 64% 25,900 61%
ZIR=ERE ZiR%E [EZ(EA) JAL JAL 49,000 33% 24,500 66% 26,900 63%
pPNACGEE) JAL JAC 49,000 29% 24,500 64% 26,900 61%
ERBE [RR(CRH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
pPNACGEE) JAC JAL 49,000 29% 24,500 64% 26,900 61%
=R=%AE ZR%E [HEZR(CHA) JAL JTA 63,600 32% 31,800 66% 38,900 58%
AEEX [EZHER) JTA JAL 63,600 32% 31,800 66% 38,900 58%
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grait R RSB INRERI RSB SREA VBRI TG
B Rat® | #EHRQ 3/31 E—7H & 331 | E—OH] 331 | E—OH]
EEO | KH0 | KE@ | 02510 | #i50E W% lerens mimiE % erens | mmiE %
FRE =/ EAX = (HH) JAL JAL 36,000 29% 18,000 65% 19,800 61%
INASE = (HH) JAL JAL 36,000 29% 18,000 65% 19,800 61%
HE=miEE S = (HH) JAL JAL 37,000 36% 18,500 68% 20,500 65%
FIft RS RS CRE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
FXE =Fe L EAE = (HH) JAL JAL 37,000 37% 18,500 69% 20,500 65%
FELLFE = (EH) JAL JAL 37,000 37% 18,500 69% 20,500 65%
ME=LE5 EAX = (HH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
L = (HH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
RE=LOFH FREZ = (HH) JAL JAL 43,000 32% 21,500 66% 23,700 63%
WhOFERs [RR (FH) JAL JAL 43,000 32% 21,500 66% 23,700 63%
ME=HE PR ESETD) JAL JAL 37,000 39% 18,500 69% 20,500 66%
pPNACGEE)) JAL JAC 37,000 33% 18,500 67% 20,500 63%
HEHRX [EERE) JAL JAL 37,000 39% 18,500 69% 20,500 66%
pPNACGEE) JAC JAL 37,000 33% 18,500 67% 20,500 63%
HE=E5 MEAX |[ERGEH JAL JAL 37,000 37% 18,500 68% 20,500 65%
EE%E |[ER(EH) JAL JAL 37,000 37% 18,500 68% 20,500 65%
HE=E% R ESICT:) JAL JAL 40,000 32% 20,000 66% 21,750 63%
o CRE) JAL JAL 40,000 32% 20,000 66% 21,750 63%
HE=FA Hm CRE) JAL JAL 40,000 34% 20,000 67% 21,750 64%
Hm CRE) JAL JAL 40,000 34% 20,000 67% 21,750 64%
FE=#0 == CRE) JAL JAL 42,000 31% 21,000 66% 23,050 62%
pPNACGEE) JAL JAL 42,000 23% 21,000 61% 23,050 58%
R CRE) JAL JAL 42,000 31% 21,000 66% 23,050 62%
pPNACGEE) JAL JAL 42,000 23% 21,000 61% 23,050 58%
FE=1LRM A% [EFE(FH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
JEAME [HECRE) JAL JAL 49,000 25% 24,500 63% 27,050 59%
ME=X% BEE [EZCRE) JAL JAL 43,000 33% 21,500 67% 23,700 63%
pPNACGEE) JAL JAL 43,000 24% 21,500 62% 23,700 58%
RH%E [EERE) JAL JAL 43,000 33% 21,500 67% 23,700 63%
pPNACGEE) JAL JAL 43,000 24% 21,500 62% 23,700 58%
HHE=R&E MEAX [EZ@H) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (5 JAL JAL 45,000 29% 22,500 64% 24,950 60%
RIE% [ERCRH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
pPNACGEE) JAL JAL 45,000 29% 22,500 64% 24,950 60%
E=FEX MEX [EZ@H) JAL JAL 45,000 32% 22,500 66% 24,950 62%
pPNACGEE) JAL JAL 45,000 26% 22,500 63% 24,950 59%
BAR [EE(RE) JAL JAL 45,000 32% 22,500 66% 24,950 62%
pPNACGEE)) JAL JAL 45,000 26% 22,500 63% 24,950 59%
HE=2k MEX [EZEH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
pPNACGEE) JAL_|JAL/JAC 45,000 26% 22,500 63% 24,950 59%
B EEICED JAL JAL 45,000 32% 22,500 66% 24,950 62%
pPNACGEE)) JAL/JAC]  JAL 45,000 26% 22,500 63% 24,950 59%
HE=ERS MERX [ER(RH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
pPNACGEE) JAL JAC 47,000 27% 23,500 63% 25,900 60%
ERBE [RR(CRH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
R (51 JAC JAL 47,000 27% 23,500 63% 25,900 60%
ME=HE PR = (HH) JAL JTA 61,600 30% 30,800 65% 38,000 57%
AIEE = (HH) JTA JAL 61,600 30% 30,800 65% 38,000 57%
ITTZENA Iz = (HH) JAL JAL 35,000 21% 17,500 61% 18,950 57%
INAZE = (HH) JAL JAL 35,000 21% 17,500 61% 18,950 57%
\Lifg = Iz = (HH) JAL JAL 37,000 30% 18,500 65% 20,500 61%
[N = (HH) JAL JAL 37,000 30% 18,500 65% 20,500 61%
W =1L8 Iz = (HH) JAL JAL 38,000 29% 19,000 64% 21,100 60%
L5 = (HH) JAL JAL 38,000 29% 19,000 64% 21,100 60%
WLfz =100 F& Z3 = (HH) JAL JAL 43,000 25% 21,500 62% 23,700 58%
WWOFHE [HR(HH) JAL JAL 43,000 25% 21,500 62% 23,700 58%
W =HE IZ N SACT=:) JAL JAL 38,000 30% 19,000 65% 21,100 61%
KR (5 JAL JAC 38,000 30% 19,000 65% 21,100 61%
HERX [EERE) JAL JAL 38,000 30% 19,000 65% 21,100 61%
pNACGEE) JAC JAL 38,000 30% 19,000 65% 21,100 61%
=15 N2 E SACT=:) JAL JAL 37,000 29% 18,500 64% 20,500 61%
S RRCHEA) JAL JAL 37,000 29% 18,500 64% 20,500 61%
WL == N2 E SACT=:) JAL JAL 37,000 29% 18,500 64% 20,500 61%
BR%E |[EREEH JAL JAL 37,000 29% 18,500 64% 20,500 61%
L =40 22 E SACT=:) JAL JAL 38,000 30% 19,000 65% 21,100 61%
A% |[ER(GEH JAL JAL 38,000 30% 19,000 65% 21,100 61%
Wit =#21l I E SACT=:) JAL JAL 38,000 30% 19,000 65% 21,100 61%
pPNACGEE)) JAL JAL 38,000 29% 19,000 64% 21,100 60%
WLE [EREH) JAL JAL 38,000 30% 19,000 65% 21,100 61%
pPNACGEE) JAL JAL 38,000 29% 19,000 64% 21,100 60%
Wz =dL A dEAmE |[HRCRE) JAL JAL 45,000 24% 22,500 62% 24,950 58%
Wit =K% I Z N VACT:) JAL JAL 44,000 24% 22,000 62% 24,300 58%
pPNACGEE) JAL JAL 44,000 21% 22,000 60% 24,300 56%
K% [RERE) JAL JAL 44,000 24% 22,000 62% 24,300 58%
pPNACGEE) JAL JAL 44,000 21% 22,000 60% 24,300 56%
e =Rk 2 VACT:) JAL JAL 47,000 24% 23,500 62% 26,250 57%
pPNACGEE) JAL JAL 47,000 24% 23,500 62% 26,250 58%
RIE% [ERCRE) JAL JAL 47,000 24% 23,500 62% 26,250 57%
pPNACGEE) JAL JAL 47,000 24% 23,500 62% 26,250 58%
Wi =geR IZEVACT=:) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (£ JAL JAL 45,000 25% 22,500 62% 24,950 58%
BAR [EE(RE) JAL JAL 45,000 24% 22,500 62% 24,950 58%
pPNACGEE) JAL JAL 45,000 25% 22,500 62% 24,950 58%
i ="E IEZNEVACT:) JAL JAL 45,000 24% 22,500 62% 24,950 58%
pPNACGEE)) JAL _|JAL/JAC 45,000 25% 22,500 62% 24,950 58%
BN EEICED JAL JAL 45,000 24% 22,500 62% 24,950 58%
pPNACGEE) JAL/JAC]  JAL 45,000 25% 22,500 62% 24,950 58%
I =ERE I Z N ESACCTEN JAL JAL 47,000 24% 23,500 62% 26,250 57%
pPNACGEE)) JAL JAC 47,000 26% 23,500 63% 26,250 58%
ERBE [RR(CRH) JAL JAL 47,000 24% 23,500 62% 26,250 57%
pPNACGEE) JAC JAL 47,000 26% 23,500 63% 26,250 58%
Wiy =HhiE % [HECRE) JTA JAL 61,600 25% 30,800 62% 38,000 54%
a=mE weasx  [XRUEFE JAL JAC 37,000 31% 18,500 65% 20,500 62%
FET PN JAC JAL 37,000 31% 18,500 65% 20,500 62%
fli& =#10 & KR (R JAL JAL 40,000 23% 20,000 62% 21,750 58%
[T PG ) JAL JAL 40,000 23% 20,000 62% 21,750 58%
la=xX% & KR (R JAL JAL 42,000 23% 21,000 61% 23,050 58%
KH% [ KREFFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
e =Kk [ KR (R JAL JAL 45,000 26% 22,500 63% 24,950 59%
I A PNACGIE)) JAL JAL 45,000 26% 22,500 63% 24,950 59%
i =rX & KR (R JAL JAL 43,000 27% 21,500 63% 23,700 60%
REA% [ KR(EFFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
e ==k & KR (R JAL _|JAL/JAC 45,000 23% 22,500 62% 24,950 57%
EEEEENAGE)) JAL/JAC]  JAL 45,000 23% 22,500 62% 24,950 57%
WeE=ERS e [XRUEFER JAL JAC 45,000 27% 22,500 64% 24,950 60%
ERE% [KR@FF JAC JAL 45,000 27% 22,500 64% 24,950 60%
FR=HE Fin%x [ ARUFM JAL JAC 34,000 34% 17,000 67% 18,550 64%
HER [ KR@EFFD JAC JAL 34,000 34% 17,000 67% 18,550 64%

ORFCAE) AHE (PE) | LAMSERBR L. MEHTHAORICIIREERE AR IE
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ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/

grait R RSB INRERI RSB SREA VBRI TG
B Rat® | #EHRQ 3/31 E—7H 331 | E—OH] 331 | E—OH]
EEO | KH0 | KE@ | 02510 | Hi50E % |eren maiE % erens | mmiE %
FR=H0 KR (R JAL JAL 37,000 27% 18,500 63% 20,500 59%
KR (£ JAL JAL 37,000 27% 18,500 63% 20,500 59%
FR=K% KR (R JAL JAL 40,000 24% 20,000 62% 21,750 59%
pNACGEE) JAL JAL 40,000 24% 20,000 62% 21,750 59%
FR=R& KR (R JAL JAL 43,000 27% 21,500 64% 23,700 60%
pPNACGEE)) JAL JAL 43,000 27% 21,500 64% 23,700 60%
FR=FEAX KR (R JAL JAL 42,000 26% 21,000 63% 23,050 59%
KR (75 JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=Ek KR (R JAL _|JAL/JAC 42,000 26% 21,000 63% 23,050 59%
PNACGEE)) JAL/JAC]  JAL 42,000 26% 21,000 63% 23,050 59%
FR=ERS i KBR (FFFD JAL JAC 43,000 20% 21,500 64% 23,700 61%
ERE% [KR@FF JAC JAL 43,000 29% 21,500 64% 23,700 61%
NR=TEL INEAZE = (HH) JAL JAL 35,000 38% 17.500 69% 19,350 66%
[ = (HH) JAL JAL 35,000 38% 17.500 69% 19,350 66%
IME=IEE INEASE = (HH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
IS R (HH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
IME=ILOFE IMRFE = (HH) JAL JAL 40,000 34% 20,000 67% 22,200 63%
WO =FERs [RR (FH) JAL JAL 40,000 34% 20,000 67% 22,200 63%
IME=HE INEASE R (HH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
ES = (HH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
IMA=TER INEASE R (HH) JAL JAL 34,000 39% 17.000 70% 18,900 66%
EEE R (HH) JAL JAL 34,000 39% 17.000 70% 18,900 66%
INR=TFH INEASE = (EH) JAL JAL 35,000 37% 17.500 69% 18,950 66%
EIFE R (HH) JAL JAL 35,000 37% 17.500 69% 18,950 66%
INR=TFH INASE R (HH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
=A% R (HH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
AN =410 INEASE R (HH) JAL JAL 37,000 36% 18,500 68% 20,500 65%
[T R (HH) JAL JAL 37,000 36% 18,500 68% 20,500 65%
MR =L T INEASE = (HH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
EZR I R (EH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=KH INEASE = (HH) JAL JAL 42,000 32% 21,000 66% 22,850 63%
K5 = (HH) JAL JAL 42,000 32% 21,000 66% 22,850 63%
M=Kk INAZE = (HH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
RIE% = (HH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IME=FER INEASE = (HH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
REAZ = (HH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
IME=H IR INASE = (HH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
EEES = (HH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
MA=ERE NASE = (HH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
ERE3 = (HH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IME=EE INEASE i JTA_|JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EREEd JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
INR=TF1E INEASE JAL JTA 61,600 28% 30,800 64% 38,000 56%
JTA_|JTA/RAC 61,600 8% 30,800 54% 38,000 43%
RIEX JTA JAL 61,600 28% 30,800 64% 38,000 56%
JTA/RAC| JTA 61,600 8% 30,800 54% 38,000 43%
BL==% JTA_|JTA/RAC 50,000 9% 25,000 55% 27,500 50%
JTA/RAC| JTA 50,000 9% 25,000 55% 27,500 50%
&l =R JTA_|JTA/RAC 52,000 14% 26,000 57% 31,000 49%
JTA/RAC| JTA 52,000 14% 26,000 57% 31,000 49%
BH==E JAL/JAC|JAL/JAC 27,700 42% 13,850 71% 17.750 63%
JAL/JAC|JAL/JAC 27,700 42% 13,850 71% 17.750 63%
BERB=5H JAC JAC 19,650 27% 9,850 63% 12,550 53%
JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE="KERE JAC JAC 16,800 43% 8,400 72% 12,650 57%
3 5k JAC JAC 16,800 43% 8,400 72% 12,650 57%
R (B =F ) JAL/JTA|  JAL 54,000 28% 27,000 64% 29,750 60%
& ) JAL_[JAL/JTA] 54,000 28% 27,000 64% 29,750 60%
PR (RE) ==iR ) JAL/JTA|  JAL 54,000 28% 27,000 64% 29,750 60%
REE ) JAL_[JAL/JTA] 54,000 28% 27,000 64% 29,750 60%
AR () =R E [ (BB 3 ) JAL/JTA|  JAL 52,000 25% 26,000 63% 28,800 59%
PN ) JAL_|JAL/JTA] 52,000 25% 26,000 63% 28,800 59%
SRR (ARE) = ILF [ GRE) % ) JAL/JTA|  JAL 52,000 18% 26,000 59% 28,800 55%
Z3 ) JAL_[JAL/JTA] 52,000 18% 26,000 59% 28,800 55%
SRR () =flE 8B % JTA JAL 52,800 30% 26,400 65% 28,950 62%
aE%E JAL JTA 52,800 30% 26,400 65% 28,950 62%
PR (RS =/M2 [ GRE) %[ CRHE) JAL/JTA]  JAL 48,000 28% 24,000 64% 26,200 61%
MAE  [REFECHA) JAL_[JAL/JTA] 48,000 28% 24,000 64% 26,200 61%
HEEB) =5 MHR@EB X EE JTA _[JAL/JAC 32,400 42% 16.200 71% 20,150 64%
SR FeER] JAL/JAC] JTA 32,400 42% 16,200 71% 20,150 64%
PR (S =Rl AR BB) R  BE JTA JAC 33,500 36% 16.750 68% 17,850 66%
[N EEE] JAC JTA 33,500 36% 16.750 68% 17,850 66%
EEC RS E VA I JAL JAC 45,800 31% 22,900 66% 28,100 58%
pNACGE ) JAL JAL 45,800 27% 22,900 64% 28,100 55%
BEXBE | BERE JAC JAL 45,800 31% 22,900 66% 28,100 58%
PGS JAL JAL 45,800 27% 22,900 64% 28,100 55%
RRECRE) =ERB|RRCAE) %[ _ERE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEAE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERBR BER JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
RECHR) =@zB|RR AR %] _ER JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
(A= BER JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
R PH) =FkRHB[RFZCARAH| EE JAL JAC 48,350 32% 24,200 66% 30,050 57%
Pk RARRE | _BER JAC JAL 48,350 32% 24,200 66% 30,050 57%
5 | JAC JAL 48,350 26% 24,200 63% 30,050 54%
BEXE | JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RRCRE)=5# JAL JAC 48,750 32% 24,400 66% 30,300 58%
JAC JAL 48,750 32% 24,400 66% 30,300 58%
JAC JAL 48,700 28% 24,350 64% 30,250 56%
BEXE | JAC JAC JAL | 48,700 35% 24,350 68% 30,250 60%
KRR =BEAB| KR (FHD | ER JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEXEH | BIR JAC JAC 40,700 25% 20,350 63% 24,700 55%
KR (D) =ERB| KR (P E|_ER JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERBR BER JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (FD =BzB| KR (FEDFE[_ER JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAL JAC 42,900 17% 21,450 59% 26,250 49%
(A= BER JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR (R =Xk B8 | KR (R | ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
kRS | B JAC JAC 43,250 26% 21,650 63% 26,700 54%
PNACZSECE S R JAC JAC 43,650 27% 21,850 64% 26,950 55%
ER JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=BXXE BER JAC JAC 32,750 20% 16.400 64% 19,700 57%
ER JAC JAC 32,750 29% 16.400 64% 19,700 57%
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grait R RSB INRERI RSB SREA VBRI TG
B REpO | FHEHR 3/31 E—7H 331 | E—OH] 331 | E—OH]
XA X2 XEE 8/2-8/16 §|]§|$x ﬁﬁ% 8/2-8/16 §|]§|$ ﬁﬁ% 8/2-8/16 §|]§|$ ﬁﬁ%
EE=ERE EHEES BEIR JAC JAC 33,650 25% 16.850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16.850 62% 20,600 53%
ERBR BER JAC JAC 33,650 25% 16.850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16.850 62% 20,600 53%
EE=fE28 EHEES BEIR JAC JAC 34,150 31% 17.100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17.100 64% 20,700 57%
(A= BER JAC JAC 34,150 31% 17.100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17.100 64% 20,700 57%
1akE =ik RE&R EHGES BE'R JAC JAC 35,300 30% 17.650 65% 21,700 57%
Pk EARSE | B JAC JAC 35,300 30% 17.650 65% 21,700 57%
18kt =55k e 5 R JAC JAC 35,700 31% 17.850 66% 21,950 58%
% EEIRE JAC JAC 35,700 31% 17.850 66% 21,950 58%
RECRE)=5BERZCAR K| FHiE JTA_|JTA/RAC 61,600 17% 30,800 58% 38,000 49%
ERER [HRGEH RAC _[JAL/JTA 61,600 19% 30,800 60% 38,000 50%
aia JTA/RAC| JTA 61,600 17% 30,800 58% 38,000 49%
AR(FFD=5BE] SMEFE [ GEH) RAC JAL 52,000 26% 26,000 63% 31,050 56%
Kk (B%) =5ME| AR (BEF) %[ FHiE JTA_|JTA/RAC 52,000 17% 26,000 59% 31,050 51%
CENEE T TE ) RAC _[JAL/JTA 52,000 26% 26,000 63% 31,050 56%
aiE JTA/RAC| JTA 52,000 17% 26,000 59% 31,050 51%
2HE(FH) =58E] SPEE [l GHR) RAC JTA 54,000 27% 27,000 64% 30,450 59%
12k = 5 FE 5ES [ GLH3) RAC JTA 51,900 18% 25,950 59% 27,850 56%
R () = 5 IE TR E| wE JTA/RAC|JTA/RAC 33,400 8% 16,700 54% 20,300 44%
SREFE AiE JTA/RAC|JTA/RAC 33,400 8% 16,700 54% 20,300 44%

ORFCHE), AHE (PH) | LAMBHBRIE. MEHTHAORICMREEREREIZ
MEEELLHIEBE LRIIROOTHLRITET
HEB|IRMSHY) FH:170M (80F) HER: 300/
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EEEAR - 2013/1/29 ~
RERT 4/1-4/26 BEL 3/31 B
X b:3::5:00) T 5/7-6/30 i "E 4/27-5/6 | E|3|%

RR(PE)=Bd RECAE)E | H#E3RH) | JAL/JTA [ JTA/RAC 36,000 38% J— p—
R P8 (BRER) [ JTA/RAC | JAL/JTA 36,000 38% p— p—
HRCHA)=F1E HECHE)F P8 (BRER) | JAL/JTA [ JTA/RAC 36,300 43% p— p—
RiEH JhiE (FBER) | JTA/RAC | JAL/JTA 36,300 43% J— p—
KR (R FH =% 51 KB (75 5 R CHEA) JAL JAL 35,800 44% p— p—
FLIR G a%) JAL JAL 35,800 43% p— p—
iR F RERCRH) JAL JAL 35,800 44% p— p—
LR (FTF ) JAL JAL 35,800 43% p— p—
KR (BE#E) =X &5 PNUAGEDES EGACELED) JAL JAL 35,800 44% [— p—
FLIE (T JAL JAL 35,800 43% p— p—
iR F EGACELED) JAL JAL 35,800 44% p— p—
FLIR G a%) JAL JAL 35,800 43% p— p—
K (FFH =18 AR (FFH 3 EGACElED) JAL JAL 34,900 44% p— p—
JBJIFE R CHEA) JAL JAL 34,900 44% p— p—
Kk (B#E) =Rl PNUAGEEDES EGACEED) JAL JAL 34,900 44% [— p—
JBJIFE R CHEA) JAL JAL 34,900 44% p— p—
K (FFH =8I% AR (FFH 3 E AR JAL JAL 33,700 45% p— p—
1% 58 EGACElED) JAL JAL 33,700 45% p— p—
KPR (BE#E) =#IR% ABR(BAFE) ¥ | HRCHA) JAL JAL 33,700 45% J— p—
S 3¢ EGACElED) JAL JAL 33,700 45% p— p—
K (FFH =FIa AR (FFH % EGACELED) JAL JAL 32,700 46% p— p—
HILF EGACELED) JAL JAL 32,700 46% p— p—
K (BdE) =F5a X (B7E) 3 EGACELED) JAL JAL 32,700 46% p— p—
HILF EGACELED) JAL JAL 32,700 46% p— p—
K (FFH =BEER KBR (75 5 R CHEA) JAL JAL 32,400 40% [ p—
BREEF EGACELED) JAL JAL 32,400 40% p— p—
KB (A ==iR Mﬁ(ﬁ*ﬂ)% R CHEA) JAL JAL 30,200 42% [ p—
RFE EGACElED) JAL JAL 30,200 42% p— p—
K (BdE) ==iR Mﬁ(ﬁﬁﬁ)% EGACElED) JAL JAL 30,200 42% p— p—
ZIR% R CHEA) JAL JAL 30,200 42% p— p—
KR () =Rk KB (FFF) 5 = JAC JAC 19,500 38% [— p—
[ETES ] JAC JAC 19,500 38% [— p—
KiR(BFD =8F5 | KRUFFD R BEES JAC JAC 31,000 21% J— p—
BETEX BRE JAC JAC 31,000 21% p— p—
KR (D =& ABR(BEFDFE | i GRE) JAL | JTA/RAC 34,400 33% J— p—
e ShEEGRE) [ JTA/RAC|  JAL 34,400 33% p— p—
KB (B#E) =B& ABR(BEFE) & | H#E(BF) | JAL/JTA [ JTA/RAC 34,400 33% J— p—
i S8 (ARE) | JTA/RAC| JAL/JTA 34,400 33% p— p—
KR (FFH =F1E pNUACGEES P8 (ARER) JAL | JTA/RAC 32,800 43% [— p—
RiEH hiE (FBFR) | JTA/RAC JAL 32,800 43% J— p—
Kk (Bid8) =FH1E PNUAGEEDES P8 (BRER) | JAL/JTA [ JTA/RAC 32,800 43% [— p—
HIEH 48 (ARE) | JTA/RAC | JAL/JTA 32,800 43% j— p—
£EE(PE) =%ER | KEE (R H | AWIEGETR) JAL JAL 31,900 46% J— p—
ESE | ALIR (BT %) JAL JAL 31,900 46% J— p—
A2EE(FE) =24 | £AGEPEK | hEGEH) JTA | JTA/RAC 35,200 37% J— p—
i SPHE(RER) [ JTA/RAC]  JTA 35,200 37% p— p—
£EE(PE)=FHIE %EE(:P*B) % | B (ERE) JTA | JTA/RAC 33,800 45% J— p—
E5 P8 (BB#) | JTA/RAC JTA 33,800 45% [ p—
LR (BT F %) =/ *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 25,800 53% p— p—
IMRFE EGACELED) JAL JAL 25,800 53% p— p—
IR G TR =@ ARG TR) R | HRCRA) JAL JAL 31,300 50% p— p—
EiCEER R CHH) JAL JAL 31,300 50% p— p—
AR (FFR) =@ [ AIRGHTFR)H | ERCHH) JAL JAL 31,300 51% p— p—
] LLI R CHEA) JAL JAL 31,300 51% p— p—
AREFFR) =L [ FIEEGTFRH | ERCHH) JAL JAL 32,100 50% p— p—
NSRS RFCREA) JAL JAL 32,100 50% p— p—
IR FFR) =IO ARETFR)H | ZRRCHH) JAL JAL 33,600 51% p— p—
IsESES HRE(CRHE) JAL JAL 33,600 51% p— p—
IR (FFR) =HE *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 30,000 54% p— p—
EGACElED) JAL JAL 30,000 54% p— p—
IR FFR) =S *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 31,200 50% p— p—
mE% RFCRMA) JAL JAL 31,200 50% p— p—
IR (FFR) =it *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 32,000 49% p— p—
EGACElED) JAL JAL 32,000 49% p— p—
IR (FFRE) =24 *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 33,200 49% p— p—
fSEa EGACElED) JAL JAL 33,200 49% p— p—
AR (FF) =l [ ALIRGHTFR)H | ERCHA) JAL JAL 35,000 46% p— p—
[NITE: R CHEA) JAL JAL 35,000 46% p— p—
ARG FR) =dtAM [ ARG TFR) F | RECHE) JAL JAL 33,600 52% J— p—
B[Rk EGACElED) JAL JAL 33,600 52% [ p—
R EFFR) =K [ HEGEGTFRH | RRCHH) JAL JAL 33,600 51% p— p—
RoF EGACElED) JAL JAL 33,600 51% p— p—
R EFFR) =R [ AIEEGTFRH | RRCHH) JAL JAL 35,200 51% p— p—
FI5H EGACELED) JAL JAL 35,200 51% p— p—
IR T =& | ARGITRH | RRCHEA) JAL JAL 34,400 51% J— p—
REARF EGACELED) JAL JAL 34,400 51% p— p—
R FFR) == [ AIRGETFRH | ERCHH) JAL JAL 35,200 50% p— p—
EGES RFECRMA) JAL JAL 35,200 50% p— p—
IR FR)=ERS *LWE(%)H’-%’&) % | WRCHH) JAL JAL 39,200 46% J— p—
EREH EGACELED) JAL JAL 39,200 46% p— p—
IR EFTFR) =B FH | FIRFFH) R | EZCHH) JAL JAL/JTA 40,300 46% p— p—
KBx (B7E) JAL JAL/JTA 40,300 47% j— p—
2R (FEf) JAL JTA 40,300 47% p— p—
1= JAL JTA 40,300 49% p— p—
hiE (IRER) HRCHE) [ JAL/JTA JAL 40,300 46% p— p—
KR (BFE) | JAL/JTA JAL 40,300 47% j— p—
ZEE(PER) JTA JAL 40,300 47% p— p—
FEIE) JTA JAL 40,300 49% p— p—
ARG TR =FE [ MRGEGTHH | RRCHH) JAL JTA 49,600 47% J— p—
RIEH R CHEA) JTA JAL 49,600 47% p— p—

ORFRCHMR) . B EE (PED) | dbIMNREBRIR(S. MEHEADOKRICMREIER LR IZ

MEBELLLCEAE LRI DOTHLE o
HMEEOXMEHY) FE:170M (80M) ER:300M (150M) JLAM : 100/ (50M) () IF/MR
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rEMREI7 EER(3A31 H~6AS0HERS) IALLTA/10/rAS

EEEAR 2013/1/29 ~
XS P T O) BESRH 4/1-4/26 zﬁ"%"%ﬁ = 3/31 gﬁﬁ‘g
RED | FEo 5/7-6/30 5% 4/27-5/6 | E|BIF
1aRE =2 ) FFES EGACELED) JAL JAL 39,800 49% p— p—
LR (FTF %) JAL JAL 39,800 45% p— p—
ES=EIES EGACELED) JAL JAL 39,800 49% p— p—
FLIE (T F %) JAL JAL 39,800 45% p— p—
(RN [ ES R (FIH) JAL JAL 35,700 53% p— ——
JBJIFE EGACElED) JAL JAL 35,700 53% p— p—
2 = I a5 RECREA) JAL JAL 35,200 53% p— p—
S EGACElED) JAL JAL 35,200 53% p— p—
BRI =5 [ ES R (FIH) JAL JAL 35,700 52% p— ——
HILSE RFECREA) JAL JAL 35,700 52% p— p—
12 =R a5 R CHH) JAL JAL 39,500 42% p— p—
ENEES RFECREA) JAL JAL 39,500 42% p— p—
B =F% faE 5 RECREA) JAL JAL 39,400 41% p— p—
KB (71 JAL JAL 39,400 33% J— p—
AR HFRCRHE) JAL JAL 39,400 41% p— p—
KB (71 JAL JAL 39,400 33% J— p—
ER==IR FwES R CHH) JAL JAL 39,000 41% p— p—
KB (71 JAL JAL 39,000 35% J— p—
ZiR% EGACElED) JAL JAL 39,000 41% p— p—
KB (FF1) JAL JAL 39,000 35% J— p—
BRI =15 FEGES KB (FFD JAL JAL 38,600 32% p— p—
TEE S KB F#F JAL JAL 38,600 32% p— p—
fER=%E [ HEES R (FIH) JAL JAL 33,900 45% p— ——
FEF HRCRHE) JAL JAL 33,900 45% p— p—
KB (71 JAL JAL 33,900 38% J— p—
2k = 1Lf2 FHES R (FIH) JAL JAL 29,600 46% p— ——
KB (71 JAL JAL 29,600 45% J— p—
[I}Z 3 R CHEA) JAL JAL 29,600 46% p— p—
KB (FF1) JAL JAL 29,600 45% J— p—
&R =%k 1 F KR (FF) JAL JAL 31,800 38% p— p—
RS KB FR#FH JAL JAL 31,800 38% J— p—
1R =/ [HRES R CHH) JAL JAL 29,500 50% p— ——
IMRFE RER CRH) JAL JAL 29,500 50% p— p—
ER==4 [ HRES B8 GRER) JTA__| JTA/RAC 31,200 31% p— ——
i SPIE(RE) [ JTA/RAC]  JTA 31,200 31% p— p—
R =R [ HEES B8 GRER) JTA__| JTA/RAC 33,900 33% p— ——
RiEH s (ARE) | JTA/RAC JTA 33,900 33% J— p—
Zmil =& ESCLE S L% (37 F %) JAL JAL 24,400 51% p— p—
=% Lig B F5%) JAL JAL 24,400 51% p— p—
ZiER =8 S E L% (37 F %) JAL JAL 25,600 50% J— p—
Fibokis L% (37 F %) JAL JAL 25,600 50% J— p—
Zim A=/ Sk HR(CRHE) JAL JAL 32,700 48% p— p—
IMRFE EGACElED) JAL JAL 32,700 48% p— p—
KA =R R EflEER RFECREA) JAL JAL 36,000 49% p— p—
i Bl =FRa L S vk HR(CRHE) JAL JAL 36,000 49% p— p—
] LLI EGACElED) JAL JAL 36,000 49% p— p—
ZimAl=IL8 SRS EGACELED) JAL JAL 38,200 47% p— p—
LR (T F ) JAL JAL 38,200 43% p— p—
PN=ES EGACELED) JAL JAL 38,200 47% p— p—
LR (T F ) JAL JAL 38,200 43% p— p—
ZiER=HE ESLE S RFECREA) JAL JAL 34,700 52% J— p—
HES R CHEA) JAL JAL 34,700 52% p— p—
Zim Al =0 Sk EGACELED) JAL JAL 39,600 46% p— p—
FALLFE EGACElED) JAL JAL 39,600 46% p— p—
ZimAl=HhiE S vk EGACELED) JAL JTA 55,700 45% p— p—
RiES EGACElED) JTA JAL 55,700 45% p— p—
JENTENIN A JENIE:S RFECREA) JAL JAL 32,700 47% p— p—
NS R CHEA) JAL JAL 32,700 47% p— p—
BINI=maE JENIES EGACELED) JAL JAL 36,000 47% p— p—
EiCEESR R CHEA) JAL JAL 36,000 47% [ p—
BN =L ETITE: RECREA) JAL JAL 36,000 48% p— p—
] LLI & EGACElED) JAL JAL 36,000 48% p— p—
BNI=HE JENIES EGACELED) JAL JAL 34,700 51% p— p—
HES R CHEA) JAL JAL 34,700 51% p— p—
JENITEE AT JETIE:S RECREA) JAL JAL 39,600 45% p— p—
[NIIE EGACElED) JAL JAL 39,600 45% p— p—
BII=%H1E ENIE:S RECREA) JAL JTA 51,700 48% p— p—
RiESH EGACElED) JTA JAL 51,700 48% p— p—
ETEEA FEES R CRHE) JAL JAL 32,700 46% p— p—
IMRFE E ARl JAL JAL 32,700 46% p— p—
SR =FfCHE PR3 IR () JAL JAL 36,000 47% p— p—
EACEESR R CHEA) JAL JAL 36,000 47% [ p—
EE =Wl R3S R CHH) JAL JAL 36,000 48% p— p—
R LLI 5 EGACElED) JAL JAL 36,000 48% p— p—
fIB=L5 PR3 3R CHH) JAL JAL 38,200 45% p— p—
RS EGACELED) JAL JAL 38,200 45% p— p—
fi=HE PR3 3R CHH) JAL JAL 34,700 51% p— p—
HEH EGACElED) JAL JAL 34,700 51% p— p—
#pg=Hl P33 3R CHH) JAL JAL 39,600 44% p— p—
[NITE:3 R CHEA) JAL JAL 39,600 44% p— p—
fig=rxiE PR3 R CRH) JAL JTA 54,900 44% p— p—
RiEH R CHEA) JTA JAL 54,900 44% p— p—
L =M L R (FIH) JAL JAL 32,700 46% p— ——
IMRFE EGACELED) JAL JAL 32,700 46% p— p—
wh=FREE ELE EACELED) JAL JAL 36,000 47% p— p—
EiCEESR EGACELED) JAL JAL 36,000 47% p— p—
HL=MEW L R (FIH) JAL JAL 36,000 47% p— ——
FElLLI 5 EGACElED) JAL JAL 36,000 47% p— p—
BL=HE LS ESACEE)) JAL JAL 34,700 50% p— p—
HER R CHEA) JAL JAL 34,700 50% p— p—
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wL=H L R (FIH) JAL JAL 39,600 44% p— p—
[N R CHEA) JAL JAL 39,600 44% p— p—
HLh=RiE TR IR CHH) JAL JTA 54,200 45% p— p—
RiESH R CHEA) JTA JAL 54,200 45% p— p—
AR =/ A AR R (FIH) JAL JAL 26,800 50% p— ——
IMNRFE EGACElED) JAL JAL 26,800 50% p— p—
=R HE AR IR () JAL JAL 34,900 42% p— p—
FiEESR R CHEA) JAL JAL 34,900 42% [ p—
EEE=MW HEEH R CHH) JAL JAL 34,900 43% p— ——
] LLI & R CHEA) JAL JAL 34,900 43% p— p—
HE=IL5 EEES R CHH) JAL JAL 37,700 39% p— p—
PNEES RFECREA) JAL JAL 37,700 39% p— p—
HiEE=HE g RFECREA) JAL JAL 33,700 46% p— p—
KB (71 JAL JAC 33,700 42% J— p—
HER EGACElED) JAL JAL 33,700 46% p— p—
KB (71 JAC JAL 33,700 42% J— p—
EHEE=Hl HEHX R CHH) JAL JAL 38,400 39% p— ——
KB (71 JAL JAL 38,400 31% J— p—
[N R CHEA) JAL JAL 38,400 39% p— p—
KB (71 JAL JAL 38,400 31% J— p—
BEAE =L EREEF EGACELED) JAL JAL 32,400 52% p— p—
E[#BIE: EGACELED) JAL JAL 32,400 52% [ p—
HEE=K5 g HFRCRHE) JAL JAL 32,400 52% p— p—
KB (71 JAL JAL 32,400 44% J— p—
Ko R CHEA) JAL JAL 32,400 52% p— p—
KB (FF1) JAL JAL 32,400 44% J— p—
HE=RI& AR RECREA) JAL JAL 33,600 52% p— p—
RIGH HRECRHE) JAL JAL 33,600 52% p— p—
KBR (71 JAL JAL 33,600 48% J— p—
BHEE=FEX RS RECREA) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 46% J— p—
A% BHERCRH) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 46% J— p—
HE=E& RS HR CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL/JAC 33,600 46% J— p—
EGES RFECREA) JAL JAL 33,600 51% p— p—
KR (F#FH | JAL/JAC JAL 33,600 46% J— p—
EHE=ERS EHEEEF HRCRHE) JAL JAL 34,400 51% p— p—
KB (71 JAL JAC 34,400 48% J— p—
EREH HRCRHE) JAL JAL 34,400 51% p— p—
KB (71 JAC JAL 34,400 48% J— p—
HE=R1E HEEH R CHH) JAL JTA 48,000 47% p— ——
RIS R CHEA) JTA JAL 48,000 47% p— p—
BH=/ML EHE EACELED) JAL JAL 25,600 51% p— p—
IMRFE EGACELED) JAL JAL 25,600 51% p— p—
EH=miLaE EHE R CHH) JAL JAL 28,800 51% p— p—
EiCEESR R CHEA) JAL JAL 28,800 51% [ p—
BFH=MEL EHE EGACELED) JAL JAL 28,800 52% p— p—
Ff LI ¢ R CHEA) JAL JAL 28,800 52% p— p—
EHR=IL5 R R CHH) JAL JAL 29,600 51% p— p—
NEES RFCREA) JAL JAL 29,600 51% p— p—
BHA=LOFY BERR RFECREA) JAL JAL 31,200 52% p— p—
I=ESE3 EGACElED) JAL JAL 31,200 52% p— p—
EHR=HE 33 RECREA) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 48% J— p—
HER BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 48% J— p—
EHR=0E5 R R CHH) JAL JAL 30,600 49% p— p—
mE% EGACElED) JAL JAL 30,600 49% p— p—
BHR=m EHRE EACELED) JAL JAL 28,800 52% p— p—
EinS EGACElED) JAL JAL 28,800 52% p— p—
BHR=EA EHRE EACELED) JAL JAL 29,600 52% p— p—
EEI% EGACElED) JAL JAL 29,600 52% p— p—
FHE=RL EHE R CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
PAIIE S EGACELED) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
BHE=ILAM BERH RFECREA) JAL JAL 31,200 53% p— p—
E[#RIE: EGACElED) JAL JAL 31,200 53% [ p—
BEHR=K7 33 HR CHH) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
Ko HERCRH) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
EHR=R& 33 R CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
RIGH HRCRHE) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
EHR=EX R RECREA) JAL JAL 32,400 51% p— p—
RS EGACElED) JAL JAL 32,400 51% p— p—
EHR=2& 33 RECREA) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL/JAC 32,400 46% J— p—
EGES RFECREA) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 46% J— p—
BEHR=ERE EHRH R CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 47% J— p—
BREH EGACELED) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 47% J— p—
EH=RE ERR R (CBH) JAL JTA 46,300 48% p— p—
RIEH R CHEA) JTA JAL 46,800 48% p— p—
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ZIR=/2 =R% EGACElED) JAL JAL 25,600 50% p— p—
IMRFE EGACElED) JAL JAL 25,600 50% p— p—
ZIR=FM#HaE EflEER EGACElED) JAL JAL 28,800 51% [— p—
=R=M@wW =iR% R CHH) JAL JAL 28,800 52% p— p—
FE LI 3¢ EGACElED) JAL JAL 28,800 52% p— p—
ZR=LE5 =R EGACElED) JAL JAL 29,600 51% p— p—
PNEES RFECREA) JAL JAL 29,600 51% p— p—
=R=WAF4 =R% R (FIH) JAL JAL 31,200 51% p— ——
eSS EGACElED) JAL JAL 31,200 51% p— p—
=R=HE =iR% HR CHH) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 49% J— p—
HE BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 49% J— p—
=R=1% R (FIH) JAL JAL 30,100 49% p— ——
EGACEED) JAL JAL 30,100 49% p— p—
ZiR=2i R (FIH) JAL JAL 28,800 51% p— p—
EGACElED) JAL JAL 28,800 51% p— p—
=iR=&% R (FIH) JAL JAL 28,800 53% p— ——
EGACElED) JAL JAL 28,800 53% p— p—
=R=#1l R CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
EGACEED) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
=R=ALhM R (FIH) JAL JAL 31,200 53% p— ——
E[&RIE: EGACELED) JAL JAL 31,200 53% [ p—
ZIR=X% ZIR% HERCRH) JAL JAL 31,200 52% p— p—
KB (FF1) JAL JAL 31,200 45% J— p—
KoF EGACElED) JAL JAL 31,200 52% p— p—
ZIR=RI& =R RECRA) JAL JAL 33,600 51% J— f—
KBR (71 JAL JAL 33,600 47% J— p—
RIGH HRECRHE) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 47% J— p—
ZIR=FEX =iR% BHERCRH) JAL JAL 32,400 51% p— p—
KBR (71 JAL JAL 32,400 47% J— p—
RER S EGACEED) JAL JAL 32,400 51% p— p—
ZIR=EI& =R RECRA) JAL JAL 32,400 51% J— f—
KB (71 JAL JAL/JAC 32,400 47% J— p—
EEES HRCRHE) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 47% J— p—
ZIR=ERS =iR% HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 48% J— p—
BREH HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 48% J— p—
=R=%1E =R ESACEE)) JAL JTA 46,800 47% p— p—
RiES R CHEA) JTA JAL 46,800 47% p— p—
FE =/ TREFE R CHH) JAL JAL 24,800 47% p— ——
NS R CHEA) JAL JAL 24,800 47% p— p—
MHE=FMLEE N 5 RECREA) JAL JAL 25,600 52% p— p—
BiERESR R CHEA) JAL JAL 25,600 52% [ p—
ME=M[EW E=ES R (FIH) JAL JAL 25,600 53% p— ——
FElLLI 5 EGACElED) JAL JAL 25,600 53% p— p—
MHEA=L5 FEF RFECREA) JAL JAL 27,200 51% p— p—
LE% RFECREA) JAL JAL 27,200 51% p— p—
ME=LOFH S R (FIH) JAL JAL 29,600 50% p— ——
I=ESE3 EGACElED) JAL JAL 29,600 50% p— p—
MHE=HZE PR3 RECREA) JAL JAL 25,600 54% p— p—
KB (71 JAL JAC 25,600 51% J— p—
HER BHERCRH) JAL JAL 25,600 54% p— p—
KB (71 JAC JAL 25,600 51% J— p—
MHE=E5 [EES RFECREA) JAL JAL 25,600 53% J— p—
mE% EGACElED) JAL JAL 25,600 53% p— p—
ME=5H TREF R (FIH) JAL JAL 27.200 50% p— ——
EinF EGACElED) JAL JAL 27,200 50% p— p—
HE=&H TREF R (FIH) JAL JAL 27.200 51% p— ——
EEI% EGACElED) JAL JAL 27,200 51% p— p—
FE=f0 TEFE R CHH) JAL JAL 28,300 49% p— ——
KB (71 JAL JAL 28,800 42% J— p—
PAIIE S EGACEED) JAL JAL 28,800 49% p— p—
KB (71 JAL JAL 28,800 42% J— p—
FE=dLAM EES RFECREA) JAL JAL 29,600 52% p— p—
E[#RIE: EGACElED) JAL JAL 29,600 52% [ p—
ME=X% PR RECREA) JAL JAL 29,600 51% p— p—
KB (71 JAL JAL 29,600 43% J— p—
Ko HERCRH) JAL JAL 29,600 51% p— p—
KB (71 JAL JAL 29,600 43% J— p—
MA=RI& FEF RFECREA) JAL JAL 31,200 51% p— p—
KB (71 JAL JAL 31,200 47% J— p—
R RFECREA) JAL JAL 31,200 51% p— p—
KB (71 JAL JAL 31,200 47% J— p—
MHA=FEX FEF B CRHE) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
A% EGACELED) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
MHA=2& PREES RFECREA) JAL JAL 31,200 49% J— p—
KB (71 JAL JAL/JAC 31,200 45% J— p—
EGES RFECREA) JAL JAL 31,200 49% p— p—
KR (F#FH [ JAL/JAC JAL 31,200 45% J— p—
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MH=ERS FEF E AR JAL JAL 32,400 49% p— p—
KB (FF1) JAL JAC 32,400 46% J— p—
BREH EGACElED) JAL JAL 32,400 49% p— p—
KB (71 JAC JAL 32,400 46% J— p—
ME=RE TREFE R CHH) JAL JTA 45,300 46% p— ——
RiEH R CHEA) JTA JAL 45,300 46% p— p—
W=/ R 23 R CHEA) JAL JAL 23,700 41% p— p—
INEYSE R CHEA) JAL JAL 23,700 41% p— p—
Iz =R 3 R CHEA) JAL JAL 24,800 49% p— p—
R LLI 5 R CHEA) JAL JAL 24,800 49% p— p—
W =1L8 23 EGACELED) JAL JAL 27,100 45% p— p—
NEES EGACElED) JAL JAL 27,100 45% p— p—
IRz =1LOF& 23 E AR JAL JAL 28,800 45% p— p—
I=E3E:3 RFECREA) JAL JAL 28,800 45% p— p—
IWg=HZE %3 R CHEA) JAL JAL 27,100 45% p— p—
KB (71 JAL JAC 27,100 47% J— p—
HER EGACElED) JAL JAL 27,100 45% p— p—
KB (71 JAC JAL 27,100 47% J— p—
k=5 IZ3 E AR JAL JAL 25,800 46% p— p—
mES EGACElED) JAL JAL 25,800 46% p— p—
ILfz =5 3 EGACELED) JAL JAL 24,800 48% p— p—
EinS EGACElED) JAL JAL 24,800 48% p— p—
Ik =54% Nz EGACELED) JAL JAL 25,600 48% p— p—
EEI% RFECREA) JAL JAL 25,600 48% p— p—
Wiz =40 %3 R CHEA) JAL JAL 25,600 49% p— p—
KB (71 JAL JAL 25,600 48% J— p—
PAIIE S HERCRH) JAL JAL 25,600 49% p— p—
KB (71 JAL JAL 25,600 48% J— p—
Wt =dk E[#RE: R CHEA) JAL JAL 29,600 46% p— p—
g =K% %3 R CHEA) JAL JAL 28,800 46% p— p—
KB (71 JAL JAL 28,800 44% J— p—
Ko R CHEA) JAL JAL 28,800 46% p— p—
KB (71 JAL JAL 28,800 44% J— p—
WL =Ri& %3 HRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
Ris5 RFECREA) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
ILfz=8EX %3 HRCRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
K% HERCRH) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
WL =25 %3 HFRCRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL/JAC 29,600 47% J— p—
EGES RFECREA) JAL JAL 29,600 46% p— p—
KR F#FH | JAL/JAC JAL 29,600 47% J— p—
I =ERE %3 HFRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAC 31,200 47% J— p—
BREH HERCRH) JAL JAL 31,200 45% p— p—
KB (71 JAC JAL 31,200 47% J— p—
Wz=%H18 AiEH R CHEA) JTA JAL 45,300 42% p— p—
E=HE il & 58 KR (FF1) JAL JAC 25,600 49% p— p—
HEH KB F#FD JAC JAL 25,600 49% p— p—
g =#1l =3 KB F#FD JAL JAL 27,200 43% p— p—
[NIIE KB F#FD JAL JAL 27,200 43% p— p—
i =X% fill& 58 KR (FF1) JAL JAL 28,800 43% p— p—
Ko KB F#FD JAL JAL 28,800 43% p— p—
e =R& il & 58 AR (#F1) JAL JAL 31,200 45% J— p—
RUsS KB FR#FH JAL JAL 31,200 45% p— p—
file =gEX [ KB (FFD JAL JAL 29,600 45% p— p—
REARF KB FR#FH JAL JAL 29,600 45% p— p—
e =215 & % KB (FFD JAL | JAL/JAC 31,200 43% p— p—
EGES KR FF [ JAL/JAC JAL 31,200 43% p— p—
he=ERs =3 KR (1) JAL JAC 31,200 46% p— p—
EREH pNIACGE=9) JAC JAL 31,200 46% p— p—
FR=HE P bk KB (FFD JAL JAC 23,200 52% p— p—
HEH KB F#FD JAC JAL 23,200 52% p— p—
FR=HL P bk KB (FFD JAL JAL 25,600 44% p— p—
[NIIE KB F#FD JAL JAL 25,600 44% p— p—
FR=K7 P bk KB (FFD JAL JAL 27,200 44% p— p—
RoF KB F#FD JAL JAL 27,200 44% p— p—
FR=R& P bk KB (FFD JAL JAL 29,600 46% p— p—
RUs5 pNIACGE=9) JAL JAL 29,600 46% p— p—
FR=EEX P bk KB (FFD JAL JAL 28,800 45% p— p—
REARF pNIACGE =) JAL JAL 28,800 45% p— p—
FR=E& P bk KB (FFD JAL | JAL/JAC 28,800 45% p— p—
EGES KR FF [ JAL/JAC JAL 28,800 45% p— p—
FR=ERE Hin KB (FFD JAL JAC 29,600 47% p— p—
EREH KB F#F1) JAC JAL 29,600 47% p— p—
AN AT INEAFE ESACE)) JAL JAL 24,200 53% p— p—
B LLI & R CHEA) JAL JAL 24,200 53% p— p—
INAR=IRE INEAFE EGACEE)) JAL JAL 24,800 53% p— p—
NEES EGACElED) JAL JAL 24,800 53% p— p—
IMA=ILOFE INEYFE EGACElED) JAL JAL 27,800 51% p— p—
I=E3E:3 RFECREA) JAL JAL 27,800 51% p— p—
IME=HZE INHAFE RFECREA) JAL JAL 25,200 53% p— p—
HE EGACElED) JAL JAL 25,200 53% p— p—
IMA=TER INHAFE RFECREA) JAL JAL 26,400 49% J— p—
mES EGACElED) JAL JAL 26,400 49% p— p—
IMA=BR INAFE R CHH) JAL JAL 23,700 54% p— ——
B RERECRH) JAL JAL 23,700 54% p— p—
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INA=F INDFE EGACELED) JAL JAL 25,400 52% p— p—
EEI% EGACElED) JAL JAL 25,400 52% p— p—
IMR=HR1L INEAFE R CHH) JAL JAL 25,600 52% p— p—
[NIE:3 R CHEA) JAL JAL 25,600 52% p— p—
IMA=dE RN IMRFE EGACElED) JAL JAL 29,500 50% [ p—
E[&RE: EGACElED) JAL JAL 29,500 50% [ p—
INR=K5 INDFE EGACELED) JAL JAL 28,600 50% p— p—
RoF EGACElED) JAL JAL 28,600 50% p— p—
IMr=RIG IMRFE EGACElED) JAL JAL 31,200 49% [— p—
RIs5 EGACElED) JAL JAL 31,200 49% p— p—
INA=BER INEAFE RFECREA) JAL JAL 29,500 50% J— p—
HER % EGACElED) JAL JAL 29,500 50% p— p—
INA=E I INDFE E AR JAL JAL 29,500 50% p— p—
EGES EGACElED) JAL JAL 29,500 50% p— p—
IME=ERE INFAFE RFECREA) JAL JAL 31,200 49% J— p—
EEIR B % E A CELED) JAL JAL 31,200 49% p— p—
MEA=ETH MR FE Gl AEED) JTA__| JTA/RAC 36,000 38% p— p—
B hEEGRE) [ JTA/RAC|  JTA 36,000 38% p— p—
IMA=T1E INEAFE R CHH) JAL JTA 36,300 55% p— p—
P8 (ARER) JTA | JTA/RAC 36,300 43% p— p—
AIER RER CRH) JTA JAL 36,300 55% p— p—
42 (FBE) [ JTA/RAC JTA 36,300 43% j— p—
==& IS S (ARER) JTA | JTA/RAC 34,400 33% J— p—
e SPIE(RER) [ JTA/RAC]  JTA 34,400 33% p— p—
fIl=R1E B LLI ¢ 8 (ARER) JTA | JTA/RAC 37,000 35% [ p—
HIEH HE2 (FRE) [ JTA/RAC JTA 37,000 35% j— p—
BH=E& EEI% tahE JAL/JAC | JAL/JAC 26,300 39% J— p—
EGES 1=k JAL/JAC | JAL/JAC 26,300 39% p— p—
BEXE=5H EEAEHR ok BER JAC JAC 18,700 30% J— p—
5im% ok BEB JAC JAC 18,700 30% J— p—
BEBEXE=MHKRE EEXEHR iR JAC JAC 16,000 46% J— p—
ok BERSE 55k JAC JAC 16,000 46% p— p—
iR (R =FFH i (IRER) HRERCHE) [ JAL/JTA JAL 37,200 48% p— p—
EHRR EGACElED) JAL JAL/JTA 37,200 48% p— p—
B (IR ==iR i (IRER) HRCHE) [ JAL/JTA JAL 37,200 47% p— p—
=; EGACElED) JAL JAL/JTA 37,200 47% p— p—
8 (BRER) =R E i (IRER) HRERCHE) [ JAL/JTA JAL 36,000 45% p— p—
=S RFCREA) JAL JAL/JTA 36,000 45% p— p—
8 (BRER) =L i (BRER) HRERCHE) [ JAL/JTA JAL 36,000 39% p— p—
I3 EGACELED) JAL JAL/JTA 36,000 39% p— p—
iR (BRER) =1L&E i (IRER) &6 JTA JAL 38,900 45% p— p—
=3 1= JAL JTA 38,900 45% p— p—
iR (IRER) =/ i (IRER) HRERCHE) [ JAL/JTA JAL 34,900 44% p— p—
IMRFE EGACELED) JAL JAL/JTA 34,900 44% p— p—
iR (B =55 B (ARER) ¥ tahE JTA | JAL/JAC 25,200 51% J— p—
SENF 1= JAL/JAC JTA 25,200 51% [ p—
B (ARER) =#Al B (AER) F = JTA JAC 23,500 51% J— p—
[NITE:3 1= JAC JTA 23,500 51% p— p—
BR(PHE) =FBXZXE | ERPHR BRE JAL JAC 41,700 33% p— p—
KBg ({FF1) JAL JAL 41,700 29% [ p—
TEERER BRE JAC JAL 41,700 33% p— p—
KBg ({FF1) JAL JAL 41,700 29% [ p—
RRCPE)=ERE | RRCHBEH BES JAL JAC 41,800 34% J— f—
TBEXE JAL JAC 41,800 25% p— p—
ERER BRE JAC JAL 41,800 34% p— p—
TBEXE JAC JAL 41,800 25% p— p—
RRECPA) =25 | RR(CHE BES JAL JAC 42,800 35% J— p—
TBERE JAL JAC 43,600 27% p— p—
[T BES JAC JAL 42,800 35% p— p—
TBEXE JAC JAL 43,600 27% p— p—
RECPA) =k BE | HRECHA)H% BEES JAL JAC 44,600 35% J— p—
ihok BARSE BES JAC JAL 44,600 35% J— p—
BEEAS JAC JAL 44,600 29% p— p—
R (CPA) =5k HR CPIH) % BEES JAL JAC 45,000 36% J— p—
Bims BES JAC JAL 45,000 36% p— p—
EEXS JAC JAL 44,900 32% p— p—
KRB =EEXS | KRUFD R BEES JAC JAC 36,000 28% J— p—
TEEXEH BRE JAC JAC 36,000 28% p— p—
KR(BEFH =ERE | KRMEFDHR BES JAC JAC 37,100 27% J— p—
TBERE JAL JAC 37,100 19% p— p—
ERER BRE JAC JAC 37,100 27% p— p—
TBERE JAC JAL 37,100 19% p— p—
KR (B =25 KB (FFH % BRE JAC JAC 38,100 29% p— p—
TBEXE JAL JAC 39,000 21% p— p—
[EPA=E BRE JAC JAC 38,100 29% p— p—
TBEXE JAC JAL 39,000 21% p— p—
KR (FRFH =k BEB | KBR (RFD % BRE JAC JAC 39,600 30% p— p—
ok BERSE BRE JAC JAC 39,600 30% p— p—
KB (FH) =5k AR (R 5 ERS JAC JAC 39,900 31% [— p—
B BEES JAC JAC 39,900 31% — —
EE=EXXES e 58 BEES JAC JAC 29,300 30% J— p—
TEEXEHR BRE JAC JAC 29,300 30% p— p—
EE=E85 FES ERE JAC JAC 30,600 29% p— p—
TBERE JAC JAC 30,600 26% p— p—
ERER BRE JAC JAC 30,600 29% p— p—
TBERE JAC JAC 30,600 26% p— p—
EE=fz5 FEEES BEES JAC JAC 30,700 32% J— p—
TBERE JAC JAC 30,700 32% p— p—
w2EH BRE JAC JAC 30,700 32% p— p—
TBERE JAC JAC 30,700 32% p— p—
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FEME517 1 EER(SA31E~6A30RKES) JAL/ITA/JAC/RAC
EEEAR 2013/1/29  ~
BERH 4/1-4/26 SEEE 3/31 B
X b:3::5:010) T 5/7-6/30 g 1w 4/27-5/6 | E|3|%
taRE =ihk RED e 5 BES JAC JAC 32,200 33% [ p—
ok BERSE BRE JAC JAC 32,200 33% p— p—
ER =5 [HRES BERE JAC JAC 32,600 34% p— p—
5 im%E BES JAC JAC 32,600 34% p— p—
RRCHHE) =51 RHECHE)F AiE JTA | JTA/RAC 41,100 42% p— p—
EX B (BB RAC JAL/JTA 41,100 43% p— p—
AiE JTA/RAC JTA 41,100 42% j— p—
KR (FFH) =5 3= SREF P8 (ARER) RAC JAL 37,600 43% [— p—
Kz (B#8) =53 E PNUAGEEDES AiE JTA | JTA/RAC 37,600 38% [— p—
EX R B () RAC JAL/JTA 37,600 43% p— p—
AiE JTA/RAC JTA 37,600 38% j— p—
£5E (FE) =5E SMEFE S (ARER) RAC JTA 38,600 45% J— p—
12k =5 I E SMEF S8 (ARER) RAC JTA 34,600 42% J— p—
iR (RE) = 51E s (A ER) F ais JTA/RAC | JTA/RAC 18,950 46% J— p—
SMEF ais JTA/RAC | JTA/RAC 18,950 46% J— p—
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[RBE517EER(7TA1B~9A30AEERS) JAL/ITA/JAC/RAC
EEEAR - 2013/1/29 ~
neoa 7/1-4 s 7/5-8/31 | e,
=P #abd BERi 9/1-13. 9/17-20 zﬁh;% Bz 9/14-16 f}l;g{i
XED XE@ 9/24-30 = 9/21-23 | ©
RR(PE)=Bd RECAE)E | H#E3RH) | JAL/JTA [ JTA/RAC 36,000 38% [ p—
R P8 (BRER) [ JTA/RAC | JAL/JTA 36,000 38% p— p—
RHRCHA)=F1E RHECHE)F S (RE) | JAL/JTA [ JTA/RAC 36,300 43% p— p—
RiEH hiE (FBER) | JTA/RAC | JAL/JTA 36,300 43% J— p—
KR (R FH =% 51 KB (FFFH % EGACELED) JAL JAL 35,800 44% p— p—
FLIE (FTF ) JAL JAL 35,800 43% p— p—
iR F RERCRH) JAL JAL 35,800 44% p— p—
LR (FTF ) JAL JAL 35,800 43% p— p—
KR (B#E) =% &5l PNUAGEDES EGACELED) JAL JAL 35,800 44% [— p—
FLIE (T JAL JAL 35,800 43% p— p—
iR F RERCRH) JAL JAL 35,800 44% p— p—
FLIE (T JAL JAL 35,800 43% p— p—
K (FFH =1l KB (75 5 R CHEA) JAL JAL 34,900 44% p— p—
JBJIFE R CHEA) JAL JAL 34,900 44% p— p—
Kk (B#E) =Rl PNUAGEEDES EGACElED) JAL JAL 34,900 44% [— p—
HBJIFE R CHEA) JAL JAL 34,900 44% p— p—
K (FFH =8I% AR (FFH 3 EGACELED) JAL JAL 33,700 45% p— p—
S 58 EGACELED) JAL JAL 33,700 45% p— p—
KPR (BE#E) =#IR% ABR(BEFE) ¥ | HRCHA) JAL JAL 33,700 45% [ p—
S 3¢ EGACELED) JAL JAL 33,700 45% p— p—
K (FFH =F A AR (FFH % EGACELED) JAL JAL 32,700 46% p— p—
HILF EGACELED) JAL JAL 32,700 46% p— p—
PNCGEDEE DN X (B7E) 3 E A CELED) JAL JAL 32,700 46% p— p—
HILF E A CELED) JAL JAL 32,700 46% p— p—
KB (R FH) =&fE AR (FFH % E A CELED) JAL JAL 32,400 40% p— p—
BREEF E A CELED) JAL JAL 32,400 40% p— p—
KB (A ==iR Mﬁ(ﬁ*ﬂ)% R CHEA) JAL JAL 30,200 42% [— p—
RFE EGACELED) JAL JAL 30,200 42% p— p—
Kk (B§#E) ==iR Mﬁ(ﬁaﬁ)% E A CELED) JAL JAL 30,200 42% p— p—
ZR% R CHEA) JAL JAL 30,200 42% p— p—
KR () =Rk KB (FFF) 5 = JAC JAC 19,500 38% [— p—
[ETES ] JAC JAC 19,500 38% [— p—
KR =8F5 | KRUFFD R BERES JAC JAC 31,000 21% [ p—
BETEX BERS JAC JAC 31,000 21% p— p—
KR (D =& ABRBEFDFE | i GRE) JAL | JTA/RAC 34,400 33% [ p—
B ShEEGRE) [ JTA/RAC|  JAL 34,400 33% p— p—
KB (B#E) =Bd ABR(BEFE) & | H#E(BH) | JAL/JTA [ JTA/RAC 34,400 33% [ p—
] S8 (ARE) | JTA/RAC| JAL/JTA 34,400 33% p— p—
KR (FFH =F1E AR (FF) 5 P8 (ARER) JAL | JTA/RAC 32,800 43% [— p—
AiEH JhiE (FBFR) | JTA/RAC JAL 32,800 43% J— p—
KBx (BdR) =R pNUAGGEDES PEE (BBF) | JAL/JTA | JTA/RAC 32,800 43% [— p—
HIEH 48 (AREE) | JTA/RAC | JAL/JTA 32,800 43% j— p—
£EE(PE) =%E5 | KEE (P H | AWIEGETR) JAL JAL 31,900 46% [ p—
iR F | ALIR (BT %) JAL JAL 31,900 46% J— p—
A2EE(PE) =24 | £AGEPER | HEGEH) JTA | JTA/RAC 35,200 37% [ p—
B SPHE(RE) [ JTA/RAC]  JTA 35,200 37% p— p—
£2EE(PE)=FHIE %EE(:P*B) % | B (ERE) JTA | JTA/RAC 33,800 45% J— p—
i3 P (BB#R) | JTA/RAC JTA 33,800 45% [ p—
LR (BT F %) =/ *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 25,800 53% p— p—
IMRFE EGACElED) JAL JAL 25,800 53% p— p—
ARG TR =mieE| ARG TR) R | HRCRA) JAL JAL 31,300 50% [ p—
El=had R CHH) JAL JAL 31,300 50% p— p—
AR (FFR) =@ [ AIRGTTFR)H | ERCHH) JAL JAL 31,300 51% p— p—
FElLLI 3¢ EGACElED) JAL JAL 31,300 51% p— p—
AR EFFR) =L [ FIEETFRH | ERCHH) JAL JAL 32,100 50% p— p—
NSRS RFECREA) JAL JAL 32,100 50% p— p—
IR FFR) =ILOFH|] ARETFR)H | ZRRCHA) JAL JAL 33,600 51% p— p—
I=ESES EGACELED) JAL JAL 33,600 51% p— p—
IR (FF%) =HE *Lfﬁ(%ﬁﬂ’-%’&)% EGACELED) JAL JAL 30,000 54% p— p—
EGACElED) JAL JAL 30,000 54% p— p—
R FFR) =ES *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 31,200 50% p— p—
mE% RHECREA) JAL JAL 31,200 50% p— p—
IR (FFR) =it *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 32,000 49% p— p—
EGACElED) JAL JAL 32,000 49% p— p—
IR (FFR) =24 *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 33,200 49% p— p—
FSEa EGACElED) JAL JAL 33,200 49% p— p—
AR (B FR) =l [ AIRCGHTFR)H | ERCHA) JAL JAL 35,000 46% p— p—
[NIIE EGACElED) JAL JAL 35,000 46% p— p—
ARG FR) =dtAM [ ARG TR F | RECHE) JAL JAL 33,600 52% [ p—
B[Rk EGACElED) JAL JAL 33,600 52% [— p—
R EFFR) =K [ AEGEGTFRH | ERCHH) JAL JAL 33,600 51% p— p—
RoF EGACElED) JAL JAL 33,600 51% p— p—
R EFFR) =R [ AIEEGTFRH | ERCHH) JAL JAL 35,200 51% p— p—
RUsS RFCREA) JAL JAL 35,200 51% p— p—
IR T =X | ARGITRH | RRCHA) JAL JAL 34,400 51% [ p—
REARF HRE(CRHE) JAL JAL 34,400 51% p— p—
R FFR) == [ ARG TRH | ERCHH) JAL JAL 35,200 50% p— p—
EGES RFECREA) JAL JAL 35,200 50% p— p—
IR FR)=ERS *Lfﬁ(%ﬁq’-ﬁi) % | EE(CHEA) JAL JAL 39,200 46% p— p—
EREH EGACELED) JAL JAL 39,200 46% p— p—
IR EFTFR) =BT | FIRFFHR) R | EZPH) JAL JAL/JTA 40,300 46% p— p—
KB (B7E) JAL JAL/JTA 40,300 47% j— p—
2R (FEf) JAL JTA 40,300 47% p— p—
1=k JAL JTA 40,300 49% p— p—
hiE (IRER) HRERCHE) [ JAL/JTA JAL 40,300 46% p— p—
KR (BFE) | JAL/JTA JAL 40,300 47% j— p—
ZEE(PER) JTA JAL 40,300 47% p— p—
FEE) JTA JAL 40,300 49% p— p—
ARG FR)=FE [ MREGTHH | RRCHH) JAL JTA 49,600 47% p— p—
RIEH R CHEA) JTA JAL 49,600 47% p— p—
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[RBE517EER(7TA1B~9A30AEERS) JAL/ITA/JAC/RAC
EEEAR 2013/1/29 ~
s 7/1-4 - 7/5-8/31 | oz
Ee] EE3=:R 0] R 9/1-13,9/17-20 zﬁh;% e 9/14-16 f}l;;{i
XD | XEQ 9/24-30 i 9/21-23 | F
1aRE =2 ) FFES EGACELED) JAL JAL 39,800 49% p— p—
LR (FTF %) JAL JAL 39,800 45% p— p—
iR F RERCRH) JAL JAL 39,800 49% p— p—
FLIE (FTF ) JAL JAL 39,800 45% p— p—
(RN [ ES R (FIH) JAL JAL 35,700 53% p— ——
JBJIFE R CHEA) JAL JAL 35,700 53% p— p—
EHEEE IS a5 ESACELE)) JAL JAL 35,200 53% p— p—
S EGACElED) JAL JAL 35,200 53% p— p—
BRI =5 [ ES R (FIH) JAL JAL 35,700 52% p— ——
HILSE RFECREA) JAL JAL 35,700 52% p— p—
RS a5 ESACELE)) JAL JAL 39,500 42% p— p—
EEES RFECREA) JAL JAL 39,500 42% p— p—
B =F% faE RECREA) JAL JAL 39,400 41% p— p—
KB (71 JAL JAL 39,400 33% J— p—
AR HRCRHE) JAL JAL 39,400 41% p— p—
KB (71 JAL JAL 39,400 33% J— p—
ER==IR FES HR CHH) JAL JAL 39,000 41% p— p—
KB (71 JAL JAL 39,000 35% J— p—
ZiR% HERCRH) JAL JAL 39,000 41% p— p—
KB (FF1) JAL JAL 39,000 35% J— p—
BRI =15 FEGES KB (FFD JAL JAL 38,600 32% p— p—
TEESH KB F#F JAL JAL 38,600 32% p— p—
fER=%E [HEES R (FIH) JAL JAL 33,900 45% p— ——
FEF HRECRHE) JAL JAL 33,900 45% p— p—
KB (71 JAL JAL 33,900 38% J— p—
2k = 1Lf2 EHES R (FIH) JAL JAL 29,600 46% p— ——
KB (71 JAL JAL 29,600 45% J— p—
[I}Z 3 R CHEA) JAL JAL 29,600 46% p— p—
KB (FF1) JAL JAL 29,600 45% J— p—
&R =%k 1 e F KR (FF) JAL JAL 31,800 38% p— p—
RS KB FRF JAL JAL 31,800 38% J— p—
[ RN [ ES R (FIH) JAL JAL 29,500 50% p— ——
IMRFE RER CRH) JAL JAL 29,500 50% p— p—
ER==4 [ HRES B8 GRER) JTA__| JTA/RAC 31,200 31% p— ——
EEH SPIE(RER) [ JTA/RAC]  JTA 31,200 31% p— p—
R =R [ HEES B8 GRER) JTA__| JTA/RAC 33,900 33% p— ——
RiEH s (ARE) | JTA/RAC JTA 33,900 33% J— p—
Zmil =& ESCLES L% (37 F %) JAL JAL 24,400 51% p— p—
=% Lig B F %) JAL JAL 24,400 51% p— p—
Zim i =i S E L% (37 F &%) JAL JAL 25,600 50% p— p—
Fibokis L% (37 F %) JAL JAL 25,600 50% J— p—
Zim A=/ Sk EGACELED) JAL JAL 32,700 48% p— p—
IMRFE EGACElED) JAL JAL 32,700 48% p— p—
iRl =mafe B Eial=had EGACELED) JAL JAL 36,000 49% p— p—
i Bl =FRa L Sk EGACELED) JAL JAL 36,000 49% p— p—
R LLI & EGACElED) JAL JAL 36,000 49% p— p—
Zimil=1L8 SRS B (CRHE) JAL JAL 38,200 47% p— p—
LR (T JAL JAL 38,200 43% p— p—
PN=ES EGACELED) JAL JAL 38,200 47% p— p—
LR (T JAL JAL 38,200 43% p— p—
TR =HE ESEE S RFECREA) JAL JAL 34,700 52% J— p—
HES R CHEA) JAL JAL 34,700 52% p— p—
Zim Al =0 Sk E A CELED) JAL JAL 39,600 46% p— p—
FALLFE EGACElED) JAL JAL 39,600 46% p— p—
ZimAl=Hh1iE S vk E A CELED) JAL JTA 55,700 45% p— p—
RiES EGACElED) JTA JAL 55,700 45% p— p—
JENTEIN A JENIES RECREA) JAL JAL 32,700 47% p— p—
INEYSE R CHEA) JAL JAL 32,700 47% p— p—
BNI=m{aE JENIES EGACELED) JAL JAL 36,000 47% p— p—
Eial=had R CHEA) JAL JAL 36,000 47% [ p—
TN =L ETITE: ESACE)) JAL JAL 36,000 48% p— p—
] LLI ¢ EGACElED) JAL JAL 36,000 48% p— p—
BNI=HZE JENIE:S EGACELED) JAL JAL 34,700 51% p— p—
HEH EGACElED) JAL JAL 34,700 51% p— p—
TBI=#x11 ETIE: RECREA) JAL JAL 39,600 45% p— p—
FALLFE EGACElED) JAL JAL 39,600 45% p— p—
BII=%H1E 81158 EACE)) JAL JTA 51,700 48% J— f—
RiESH EGACEED) JTA JAL 51,700 48% p— p—
ETEEA PR3 R CHH) JAL JAL 32,700 46% p— p—
IMRFE EGACElED) JAL JAL 32,700 46% p— p—
SR =FfCEE PR3 IR CHH) JAL JAL 36,000 47% p— p—
EACEESR R CHEA) JAL JAL 36,000 47% [ p—
g = R3S IR CHH) JAL JAL 36,000 48% p— p—
R LLI 5 EGACElED) JAL JAL 36,000 48% p— p—
fIB=L5 PR3 IR CHH) JAL JAL 38,200 45% p— p—
RS EGACELED) JAL JAL 38,200 45% p— p—
fi=HE PR R CRE) JAL JAL 34,700 51% p— p—
HES R CHEA) JAL JAL 34,700 51% p— p—
#pg=Hl 3 IR CHH) JAL JAL 39,600 44% p— p—
[NITE:3 R CHEA) JAL JAL 39,600 44% p— p—
fi=rxiE PR3 IR CHH) JAL JTA 54,900 44% p— p—
RiESH R CHEA) JTA JAL 54,900 44% p— p—
L=/ ETR IR CHH) JAL JAL 32,700 46% p— p—
IMRFE EGACElED) JAL JAL 32,700 46% p— p—
wh=FRLEE ELE EACELED) JAL JAL 36,000 47% p— p—
EiCEESR HR(CRHE) JAL JAL 36,000 47% p— p—
HL=MEW ELE EACELED) JAL JAL 36,000 47% p— p—
FEl LI ¢ EGACElED) JAL JAL 36,000 47% p— p—
BL=HE LS RECREA) JAL JAL 34,700 50% p— p—
HER RERECRH) JAL JAL 34,700 50% p— p—
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JAL/JTA/JAC/RAC
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PPN 7/1-4 s 7/5-8/31 | e,
=P #abd BERi 9/1-13. 9/17-20 zﬁh;% Bz 9/14-16 f}l;g{i
_ XED X 9/24-30 = 9/21-23 | ©
wL=H ELE EACEED) JAL JAL 39,600 44% p— p—
[N R CHEA) JAL JAL 39,600 44% p— p—
HLh=RiE TR IR CHH) JAL JTA 54,200 45% p— p—
RiES R CHEA) JTA JAL 54,200 45% p— p—
AR =/ A EEES R (FIH) JAL JAL 26,800 50% p— ——
IMRFE EGACElED) JAL JAL 26,800 50% p— p—
=R HE AR IR CRH) JAL JAL 34,900 42% p— p—
Eisl=had R CHEA) JAL JAL 34,900 42% [ p—
EEE=MW EEEH R CHH) JAL JAL 34,900 43% p— ——
] LLI & R CHEA) JAL JAL 34,900 43% p— p—
HE=IL5 EEES R CHH) JAL JAL 37,700 39% p— p—
PNEES RFCREA) JAL JAL 37,700 39% p— p—
HEE=HE EEEF RFECREA) JAL JAL 33,700 46% p— p—
KB (71 JAL JAC 33,700 42% J— p—
HER RHERCRH) JAL JAL 33,700 46% p— p—
KB (71 JAC JAL 33,700 42% J— p—
EEE=Hl HEHX Rm CHH) JAL JAL 38,400 39% p— ——
KB (71 JAL JAL 38,400 31% J— p—
[NTTE R CHEA) JAL JAL 38,400 39% p— p—
KB (71 JAL JAL 38,400 31% J— p—
BEAE =L AR F EGACELED) JAL JAL 32,400 52% p— p—
E[#BIE: EGACELED) JAL JAL 32,400 52% [ p—
HEE=K5 g HFRCRHE) JAL JAL 32,400 52% p— p—
KB (71 JAL JAL 32,400 44% J— p—
Ko R CHEA) JAL JAL 32,400 52% p— p—
KB (FF1) JAL JAL 32,400 44% J— p—
HE=RI& AR RECREA) JAL JAL 33,600 52% p— p—
RIGH HRECRHE) JAL JAL 33,600 52% p— p—
KBR (71 JAL JAL 33,600 48% J— p—
BHEE=FEX RS RECREA) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 46% J— p—
A% BHERCRH) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 46% J— p—
HE=E& RS HR CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL/JAC 33,600 46% J— p—
EGES RFECREA) JAL JAL 33,600 51% p— p—
KR (F#FH | JAL/JAC JAL 33,600 46% J— p—
EHE=ERS EHEEEF HRCRHE) JAL JAL 34,400 51% p— p—
KB (71 JAL JAC 34,400 48% J— p—
EREH HRCRHE) JAL JAL 34,400 51% p— p—
KB (71 JAC JAL 34,400 48% J— p—
HE=R1E HEEH R CHH) JAL JTA 48,000 47% p— ——
RiEH R CHEA) JTA JAL 48,000 47% p— p—
BHR=/ML EHE EACELED) JAL JAL 25,600 51% p— p—
IMRFE EGACElED) JAL JAL 25,600 51% p— p—
EH=mitaE EHE R CHH) JAL JAL 28,800 51% p— p—
EiCEESR R CHEA) JAL JAL 28,800 51% [ p—
BFH=MEWL EHE EACELED) JAL JAL 28,800 52% p— p—
Ff LLI ¢ R CHEA) JAL JAL 28,800 52% p— p—
EHR=IL5 R R CHH) JAL JAL 29,600 51% p— p—
PNEES RFECREA) JAL JAL 29,600 51% p— p—
BHA=LOFY BERR RFECREA) JAL JAL 31,200 52% p— p—
I=ESE3 EGACElED) JAL JAL 31,200 52% p— p—
EHR=HE 33 RECREA) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 48% J— p—
HER EGACElED) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 48% J— p—
EHR=0E5 R R CHH) JAL JAL 30,600 49% p— p—
BE% EGACElED) JAL JAL 30,600 49% p— p—
BHR=m EHRE EACELED) JAL JAL 28,800 52% p— p—
EinF EGACElED) JAL JAL 28,800 52% p— p—
BHR=EA EHRE EACELED) JAL JAL 29,600 52% p— p—
EEI% EGACElED) JAL JAL 29,600 52% p— p—
FHE=L EHE R CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
PAIIE S HERCRH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
BHE=ILAM BERH RFECREA) JAL JAL 31,200 53% p— p—
E[#RIE: EGACElED) JAL JAL 31,200 53% [ p—
BEHR=K7 33 HR CHH) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
Ko HERCRH) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
EHR=R& 33 R CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
RIGH HRCRHE) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
EHR=EX R RECREA) JAL JAL 32,400 51% p— p—
RS EGACElED) JAL JAL 32,400 51% p— p—
EHR=2& 33 RECREA) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL/JAC 32,400 46% J— p—
EGES RFECREA) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 46% J— p—
BEHR=ERE EHRH RECREA) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 47% J— p—
BREH EGACELED) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 47% J— p—
EH=RE ERR R (CBH) JAL JTA 46,300 48% p— p—
RIEH R CHEA) JTA JAL 46,800 48% p— p—
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ZIR=/2 =R% EGACElED) JAL JAL 25,600 50% p— p—
IMRFE EGACElED) JAL JAL 25,600 50% p— p—
ZIR=FM#HaE FflEER EGACElED) JAL JAL 28,800 51% [— p—
=R=MwW =iR% R CHH) JAL JAL 28,800 52% p— p—
FE LI 3¢ EGACElED) JAL JAL 28,800 52% p— p—
ZR=LE5 =R EGACElED) JAL JAL 29,600 51% p— p—
NSRS RFECREA) JAL JAL 29,600 51% p— p—
=R=WAFH =R% R (FIH) JAL JAL 31,200 51% p— ——
IsESE3 EGACElED) JAL JAL 31,200 51% p— p—
=R=HE =iR% HR CHH) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 49% J— p—
HE BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 49% J— p—
=R=7% R (FIH) JAL JAL 30,100 49% p— ——
EGACElED) JAL JAL 30,100 49% p— p—
ZiR=2h R (FIH) JAL JAL 28,800 51% p— p—
EGACELED) JAL JAL 28,800 51% p— p—
=iR=&% R (FIH) JAL JAL 28,800 53% p— ——
EGACELED) JAL JAL 28,800 53% p— p—
=R=#1l HR CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
HERCRH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
=R=dLhM R (FIH) JAL JAL 31,200 53% p— ——
E[&RE: EGACELED) JAL JAL 31,200 53% [— p—
ZIR=X% ZIR% EGACELED) JAL JAL 31,200 52% p— p—
KB (71 JAL JAL 31,200 45% J— p—
KoF EGACELED) JAL JAL 31,200 52% p— p—
ZR=RI& =R RECRA) JAL JAL 33,600 51% [ f—
KB (71 JAL JAL 33,600 47% J— p—
RIGH HRECRHE) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 47% J— p—
ZIR=FEX =iR% EGACEED) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL 32,400 47% J— p—
RER S HERCRH) JAL JAL 32,400 51% p— p—
ZR=E& =R RECRA) JAL JAL 32,400 51% [ f—
KB (71 JAL JAL/JAC 32,400 47% J— p—
EEES B CRHE) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 47% J— p—
ZIR=ERS =iR% HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 48% J— p—
BREH HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 48% J— p—
=R=%1E =R ESACEE)) JAL JTA 46,800 47% p— p—
RiES R CHEA) JTA JAL 46,800 47% p— p—
FE =/ TREFE R CHH) JAL JAL 24,800 47% p— ——
NS R CHEA) JAL JAL 24,800 47% p— p—
MHE=FMLEE N 5 ESACEL)) JAL JAL 25,600 52% p— p—
B EESR R CHEA) JAL JAL 25,600 52% [ p—
ME=M[EW E=ES R (FIH) JAL JAL 25,600 53% p— ——
FE] LI 5 EGACElED) JAL JAL 25,600 53% p— p—
MHEA=L5 S RFECREA) JAL JAL 27,200 51% p— p—
PNEES RFECREA) JAL JAL 27,200 51% p— p—
ME=LOFH TREFE R (FIH) JAL JAL 29,600 50% p— ——
I=ESE3 E AR JAL JAL 29,600 50% p— p—
MHE=HZE PR RECREA) JAL JAL 25,600 54% p— p—
KB (FF1) JAL JAC 25,600 51% J— p—
HER EGACEED) JAL JAL 25,600 54% p— p—
KB (FF1) JAC JAL 25,600 51% J— p—
MHE=E5 RS RFECREA) JAL JAL 25,600 53% J— p—
mE% EGACELED) JAL JAL 25,600 53% p— p—
HE=5H TREF R (FIH) JAL JAL 27.200 50% p— ——
EinS E ARl JAL JAL 27,200 50% p— p—
HE=&H TREF R (FIH) JAL JAL 27.200 51% p— ——
EEI% EGACElED) JAL JAL 27,200 51% p— p—
FE=f0 HEFE R CHH) JAL JAL 28,300 49% p— ——
KB (71 JAL JAL 28,800 42% J— p—
PAIIE S HERCRH) JAL JAL 28,800 49% p— p—
KB (71 JAL JAL 28,800 42% J— p—
FE=dL M NEES RFCREA) JAL JAL 29,600 52% p— p—
E[®RE: E ARl JAL JAL 29,600 52% [ p—
ME=X5% PR RECREA) JAL JAL 29,600 51% p— p—
KB (71 JAL JAL 29,600 43% J— p—
Ko EGACELED) JAL JAL 29,600 51% p— p—
KB (FF1) JAL JAL 29,600 43% J— p—
MEA=RI& FEF RFECREA) JAL JAL 31,200 51% p— p—
KB (FF1) JAL JAL 31,200 47% J— p—
R RFECREA) JAL JAL 31,200 51% p— p—
KB (FF1) JAL JAL 31,200 47% J— p—
MHA=FEX FEF HRCRHE) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
K% EGACEED) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
MHA=2& PREES RFECREA) JAL JAL 31,200 49% J— p—
KB (71 JAL JAL/JAC 31,200 45% J— p—
EGES RFECREA) JAL JAL 31,200 49% p— p—
KR (F#FH [ JAL/JAC JAL 31,200 45% J— p—
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MH=ERS FEF E AR JAL JAL 32,400 49% p— p—
KB (FF1) JAL JAC 32,400 46% J— p—
BREH EGACElED) JAL JAL 32,400 49% p— p—
KB (71 JAC JAL 32,400 46% J— p—
ME=RE TREFE R CHH) JAL JTA 45,300 46% p— ——
RIS R CHEA) JTA JAL 45,300 46% p— p—
W=k 23 R CHEA) JAL JAL 23,700 41% p— p—
/NS R CHEA) JAL JAL 23,700 41% p— p—
Iz =R 3 R CHEA) JAL JAL 24,800 49% p— p—
R LLI 5 R CHEA) JAL JAL 24,800 49% p— p—
W =1L8 23 EGACELED) JAL JAL 27,100 45% p— p—
NSRS EGACElED) JAL JAL 27,100 45% p— p—
IRz =1LOFE& 23 EGACELED) JAL JAL 28,800 45% p— p—
I=E3E:3 RFCREA) JAL JAL 28,800 45% p— p—
IWfg=HZE %3 R CHEA) JAL JAL 27,100 45% p— p—
KB (71 JAL JAC 27,100 47% J— p—
HER BHERCRH) JAL JAL 27,100 45% p— p—
KB (71 JAC JAL 27,100 47% J— p—
Ik =E5 23 EGACELED) JAL JAL 25,800 46% p— p—
mES EGACELED) JAL JAL 25,800 46% p— p—
IWfz =5 23 EGACELED) JAL JAL 24,800 48% p— p—
EinF EGACELED) JAL JAL 24,800 48% p— p—
Ik =54% Nz EGACELED) JAL JAL 25,600 48% p— p—
EEI% RFECAMA) JAL JAL 25,600 48% p— p—
Wiz =40 %3 R CHEA) JAL JAL 25,600 49% p— p—
KB (FF1) JAL JAL 25,600 48% J— p—
PAIIE S EGACELED) JAL JAL 25,600 49% p— p—
KB (71 JAL JAL 25,600 48% J— p—
Wt =dk E[&BE: R CHEA) JAL JAL 29,600 46% p— p—
Wz =K% %3 R CHEA) JAL JAL 28,800 46% p— p—
KBR (71 JAL JAL 28,800 44% J— p—
Ko R CHEA) JAL JAL 28,800 46% p— p—
KBR (71 JAL JAL 28,800 44% J— p—
WL =Ri& %3 HRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
R RFECREA) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
ILfz=8EX %3 HRCRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
K% HERCRH) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
WL == %3 HRECRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL/JAC 29,600 47% J— p—
EGES RFECREA) JAL JAL 29,600 46% p— p—
KR F#FH | JAL/JAC JAL 29,600 47% J— p—
I =ERE %3 HFRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAC 31,200 47% J— p—
BREH HERCRH) JAL JAL 31,200 45% p— p—
KB (71 JAC JAL 31,200 47% J— p—
Wz=%H18 AiEH R CHEA) JTA JAL 45,300 42% p— p—
E=HE il & 58 KR (FF1) JAL JAC 25,600 49% p— p—
HEH KB F#FD JAC JAL 25,600 49% p— p—
g =#x1l =3 KB F#FD JAL JAL 27,200 43% p— p—
[NIIE KB FR#FH JAL JAL 27,200 43% p— p—
i =X5 il & 58 KR () JAL JAL 28,800 43% p— p—
RoF KB FR#FH JAL JAL 28,800 43% p— p—
s =RI& il & 58 ABR (#F1) JAL JAL 31,200 45% J— p—
RUsS KB F#FD JAL JAL 31,200 45% p— p—
fild =gEX [ KB (FFD JAL JAL 29,600 45% p— p—
REARF pNIACGE=9) JAL JAL 29,600 45% p— p—
e =215 & % KB (FFD JAL | JAL/JAC 31,200 43% p— p—
EGES KR FF [ JAL/JAC JAL 31,200 43% p— p—
he=ERs =3 AR (1) JAL JAC 31,200 46% p— p—
EREH pNIACGE=9) JAC JAL 31,200 46% p— p—
FR=HE P bk KB (FFD JAL JAC 23,200 52% p— p—
HEH pNIACGE=9) JAC JAL 23,200 52% p— p—
FR=1L Pk KB (FFD JAL JAL 25,600 44% p— p—
[NIIE pNIACGE=9) JAL JAL 25,600 44% p— p—
FR=K7 P bk KB (FFD JAL JAL 27,200 44% p— p—
RoF pNIACGE=9) JAL JAL 27,200 44% p— p—
FR=R& P bk KB (FFD JAL JAL 29,600 46% p— p—
RUs5 pNIACGE=)) JAL JAL 29,600 46% p— p—
FR=EEX P bk KB (FFD JAL JAL 28,800 45% p— p—
REARF pNIACGE=)) JAL JAL 28,800 45% p— p—
FR=E& P bk KB (FFD JAL | JAL/JAC 28,800 45% p— p—
EGES KR FF [ JAL/JAC JAL 28,800 45% p— p—
FR=ERE B KB (FFD JAL JAC 29,600 47% p— p—
EREH KB F#F1) JAC JAL 29,600 47% p— p—
AN AT INEAFE ESACE)) JAL JAL 24,200 53% p— p—
B LLI & R CHEA) JAL JAL 24,200 53% p— p—
INAR=IRE INEAFE EGACEE)) JAL JAL 24,800 53% p— p—
NEES EGACElED) JAL JAL 24,800 53% p— p—
IMA=ILOFE /NS EGACELED) JAL JAL 27,800 51% p— p—
I=E3E:3 RFECREA) JAL JAL 27,800 51% p— p—
IME=HZE INHAFE RFCREA) JAL JAL 25,200 53% p— p—
HE EGACElED) JAL JAL 25,200 53% p— p—
IMA=EB INHAFE RFCREA) JAL JAL 26,400 49% J— p—
mES EGACElED) JAL JAL 26,400 49% p— p—
IMA=BR INAFE R CHH) JAL JAL 23,700 54% p— ——
B RERECRH) JAL JAL 23,700 54% p— p—
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INA=F INDFE EGACELED) JAL JAL 25,400 52% f— p—

EEI% EGACElED) JAL JAL 25,400 52% p— p—

IMR=HR1L INEAFE R CHH) JAL JAL 25,600 52% p— p—

[NIE:3 R CHEA) JAL JAL 25,600 52% p— p—

IMA=dE RN IMRFE EGACElED) JAL JAL 29,500 50% [— p—

E[&RE: EGACElED) JAL JAL 29,500 50% [— p—

INR=K5 INDFE EGACELED) JAL JAL 28,600 50% p— p—

RoF EGACElED) JAL JAL 28,600 50% p— p—

IMr=RIG IMRFE EGACElED) JAL JAL 31,200 49% [— p—

RIs5 EGACElED) JAL JAL 31,200 49% p— p—

IMR=EER INEAFE R CHH) JAL JAL 29,500 50% p— p—

RER % RFECREA) JAL JAL 29,500 50% p— p—

INR=TE I INDFE EGACELED) JAL JAL 29,500 50% p— p—

EGES EGACElED) JAL JAL 29,500 50% p— p—

IME=ERE INHAFE RFECREA) JAL JAL 31,200 49% J— p—

EEIR B % E A CELED) JAL JAL 31,200 49% p— p—

MEA=EH MR FE SPEE GRER) JTA__| JTA/RAC 36,000 38% p— p—

B hEEGRE) [ JTA/RAC|  JTA 36,000 38% p— p—

IMA=T1E INEAFE =R CHH) JAL JTA 36,300 55% p— p—

P8 (ARER) JTA | JTA/RAC 36,300 43% p— p—

AIER RER CRH) JTA JAL 36,300 55% p— p—

42 (FBE) [ JTA/RAC JTA 36,300 43% j— p—

==& FEINES S (ARER) JTA | JTA/RAC 34,400 33% J— p—

B SPHE(RE) [ JTA/RAC]  JTA 34,400 33% p— p—

fl=R1E B LLI ¢ 8 (ARER) JTA | JTA/RAC 37,000 35% [ p—

HIEH hE2 (FRE) [ JTA/RAC JTA 37,000 35% j— p—

BH=E& EEI% 1= JAL/JAC | JAL/JAC 26,300 39% J— p—

EGES 1=k JAL/JAC | JAL/JAC 26,300 39% p— p—

BEXE=5H EEAEH ok BER JAC JAC 18,700 30% J— p—

55R% K BED JAC JAC 18,700 30% — —

BEBEXE=MHKRE EEXEHR iR JAC JAC 16,000 46% J— p—

ok BERSE 55k JAC JAC 16,000 46% p— p—

iR (R =FH hiE (IRER) HECHE) [ JAL/JTA JAL 37,200 48% p— p—

EHRR EGACElED) JAL JAL/JTA 37,200 48% p— p—

B () ==iR i (IRER) 3 HRCHE) [ JAL/JTA JAL 37,200 47% p— p—

=; EGACElED) JAL JAL/JTA 37,200 47% p— p—

8 (BRER) = E i (IRER) 3 HRERCHE) [ JAL/JTA JAL 36,000 45% p— p—

=S RFECREA) JAL JAL/JTA 36,000 45% p— p—

8 (BRER) =1L i (IRER) HRERCHE) [ JAL/JTA JAL 36,000 39% p— p—

I3 RERECRH) JAL JAL/JTA 36,000 39% p— p—

hiE (BRER) =1L&E i (IRER) El JTA JAL 38,900 45% p— p—

=3 1=k JAL JTA 38,900 45% p— p—

iR (IRER) =/ i (IRER) 3 HRERCHE) [ JAL/JTA JAL 34,900 44% p— p—

IMRFE RERECRH) JAL JAL/JTA 34,900 44% p— p—

iR (B =55 B (AER) ¥ tahE JTA | JAL/JAC 25,200 51% J— p—

SENF 1= JAL/JAC JTA 25,200 51% = p—

B (ARER) =#Al B (AER) F = JTA JAC 23,500 51% J— p—

[NITE:3 & JAC JTA 23,500 51% p— p—

BAR(PH) =FXXE | ERPHR BRE JAL JAC 41,700 33% p— p—

KBg ({FF1) JAL JAL 41,700 29% = p—

TEERER BRE JAC JAL 41,700 33% p— p—

KBg ({FF1) JAL JAL 41,700 29% = p—

RRCPE)=ERE | RREBEH BEES JAL JAC 41,800 34% J— f—

BEXE JAL JAC 41,800 25% p— p—

ERER BRE JAC JAL 41,800 34% p— p—

TBEXE JAC JAL 41,800 25% p— p—

RRECPA) =25 | RR(CHE# BEES JAL JAC 42,800 35% J— p—

TBEXE JAL JAC 43,600 27% p— p—

[T BERES JAC JAL 42,800 35% p— p—

BEXE JAC JAL 43,600 27% p— p—

RECPA) =k B | HRECHA)H% BEES JAL JAC 44,600 35% J— p—

ihok BARSE BERES JAC JAL 44,600 35% J— p—

BEXS JAC JAL 44,600 29% p— p—

R (PA) =5k BR CPIE) % BEES JAL JAC 45,000 36% J— p—

Eim% BEES JAC JAL 45,000 36% — —

BEEAS JAC JAL 44,900 32% p— p—

KR (D =EEXS | KRUFD H BEES JAC JAC 36,000 28% J— p—

BEEXEH BRE JAC JAC 36,000 28% p— p—

KR(BEFH =ERE | KRUEFDHR BES JAC JAC 37,100 27% J— p—

TBEXE JAL JAC 37,100 19% p— p—

ERER BRE JAC JAC 37,100 27% p— p—

TBEXE JAC JAL 37,100 19% p— p—

KRR =25 KB (FFFH 5 BRE JAC JAC 38,100 29% p— p—

TBEXE JAL JAC 39,000 21% p— p—

w2EH BRE JAC JAC 38,100 29% p— p—

TBEXE JAC JAL 39,000 21% p— p—

KR (FRFH =4k BEB | KBR (RFD % BRE JAC JAC 39,600 30% p— p—

ok BERSE BRE JAC JAC 39,600 30% p— p—

KB (FH) =5k KB (R 5 ERS JAC JAC 39,900 31% [— p—

5% BEES JAC JAC 39,900 31% — —

EE="EXXES e 58 BERES JAC JAC 29,300 30% J— p—

TEEXEHR BRE JAC JAC 29,300 30% p— p—

EE=E85 FES ERE JAC JAC 30,600 29% p— p—

TBERE JAC JAC 30,600 26% p— p—

ERER BRE JAC JAC 30,600 29% p— p—

TBERE JAC JAC 30,600 26% p— p—

EE=fz5 FEEES BRES JAC JAC 30,700 32% J— p—

TBERE JAC JAC 30,700 32% p— p—

[EPA=E BRE JAC JAC 30,700 32% p— p—

TBEXE JAC JAC 30,700 32% p— p—
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taRE =ihk RED e 5 BES JAC JAC 32,200 33% [ p—
ok BERSE BRE JAC JAC 32,200 33% p— p—
EBm=5% e BEREE JAC JAC 32,600 34% -— —
5% BEES JAC JAC 32,600 34% — —
RRCHHE) =51 RHECHE)F AiE JTA | JTA/RAC 41,100 42% p— p—
EEHEES P8 (ARER) RAC [ JAL/JTA 41,100 43% p— p—
AiE JTA/RAC JTA 41,100 42% j— p—
KR (FFH) =5 3= SREF P8 (ARER) RAC JAL 37,600 43% p— p—
Kz (B#8) =53 E PNUAGEEDES AiE JTA | JTA/RAC 37,600 38% [— p—
EX R B () RAC JAL/JTA 37,600 43% p— p—
AiE JTA/RAC JTA 37,600 38% j— p—
£5E (FE) =5E SMEFE B (ARER) RAC JTA 38,600 45% J— p—
12k =5 I E SMEF 8 (ARER) RAC JTA 34,600 42% J— p—
iR (RE) = 51E s (AER) & ais JTA/RAC | JTA/RAC 18,950 46% J— p—
SMEF ais JTA/RAC | JTA/RAC 18,950 46% J— p—
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